KAMA////MCM

KAMA////MCM

KoMcoMOnNbCKWMM MPOCMEKT, 98
[MEPMBb, POCCKA, 614010
T/®: +7 (342) 241-19-51 CNC TOOL SYSTEMS 1

241 = 1 ? = 34 BT MILLING CHUCK

ARBORS

ZY—10004 ZY—10006

m3
CAT MILLING CHUCK
ARBORS

m2
DIN69871 MILLING CHUCK
ARBORS

ZY—10008
INFO@KAMA-MSM.PERM.RU

KAMA-MSM.RU

m4 mb mb 7
BT MORSE TAPER(WITH TANG) DIN MORSE TAPER WITH TANG CAT MORSE TAPER WITH TANG MORSE TAPER(WITH DRAWBAR)
J J

J
ZY—10016 ZY—10018 ZY—10020 ZY—10022

|\

m8 m9 mi10 m1
DIN MORSE  TAPER(WITH CAT  MORSE  TAPER(WITH BT DRILL CHUCK ARBORS DIN DRILL CHUCK ARBORS
\_DRAWBAR) /) \_DRAWBAR) J L /L J

ZY—10024 ZY—10026 ZY—10028 ZY—10030

n

mi2 mi3 ml4 mi5
SELF—FASTEN DRILL CHUCK BT /FMA SHELL MILL ARBORS BT /FMB SHELL MILL ARBORS
CAT DRILL CHUCK ARBORS
/L NG J J

ZY—10038

18
m16 mi7 ml7 "
DING9871/FMB SHELL MILL BT COMBI SHELL END MILL DIN COMBI SHELL END MILL ANGULAR MOUNTING SQUARE
ARBORS ARBORS ARBORS BITE BORING ARBORS

ZY—10040 ZY—10046 ZY—10048

mi9 m19~20
STRAIGHT MOUNTING SQUARE m21 DIN END MILL W22 CAT END MILL

BITE BORING ARBORS BT END MILL ADAPTERS ADAPTERS

ADAPTERS



user
Штамп

user
Штамп


KAMA////MCM KAMA////MCM

ZY—10050, 10052

a3

m23 m24 25 m26 m27

BT/SK(DIN69871A)
BT MILLING CHUCK
ARBORS THREAD LOCKING TYPE CHUCK GSK HIGH SPEED COLLET CHUCK

Mﬁ

m44 m45 m46 m46
ELASTIC EXPANSION TAPPING THE HANDLE MILLING CHUCK SET QUICK ACTION MILLING CHUCK SHARPENER COLLETS DIN6341 DIN6341
COLLETS

ZY—100524 526 ZY—10054, 10056 ZY—10058 ZY—10060 ZY—20038 ZY—20040 ZY—-20044

m48 m49

KEYLESS DRILL CHUCK KEYLESS DRILL CHUCK
WITH TAPER MOUNTED WITH THREAD MOUNTED

m27 W28 Jis B6339-1986 m28

ISO30, COLUMBUS RETENTION KNOB DIN69872—1988 RETENTION
NOB

m29
ANS| /ASME B5.50—1985
RETENTION KNOB

m47 m47
DIN6343 CLAMPING COLLETS TAPER COLLETS

Z2Y—20048

ZY—10062, 10064 ZY—20002 ZY—2000210

COLLET SERIES

m29
ISO/DIS7388 /2—1984B
\RETENTION KNOB

m32 m33 m50 mb51 mb1 m52
DIN6499B ER COLLETS CSK HIGH SPEED DOLLET J45 TAPPING CHUCK TCS TAPPING TORSION TAPPING COLLET TAPPING COLLET ADAPTER TORSION CLAMP CONNECTOR

J J
ZY—-20010 ZY—-20052 20054 ZY—20058 ZY—20060
CX'e) ii i [ .
’ — mb2

N

|\
IK
N

ZY—2000212_ 214. 216

ZY—20004, 20006

ZY—20008

m34 m35 .E3€'5\‘UT m37 MORSE TAPER TAPPING SLEEVES m53 m53 mb54
GSK_ HIGH SPEED NUT WITHOUT R
ERG TAPPING COLLET ER SPANNER R8 COLLETS R8 COLLETS DRAW BAR KEY TYPE DRILL CHUCK
\ KEYWAY J AN J NG J AN J J

ZY—-20010 ZY—-20010

ZY—-20012

IK
N

ZY—20014 ZY—200601 ZY—-30002 ZY—30004

\
MILLING ARBOR SERIES ~
m39

4

m37 m37 m38 C/ER Straight shank collet mS W55 md5

ER SPANNER ER SPANNER ER MILLING CHUCK SET chuck and extension type 7.24 COLLET SERIES 7.24 TO MT ADAPTER(OPENING) 7:24 TO MT ADAPTER(DRAW BAR)
J J J J . J . J

ZY—-20018 ZY—30006 ZY—30008

m40 m41 m41 m41 m56 m56 m10 m58

C/ER Straight shank collet
chuck and extension type DING38BA EOC COLLETS DING3888 EOC COLLETS 868116 EOC COLLETS 7.24 TO MT ADAPTER(WITH TANG) 7.24 TO R8 ADAPTER 7.24 DRILL CHUCK ARBORS END MILL ADAPTERS

ZY—20021, 20022 ZY—20028

m42 m42 m43 m44 mb58
EOC,/0Z8, EOC,/0Z CLAMPING NUT EOC,/0Z SPANNER EOC/0Z MILLING CHUCK SET JM71 STRAIGHT SHANK COLLETS END MILL ADAPTERS

mb58
END MILL ADAPTERS

m58 mb59
END MILL ADAPTERS SHELL END MILL ARBORS



user
Штамп

user
Штамп


KAMA////MCM

mb59
SHELL END MILL ARBORS

m59
SHELL END MILL ARBORS

mb59
SHELL END MILL ARBORS

m60
COMBI SHELL END MILL ARBORS

m60
COMBI SHELL END MILL ARBORS

ZY—30018

m60
ATTACHMENT OF COMBI SHELL
END MILL ARBORS

ZY—30018

m60
ATTACHMENT OF COMBI SHELL
END MILL ARBORS

J

mb1
R8 TO MS SLEEVES

J

m61
MORSE TAPER SLEEVES

J

ZY—-30026

563
RENGTH—DRIVEN SLEEVES
. J

ZY—30028

53
RSE TAPER SLEEVES
(DRAWBAR TYPE)

N

J

ZY—30030

]
DIN2187 EXTENSION SOCKET WITH

MS . HOLE
- J

ZY—30034

STRAIGHT SHANK DRILL CHUCK
ARBORS

- J

MORSE TAPER DRILL CHUCK
ARBORS WITH DRAW BAR

N

ZY—30036

N

ZY—30038

MORSE TAPER DRILL CHUCK
ARBORS WITH TANG

- J

m68
MORSE DRILL CHUCK ARBORS

ZY—30044

m69
SCREW FOR SHELL END MILL
ARBORS

ZY—30046

m69

STRAIGHT SHANK MILLING
MACHINE ARBORS

m/1

DIN SHELL MILL
ARBORS

m7/1
RS TAPER SLEEVES

m72
7.24 TAPER SLEEVES

m60
COMBI SHELL END MILL ARBORS

ZY—30018

m60
ATTACHMENT OF COMBI SHELL
END MILL ARBORS

m62
273 MORSE TAPER SLEEVES

J

ZY—30032

|}
R8 DRILL CHUCK ARBORS
& J

ZY—30040

u
MORSE DRILL CHUCK ARBORS
- J

ZY—30048

m7/0
BT SHELL MILL ARBORS

m73

HSK (A) ER COLLET
CHUCK

ZY—30058

m/4
HSK END MILL HOLDER

KAMA////MCM

ZY—30060

m76

HSK (A) COMBI—SHELL END
MILL HOLDER

m75
HSK (A) SHELL END
MILL HOLDER

CENTER SERIES

ZY—40008

&79
RBIDE CENTER

m’7

HSK (A) MORSE TAPER
ADAPTER

ZY—40002 ZY—40004

m/8

78
BEAS centen HALF—NOTCHED CENTER

ZY—40006

m79
CARBIDE HALF—NOTCHED CENTER

ZY—40010

ZY—40012

m80 m80
M11 PRECISION LIVE PRECISION LIGHT—DUTY LIVE CENTER

ENTER L J

ZY—-40016

m81
CARBIDE MEDIUM—DUTY LIVE CENTER

J

ZY—40014

m81
MEDIUM—DUTY LIVE CENTER

ZY—40018 ZY—40020

m82

HIGH—SPEED MEDIUM—-DUTY
MULTI-PURPOSE LIVE CENTER

m82
Q/IEDIUM—DUTY LIVE CENTER(EXTENDED)

INDEX FIXTURE SERIES

ZY—-50008

m85
PF100B,/5C HORIZONTAL VERTICAL

COLLET INDEX

|\

ZY—40022

m83
PRECISION HEAVY LIVE CENTER

N

J

ZY-50004

ZY-50002

m84 m84 m85
5C COLLET BLOCK SET 5C FIXTURE PF70,/5C SPIN INDEX
\ /L J

ZY-50006

N

BORING HEADS SERIES

m86
F12
SEMI—UNIVERSAL DIVIDING HEAD

Z2Y—60004

m87
TYPE F1 BORING HEADS

ZY—60006 ZY—60006

m89 m89
F1 BORING SHANK F1 BORING SHANK

ZY—60002

m87
TYPE F1 BORING HEADS

ZY—60008

m89
F1 BORING SHANK



user
Штамп

user
Штамп


KAMA////MCM CNC TOOL SYSTEMS KAMA////MCM

ZY—70004 ZY—-70006

ZY—10002 BT $#E##=$t33L 74 MILLING CHUCK ARBORS

PRECISION VISE SERIES

m90
QGG PRECISION TOOL
VISES

m90 m91

VISES
I3
D]:[[ o

L

ZY—70008

— L

mo2 w92 m93 m94 s

ZXQGG PRECISION SINE TOOL VISE ZXAKG PRECISION SINE TooL CCFSJS'S%%‘L)D&Q; VISES PRECISION MODULAR VISES

VISE mm

ZY—80002 ZY—80004 IS Model No. D D1 IS Model No. D D1
BT X ER—L1 BT X ER—L1

BT30 X ER16—70 28 31.75 BT45 X ER25—70 42 57.15
PARALLEL BLOCK SERIES BT30 X ER20—70 34 31.75 BT45 X ER25—100 42 57.15
m3d m96 m96 BT30 X ER25—70 42 31.75 BT45 X ER32—70 50 57.15
VISES WITH SWIVEL BASE ) ook | CIONFARRHEL )| Goak N PARALEE ) BT30 X ER32—70 50 31.75 BT45 x ER32—100 50 57.15
BT30 X ER40—80 63 31.75 BT45 X ER32—120 50 57.15
ZY—80006 ZY—80012 BT40 X ER16—70 28 44 .45 BT45 x ER40—80 63 57.15
BT40 X ER20—70 34 4445 BT45 X ER40—100 63 57.15
BT40 X ER20—100 34 44.45 BT45 X ER40—120 63 57.15
w96 . . o7 BT40 X ER20—150 34 44 .45 BT50 X ER16—70 28 69.85
PB151 i - 155 BT40 X ER25—60 42 4445 BT50 X ER16—90 28 69.85
PRECISION PARALLEL BLOCK  / \ PRECISION PARALLEL BLOCK J \_PRECISION PARALLEL BLOCK ), PRECISION PARALLEL BLOCK J BT40 X ER25—70 42 44 45 BT50 X ER20—70 34 69.85
BT40 X ER25—90 42 44 .45 BT50 X ER20—90 34 69.85
BT40 X ER25—100 42 4445 BT50 X ER20—150 34 69.85
. BT40 X ER25—150 42 44.45 BT50 X ER25—70 42 69.85
EDGE FINDER SERIES = OTHER ACCESSORY SERIES BT40 X ER32—70 50 44 .45 BT50 X ER32—70 50 69.85
m98 m98 BT40 X ER32—100 50 4445 BT50 X ER32—80 50 69.85
ELECTRONIC EDGE FINDER MECHANICAL EDGE FINDER BT40 X ER32—1 50 50 44 . 45 BT50 X ER32—100 50 69 . 85
\ N ~ BT40 x ER40—70 63 44.45 BT50 x ER32—120 50 69.85
2Y—100002 7\ —100004 7Y—100006 7Y—100008 BT40 X ER40—80 63 4445 BT50 X ER40—80 63 69.85
BT40 X ER40—150 63 44.45 BT50 X ER40—100 63 69.85
BT40 X ER50—100 78 44 .45 BT50 X ER40—120 63 69.85
BT45 X ER16—70 28 57.15 BT50 X ER50—90 78 69.85
w99 o1z ors: mos e w100 vemear BT45 x ER20—70 34 57.15 BT50 x ER50—120 78 69.85

SHANK PULLER

HALF AUTOMATIC MORSE SHANK
PULLER

HOLDER DEVICE

1. {TMEHEERR TIAREARAER . N5 Ok SiE =2 MEHK QA 714k, 1EFREAAD/BE!, IIBT40AD,/BXER32-70,

2. IRFFETRUETEIM, tOEFRERG6.3/12000pm, HEEHEEAG2.5,/20000rpm, TR IEIERAEMAHEE.

1. When order please indicate the hilt the concrete form. If needs in the center cold and the flange water leakage
hilt, please mark AD/B.

2. According to needs to be possible to provide the balanced hilt, the standard precision is G6.3,/12000rpm, the precise
precision is G2.5,/20000rpm.


user
Штамп

user
Штамп


KAMA////IMCM KAMA////IMCM

ZY—10004 DING9871 #E#3=5td3LJ]J# MILLING CHUCK ARBORS ZY—10006 CAT #E#i=pt3L 748 MILLING CHUCK ARBORS

DING9871 CAT

Tl—m; =

[X]

L[

L L

L1

mm

mm
AIE Model No. IS Model No. = =
DING3871. AXER—L1 D b DING3871. AXER—L1 D b o= Model flo. D D S Modal Mo. D Dr
DIN69871. A30 X ER11—80 19 31.75 DINB9871 . A40 X ER40—80 63 44 .45 CAT40xERT6—63 28 12 45 CAT40 X ER50-80 8 12 45
DIN69871 . A30 X ER16—63 28 31.75 DIN69871 . A40 X ER40—100 63 44 45 CAT40 X ER16—70 28 4445 CATA0 X ERBO—100 28 4445
DIN69871 . A30 X ER20—63 34 31.75 DIN69871 . A40 X ER40—150 63 44 45 CAT40 % ER16—100 28 44 45 CAT50 X ER16—70 28 69 85
DIN69871. A30 X ER25—63 42 31.75 DIN69871 . A40 X ER50—100 78 44 45 CAT40 X ER16—150 28 44 .45 CAT50 X ER16—90 28 69.85
DIN69871 . A40 X ER11—80 19 44 .45 DIN69871 . A50 X ER16—70 28 69.85 CAT40 X ER20—70 34 44 .45 CAT50 X ER16—100 28 69.85
DIN69871 . A40 X ER16—63 28 44 45 DIN69871 . A50 X ER16—100 28 69.85 CAT40 X ER20—90 34 44 .45 CAT50 X ER20—70 34 69.85
DIN69871 . A40 X ER16—70 28 44 .45 DIN69871 . A50 X ER20—70 34 69.85 CAT40 X ER20—100 34 44.45 CAT50 X ER20—90 34 69.85
DING69871 . A40 X ER16—100 28 4445 DIN69871 . A5O X ER20—100 34 69.85 CAT40 X ER20-150 34 44.45 CATS50 X ER20-100 34 69.85
DIN69871 . A40 X ER20—70 34 44 .45 DIN69871 . A50 X ER25—70 42 69.85 CAT40 X ER25-70 42 44.45 CATS0 X ER20-150 34 69.85
DIN69871 . A40 X ER20—100 34 44 .45 DIN69871 . A50 X ER25—100 42 69.85 CAT40x ER25-90 4z 44.45 CATS0XER25-70 42 69.85
CAT40 X ER25—100 42 44 .45 CAT50 X ER25—100 42 69.85
DIN69871 . A40 X ER25—60 42 44 .45 DIN69871 . A50 X ER25—150 42 69.85 CAT40 X ERZ5—150 2 12 45 CATS0 X ERZ5—150 2 69 85
DIN69871 . A40 X ER25—70 42 44 .45 DIN69871 . A5O X ER32—80 50 69.85 CAT40 % ER32—70 50 44 45 CAT50 x ER32—70 50 69 85
DIN69871 . A40 X ER25—100 42 44 .45 DIN69871 . A50 X ER32—100 50 69.85 CAT40 % ER32—100 50 44 45 CAT50 % ER32—80 50 69.85
DIN69871 . A40 X ER25—150 42 44 .45 DIN69871 . A50 X ER40—80 63 69.85 CAT40 X ER32—150 50 44 .45 CAT50 X ER32—100 50 69.85
DIN69871 . A40 X ER32—70 50 44 .45 DIN69871 . A50 X ER40—120 63 69.85 CAT40 X ER40—70 63 44 .45 CAT50 X ER40—80 63 69.85
DIN69871 . A40 X ER32—80 50 44 45 DIN69871 . A50 X ER50—90 78 69.85 CAT40 x ER40—80 63 44 .45 CAT50 X ER40—100 63 69.85
DIN69871 . A40 X ER32—100 50 44 .45 DIN69871 . A50 X ER50—100 78 69.85 CAT40 X ER40—100 63 44.45 CAT50 X ER50—90 8 69.85
DIN69871 . A40 X ER32—150 50 44 45 DIN69871 . A50 X ER50—150 78 69.85 GBI Rl o) = il SR ERSUSIEY 7 b
1. ITHRHE LR TAREUAR AR, IET ok 5k EME KOS AR TR, 1SFRIPAD,/BEI, #1IDINGI871.40AD/BXER32—70, RIEFE RSN FE N, FRAEREEHG6.3/12000rpm, 1HEHEE AG2.5,/20000rpm, (TR IEFIAREIEE .
2. RIEEEMIRETEE M, REFREHG6.3/12000rpm, $EEZFEEHG2.5,/20000rpm, (TR S FHEFEE . According to needs to be possible to provide the balanced hilt, the standard precision is G6.3,/12000rpm, the precise
1. When order please indicate the hilt the concrete form. If needs in the center cold and the flange water leakage precision is G2.5,/20000rpm,

hilt, please mark AD/B.
2. According to needs to be possible to provide the balanced hilt, the standard precision is G6.3,/12000rpm, the precise
precision is G2.5,/20000rpm.

2 3


user
Штамп

user
Штамп


KAMA////IMCM KAMA////IMCM

ZY—10008 BT 4#IzERKT/ZE (BEH) MORSE TAPER(WITH TANG) ZY—10010 DIN {#iFERKT2E (BER) MORSE TAPER WITH TANG
MAS, BT
D
T e
A ] .
T
L1 =
L
mm
#US Model No.
1 = :
BT XMT.NO. —Lt L D D EE Wi(kg) :
BT30 X MTA1—45 93.4 25 31.75 0.55
BT30 X MTA2—60 108.4 32 31.75 0.90
BT30 X MTA3-80 128.4 40 31.75 0.90
BT40 X MTA1—45 110.4 25 44 45 1.20 mm
BT40 X MTA2-50 115.4 32 44 45 1.55 #UZ Model No. L D D1 = Wik
BT40 X MTA2—60 125.4 32 44.45 1.65 DIN69871.A X MT .NO . —L1 EE Wi(kg)
BT40XMTA3—-70 135.4 40 44.45 1.80 DINB9871.A30 X MTA1-50 97.8 25 31.75 0.55
BT40 X MTA3-75 140.4 40 .45 1.90 DING9871. A30 X MTA2—60 107.8 32 31.75 0.80
BT40 X MTA4—-390 155.4 48 44 45 2.30
X DIN69871 . A30 X MTA3—-75 122.8 40 31.75 0.85
BT40 X MTA4—-95 160.4 48 44 45 2.40
DING69871 . A40 X MTA1—45 113.4 25 44 45 1.20
BT40 X MTA4—135 200.4 48 44 45 2.65
BT45 X MTA1—120 2028 25 57 15 1.90 DIN69871 . A40 X MTA1-50 118.4 25 44 45 1.30
BT45 x MTA2—120 202 8 32 57 15 2 30 DIN69871 . A40 X MTA2-50 118.4 32 44 45 1.50
BT45 X MTA3—120 202.8 40 57.15 2.40 DING69871 . A40 X MTA2—60 128.4 32 44 45 1.56
BT45 X MTA4—98 180.8 48 57.15 2.40 DIN69871 . A40 X MTA3-75 143.4 40 44 45 1.80
BT50 X MTA1—45 146.8 25 69.85 4.10 DIN69871 . A40 Xx MTA4—95 163.4 48 44 45 2.40
BT50 X MTA2-50 151.8 32 69.85 4.00 DIN69871 . A50 X MTA1—45 146.75 25 69.85 4.05
BT50 X MTA2—60 161.8 32 69.85 4.20 DIN69871. A50 X MTA2—60 161.75 32 69.85 4.40
BTS0XMTA2-120 221.8 32 69.85 4.30 DIN69871. A50 X MTA3—65 166.75 40 69.85 4.50
LR St 166.8 40 89.85 4.20 DING9871. ABO X MTA4—95 196.75 48 69.85 4.90
BT TA3—7 76 4 6 4
SOXMIAISR 79E 0 DS e DIN69871 . A50 X MTA5—100 201.75 61 69.85 5.10
BT50 X MTA3—-120 221.8 40 69.85 4.40
DIN69871 . A50 X MTA5—105 206.75 61 69.85 5.15
BT50 X MTA3—150 251.8 40 69.85 4.68
BT50 X MTA4—-95 196.8 48 69.85 5.00 . N = 3 88 Az L e
T 206 8 53 59 85 — 1. JTHEHEERTIMEARER R, g Ok S5 =RNEHKAZIA 1M, 15FREFAD,/BE!, MDINGI871.40AD,/BXMT3-75,
: : : 2. RIBEETIRENTE M, tRAEREERG6.3/12000rpm, HEEHFE 4G2.5,/20000rpm, THIRHEEAEMAEE .
1. ITMRHE ER TIMRERRER R, INEAROIKSEZEMEHSEIR TIHE, i58RAFAD /BEY, #NBT40AD /BXMTA3—75, 1. When order please indicate the hilt the concrete form. If needs in the center cold and the flange water leakage hilt,
2. IRBEEEFMREITE I, FERSEAG6.3/12000rpm, HEEHEE #HG2.5,/20000rpm, (TR ERABRIEE ., please mark AD/B.
1. When order please indicate the hilt the concrete form. If needs in the center cold and the flange water leakage 2. According to needs to be possible to provide the balanced hilt, the standard precision is G6.3,/12000rpm, the
hilt, please mark AD/B. precise precision is G2.5,/20000rpm.

2. According to needs to be possible to provide the balanced hilt, the standard precision is G6.3,/12000rpm,
the precise precision is G2.5,/20000rpm.

4 b


user
Штамп

user
Штамп


KAMA////MCM

ZY-10012 CAT #HIERREZE(RER)

MORSE TAPER WITH TANG

D1

@ MS. NO
il
L1
L
mm
n

8 ot L : o | mn e
CAT40 X MTA1—-45 113.25 25 44 45 1.30
CAT40 X MTA2—-63 131.25 32 44 45 1.70
CAT40 X MTA3-75 143.25 40 44 45 2.00
CAT40 X MTA4—100 168.25 48 44 45 2.50
CAT45 X MTA1-40 122.55 25 57.15 2.70
CAT45 X MTA2-50 132.55 32 57.15 3.80
CAT45 X MTA3-73 155.55 40 57.15 4.20
CAT45 X MTA4—-95 177.55 48 57.15 4.60
CAT45 X MTAS5—125 207.55 61 57.15 5.50
CAT50 x MTA1-40 141.6 25 69.85 4.00
CAT50 x MTA2-50 151.6 32 69.85 4.00
CAT50 X MTA2—135 236.6 32 69.85 5.00
CAT50 X MTA3—63 164.6 40 69.85 4.50
CAT50 X MTA3—-150 251.6 40 69.85 5.50
CAT50 X MTA4—-85 186.6 48 69.85 4.80
CAT50 X MTA5—105 206.6 61 69.85 5.20

RIEFZA RN TE MW, FREREHG6.3/12000rpm, FFEHFEEHG2.5,/20000rpm, JTHREEMEE.

According to needs to be possible to provide the balanced hilt, the standard precision is G6.3,/12000rpm, the precise

precision is G2.5,/20000rpm.

6

ZY-10014 Hi=SKREEZE (GHE)

KAMA////MCM

MORSE TAPER(WITH DRAWBAR)

b

77|

77 L
P
I”,,,-,; a4

=

2

A2 Model No. . b D1 TEE

BT X MT.NO.—L1 Figure
BT40 X MTB1—45 110.4 25 1
BT40 X MTB2—60 125.4 32 1
BT40 X MTB3—75 140 .4 40 2
BT40 X MTB3—90 155 .4 40 4.4 2
BT40 X MTB4—95 1604 48 3
BT40 x MTB4—100 165.4 48 2
BT50 X MTB1—45 146.8 25 1
BT50 X MTB2—45 1468 32 1
BT50 X MTB2—60 161.8 32 1
BT50 X MTB3—60 161.8 40 1
BT50 X MTB3—75 176.8 40 69.85 1
BT50 X MTB4—80 181.8 48 3
BT50 X MTB4—100 201.8 48 2
BT50 X MTB5—100 201.8 63 3
BT50 X MTB5—120 221.8 63 2

~s

Note .

B WON-= O OWODN—

TRENFTRR TIRE R B R R NS FRRET
TR E2RTRR TR E A R TR A ERLET, TR N F R STIR T/
TEESF TR IR R E RIS, TR INER$TEER

TTERHEERA TR, ROk SiE=EMERKSEIRITINE, BHRAAD/BEY, HIBT40AD/BXMTB3-75,
RIEFERMB T IM, SRR G6.3/12000mm, FEEHERHG2.5,/20000rmm, {THRTIEERAEMAHEE.

See figure 1,when the arbor being used, it is necessary to fix inner hex screw.

See figure 2,when the arbor bein used, it is necessary to fix standard knob, please note when order it.
See figure 3,when the arbor being used, it is necessary to fix extension knob,please onte when order it,
When order please indicate the hilt the concrete form. If needs in the center cold and the flange water leakage

hilt, please mark AD/B.

According to needs to be possible to provide the balanced hilt, the standard precision is G6.3,/12000rpm, the

precise precision is G2.5,/20000rpm.

4


user
Штамп

user
Штамп


KAMA////MCM KAMA////IMCM

ZY—10016 DIN 4E#inE K I5/2% (J54:8) MORSE TAPER(WITH DRAWBAR) ZY—10018 CAT {EEIFERKT/2E (JSHi%) MORSE TAPER(WITH DRAWBAR)

DINGSB71

=)

A2 Model No. L b D1 TEHE
DING69871, AXMT .NO . —L1 Figure B
DIN69871 . A40OXMTB1—45 113.4 25 1
DIN69871 . A40XMTB2—-60 128.4 32 1 )
DIN69871 . A40XMTB3—-70 138.4 40 3
DIN69871 . A40XMTB3—-80 148 .4 40 44 45 2 mm
DIN69871 . A40XMTB3—100 168.4 40 2 e —
L Model No e
? - 1N
DIN69871 . A40OXMTB4—90 158.4 48 3 CAT XMT.NO . —L1 L D D1 Figure
DIN69871 . A40XMTB4—100 168.4 48 2 CAT40 X MTB1—45 13.25 25 :
DIN69871 . ASOXMTB1—45 146.8 25 1 CAT40 X MTB2—60 128,25 32 1
DIN69871 . AS0XMTB2—45 146.8 32 1 CAT40 X MTB3—75 14325 40 5
— 44 .45
DIN69871 . A5S0XMTB3—-60 161.8 40 1 CAT40 x MTB3—90 158,25 40 5
DIN69871 . A50XMTB3—-80 181.8 40 1 CAT40 x MTB4—100 168.25 48 2
DIN69871 . A50XMTB4—80 181.8 48 69.85 3 CAT50 x MTB2—60 161.6 31 75 1
DIN69871 . AS0XMTB4—90 191.8 48 2 CAT50 x MTB3—60 161.6 41 28 55 85 :
DIN69871 . AS0XMTB4—120 221.8 48 2 CAT50 x MTB4—90 191.6 50 8 5
DIN69871 . AS0XMTB5—100 201.8 61 3 CAT50 x MTB5—100 201.6 6985 3
DIN69871 . AS0XMTB5—120 221.8 61 2
E: 1. TEENVETURH ARG R R RR A REET E: 1. REREETHIAERNERREA SRR
2. TEEFTTRITIR{E R BRI ST, 1T ST 2. BB R TIARE B B R A ST, TR R TR
3. REERHTRHTIMAERNEREIMMCHET, (TR ISR ETIEEHN 3. FEERH RN AR E A A E R KT, ST E 4TS
4. JTHRHEERAIMARAETR R, MER O SEZ SIS TR, BHRIFAD/BES, HIDIN6S871.40AD/ T gl il o e . N
BXMTB3-70, 4. RIFEZTRUESNTE TN, FRERBEAG6.3/12000rpm, HFEFEE AG2.5,/20000rpm, {THIRIFIFRAEE .
5. IRIEEEMIEMENTE TN, FRERFE#HG6.3/12000rpm, 1EZFEE 4HG2.5,/20000rpm, JTHAREFIHEMFEE. Note: 1. See figure 1,when the arbor being used,it is necessary to fix inner hex screw.
Note: 1. See figure 1,when the arbor being used, it is necessary to fix inner hex screw. 2. See figure 2,when the arbor being used,it is necessary to fix standard knob,please note when order it.
2. See figure 2, when the arbor bein used,it is necessary to fix standard knob,please note when order it. . = o s . .
. . . . . : 3. See figure 3,when the arbor being used,it is necessary to fix extension knob, please onte when order it,
3. See figure 3,when the arbor being used, it is necessary to fix extension knob,please onte when order it.
4 4 . According to needs to be possible to provide the balanced hilt, the standard precision is G6.3,/12000rpm, the

When order please indicate the hilt the concrete form. |f needs in the center cold and the flange water leakage
hilt, please mark AD/B. precise precision is G2.5,/20000rpm.
5. According to needs to be possible to provide the balanced hilt, the standard precision is G6.3,/12000rpm, the

precise precision is G2.5,/20000rpm.

8 9


user
Штамп

user
Штамп


KAMA////MCM KAMA////IMCM

ZY—10020 BT #E#i=4E#E4F  DRILL CHUCK ARBORS ZY—10022 DIN 4E#0#545424F DRILL CHUCK ARBORS

MAS. BT

1
S| ;7@ ;

Y

L Lz

L

L2
mm L

BJ-ZS Model No. FIFF 2
BT—NO.S—L1 L2 L D D1 Drawbar thread Wt (kg)
BT30—J1—45 16.669 110 9.754 31.75 M12 0.60 mm
BT30—J2—45 22.225 115.6 14,199 31.75 M12 0.70 N

' ' ' ' FIZ2 Model No. K o
BT30—J3—45 30.956 124.4 20.599 31.75 M12 0.80 L2 L D D1
: — — Drawbar thread
BT30—J6—45 25.4 118.8 17.170 31.75 M12 0.75 DIN69871.A—NO.S—L1 rawbar threa
BT30—J33—45 25 .4 118.8 15.850 31.75 M12 0.75 DIN69871 . A40—J0—32 11.112 111.5 6.35 44 45 M16
ggg‘;g‘i 1:§ 107-2 :‘;gzg 21 ;2 m:; gzg DIN69871 . A40—J1—32 16.669 117 9.754 44 45 M16
—B12— 18. 111, . ) .

BT30_B16—45 24 17.4 15733 3175 M12 0.70 DIN69871 . A40—J2—32 22.225 122.6 14.199 44 45 M16
BT30—B18—45 32 125.4 17.780 31.75 M12 0.82 DIN69871 . A40—J2S5—-32 19.05 119.5 13.940 44 45 M16
BT40—J1—45 16.669 127.1 9.754 44.45 M16 1.15 DIN69871.A40—J3-32 30.956 131.4 20.599 44 .45 M16
BT40—J2—45 22.225 132.6 14.199 44 45 M16 1.25
BT40—J25—45 19.05 129 4 13.940 4445 M16 120 DIN69871 . A40—J4—32 42.069 142.5 28.550 44 45 M16
BT40—J3—45 30.956 141.4 20.599 44 45 M16 1.45 DIN69871 . A40—J5—-32 47.625 148 35.890 44 45 M16
BT40—J4—45 42 .069 152.5 28.550 44 45 M16 1.55 DIN69871 . A40—J6—32 25 4 125.8 17.170 44 45 M16
BT40—J5—45 47.625 158 35,890 44 45 M16 1.60
BT20—J6—25 2 4 135 8 17.170 14 45 V16 130 DIN69871 . A40—J33—32 25.4 125.8 15.850 44 45 M16
BT40—J33—45 25.4 135.8 15.850 44 45 M16 1.30 DIN69871 . A40—B6—32 10 110.4 6.35 44 45 M16
BT40—B10—45 14.5 124.9 10.094 44.45 M16 1.40 DIN69871 . A40—B10—32 14.5 114.9 10.094 44 45 M16
BT40—B10—120 14.5 199.9 10.094 44 45 M16 1.76
BT40—B12—45 18.5 128.9 12.065 4445 M16 1.34 DING9871.A40-B10-45 14.5 127.9 10.094 44.45 M16
BT40—B16—32 24 121.4 15.733 44 45 M16 1.40 DIN69871 . A40—B12—-32 18.5 118.9 12.065 44 45 M16
BT40—B16—45 24 134.4 15.733 44.45 M16 1.45 DIN69871 . A40—B12—80 18.5 166.9 12.065 44 45 M16
STA0-B18-75 24 164.4 15.738 .45 M1 1.59 DIN69871. A40—B16—26 24 118.4 15.733 4445 M16
BT40—B16—90 24 179.4 15,733 44 45 M16 1.40
BT40—B18—45 22 1424 17.780 44 45 M16 1.70 DIN69871 . A40—B16—32 24 124 .4 15.733 44 45 M16
BT40—B18—75 32 172.4 17.780 44 45 M16 1.76 DIN69871 . A40—B16—45 24 137.4 15.733 44 45 M16
BTS0-J1-45 16669 168s5 Dl 54 69.85 M24 3.60 DIN69871. A40—B18—32 32 132.4 17.780 44 45 M16
BT50—J2—45 22.225 169 14,199 69.85 M24 3.95
BT50—J2S—45 19.05 1659 13940 6985 M24 3.90 DIN69871 . A40—B18—45 32 145 .4 17.780 44 45 M16
BT50—J3—45 30.956 177.8 20.599 69.85 M24 3.70 DIN69871 . A40—B22—-32 40.5 140.9 21.793 44 45 M16
ETE0n 4545 42.069 LA Aot 59,88 24 3.5 DIN69871. A40—B24—32 50.5 150.9 23.825 44 45 M16
BT50—J5—45 47.625 194.4 35.890 69.85 M24 3.80
BT50—J6—45 25 4 172 2 17.170 69 85 M24 4.00 DIN69871 ., A50—B16—45 24 170.75 15.733 69.85 M24
BT50—J33—45 25.4 172.2 15.850 69.85 M24 4.00 DIN69871 . A50—J3—45 30.965 177.7 20.599 69.85 M24
BT50—B10—45 14.5 161.3 10.094 69.85 M24 3.60 DIN69871 . A50—J6—45 25 4 172.1 17.170 69.85 M24
BT50—B10—100 14.5 216.3 10.094 69.85 M24 3.80
BT50—B12—45 18.5 165 3 12,065 69 85 e 360 DIN69871 ., A50—J33—45 25.4 172 .1 15.850 69.85 M24
BT50—B16—45 24 170.8 15.733 69.85 M24 3.65 DIN69871 . A50—B16—45 24 170.8 19, 738 69.85 M24
BIS0-H8-60 24 5. L G3RES Mas 370 DIN69871.A50—B18—45 32 178.8 17.780 69.85 M24
BT50—B16—75 24 200.8 15.733 69.85 M24 3.74
m——— - SR e e T T DIN69871 . A50—B22—60 40.5 202.3 21.793 69.85 M24
BT50—B18—45 32 178.8 17.780 69.85 M24 3.70 DIN69871 . A50—B24—60 50.5 212.3 23.825 69.85 M24

10 11


user
Штамп

user
Штамп


KAMA////MCM KAMA////IMCM

ZY—10024 CAT $E#=553+#F DRILL CHUCK ARBORS ZY—-10026 EE{kz L3k SELF—FASTEN DRILL CHUCK
- ; NO. S
L1 L2
L
mm
= 2
A2 Model No. L2 L b D1 AT
CAT—NO.S—-L1 Drawbar thread
CAT40—J2—45 22.225 135.5 14.199 44 45 5/8"—11
CAT40—J3—45 30.956 144 .2 20.599 44 45 5/8"—11
CAT40—J4—45 42.069 155.3 28.55 44 45 5/8"—11
CAT40—J6—45 25.4 138.65 17.17 44 45 5/8"—11 BT/APU gwigﬁ%% SELF—FASTEN DRILL CHUCK
CAT40—J33—45 25.4 138.65 15.85 44 45 5/8"—11
CAT40-B16—45 24 137.25 15.733 44 45 5/8"—11 B = BEEWt
- Model No Li L L2 D di d2 R (kg)
CAT40—B18—45 32 145,25 17.780 44 45 5/8"—11 .
CAT45—J1—45 16.669 1442 9.754 57.15 3/4"-10 BT30XAPU8—80 80 137.4 55 37 6 0.04 0.72
CAT45—J2—45 22 .225 150 14.199 57.15 3/4"-10 BT30XAPU13—-110 110 170.4 75 46 50 13 0.04 1.85
CAT45—J3—45 30.956 158.5 20.599 57.15 3/4"-10 BT30XAPU16—110 110 180.4 80 57 16 0.04 2.18
CAT45—J4—45 42.069 169.6 28.55 57.15 3/4"-10 BT40X APUS—85 85 159.4 55 37 6 0.04 1.46
CAT45—J5—45 47.625 175.2 35.89 57.15 3/4"-10 BT40XAPU13—100 100 177.4 75 6 50 13 0.04 2.00
CAT45-J6—45 25.4 153 17.17 57.15 3/4"-10 BT40XAPU16—105 105 187.4 80 57 16 0.04 2.33
CAT45-B10—45 14.5 142 10.094 57.15 3/4"-10 BT50XAPU13—100 100 213.8 75 50 13 0.04 4.70
CAT45—B12—45 18.5 146 12.065 57.15 3/4"-10 100
BT50XAPU16—105 105 223.8 80 57 16 0.04 5.03
CAT45—B16—32 24 138.6 15.733 57.15 3/4"-10
CAT45—B16—45 24 151.6 15.733 57.15 3/4"-10
CAT45-B18—45 32 159.6 17.780 57.15 3/4"-10 DIN69871 /APU E&{k3\Eh3zsL SELF—FASTEN DRILL CHUCK
CAT50—J2—45 22.225 168.85 14.199 69.85 1"—8
. B = BEEW
CAT50—J3—45 30.956 177.56 20.599 69.85 1"-8 Mode! No. L L L. D di de R (kq)
CAT50—J4-45 42.069 188.67 28.55 69.85 1"-8 DING9871 . 30XAPUS—80 80 139.8 55 37 6 0.04 0.60
GV LR EEnEE Ca otk I DIN69871 . 30XAPU13—120 120 179.8 75 50 50 13 0.04 1.45
CAT50—J6—45 25.4 172 il 69.85 1"—8
DIN69871.30XAPU16—125 125 179.8 75 57 16 0.04 1.78
CAT50—J33—45 25.4 172 15.85 69.85 G
DIN69871 . 40XAPUS—75 75 155.4 55 37 6 0.04 1.46
CAT50—B10—45 14.5 161.1 10.094 69.85 1"—8
T LT 8.5 1651 12,065 59.85 —_— DIN69871 . 40XAPU13—100 100 180.4 75 63 55 50 13 0.04 2.00
CAT50—B16—60 24 185 6 15 773 69 85 1" 8 DIN69871.40XAPU16—115 115 195.4 80 57 16 0.04 2.33
CAT50—B18—60 32 193.6 17.780 69 .85 1"—8 DIN69871 . 50X APU8—75 75 188.75 B5) 37 6 0.04 3.86
CAT50—B22—60 40.5 202.1 21.793 69.85 =8 DIN69871 .50XAPU13—100 100 213,79 75 0 50 13 0.04 4.40
97.5
CAT50—B24—60 50.5 212.1 23.825 69.85 1"-8 DIN69871 . 50XAPU16—105 105 218.75 80 57 16 0.04 4.73

12 13


user
Штамп

user
Штамп


KAMA////IMCM KAMA////IMCM

ZY-10028 BT/FMA Em$tJI¥F BT/FMA SHELL MILL ARBORS ZY—-10030 BT/FMB Em$£JI#¥F BT/FMB SHELL MILL ARBORS
o 1

=z
o = EEW
Model No. L L L2 D d d2 K1 K2 (kg)
BT30 X FMB22—45 114 .4 45 18 50 22 26 4.8 10 0.85
= = BT30 X FMB22—60 126.4 60 18 50 22 26 4.8 10 1.25
85 L L L2 D d d2 K1 K2 Eth
Model No. (kg) BT30xXFMB27—45 | 113.4 45 20 60 27 31.5 5.8 12 1.20
BT30 X FMA25.4—60 128.4 60 20 50 25,40 31.5 4.52 9.52 1.30 BT30 X FMB32—45 115.4 45 22 78 32 41 6.8 14 1.35
BT30 X FMA31.75—45 115.4 45 22 60 31.75 41 6.70 12.70 1.35 BT40 X FMB22—45 128.4 45 18 48 22 26 4.8 10 1.45
BT40 X FMA25 .4—45 130.4 45 20 50 25.40 31.5 4 .52 9.562 1.80 BT40 X FMB22—60 143.4 60 18 48 22 26 4.8 10 1.70
BT40 X FMA25 . 4—60 145.4 60 20 50 25.40 31.5 4.52 9.52 2.00 BT40 X FMB22—100 | 173.4 100 18 48 22 26 4.8 10 2.20
BT40 X FMA25 . 4—90 175.4 | 90 20 50 25.40 | 31.5 452 | 9.52 2.60 BT40xFMB27-45 | 130.4 45 20 60 27 31.5 5.8 12 1.60
BT40 X FMA25 . 4—105 190.4 | 105 20 60 2540 | 315 | 452 | 952 | 2.70 BT40 X FMB27-60 | 145.4 60 20 60 2 31.5 5.8 12 2.00
BT40 X FMA31.75—45 132.4 45 22 60 31.75 41 6.70 12.70 2.00 BT40 X FMB27—-90 175.4 %0 20 60 27 31.5 5.8 12 2.30
BT40 X FMB27—105 190.4 105 20 60 27 31.5 6.8 12 2.50
BT40 X FMA31.75—-75 162.4 75 22 60 31.75 41 6.70 12.70 2.70 BT40 % FVB32—45 132 4 45 " 28 o 41 68 12 -
X - ) . i
BT40 X FMA31.75—-90 177.4 90 22 60 31.75 41 6.70 12.70 2.90 BT40 X FMB32—60 147 4 60 22 78 32 41 8 3 14 2 10
BT40 X FMA38. 1—-60 150.4 | 60 25 75 38.10 | 445 | 8.87 | 15.87 | 2.80 BT40 X FMB40—60 | 150 4 pos - 80 20 18 48 ” > 80
BT50 X FMA25,4—-45 166.8 45 20 50 25.40 31.5 4.52 9.52 4.40 BT50 %X FMB22—90 209.8 90 18 48 22 26 4.8 10 5.10
BT50 X FMA25.4—90 211.8 90 20 50 25.40 31.5 4.52 9.562 5.10 BT50 X FMB22—150 369.8 150 18 48 22 26 4.8 10 6.80
BT50 X FMA25.4—150 271.8 150 20 50 25.40 31.5 4 .52 9.562 6.10 BT50 X FMB27—-50 171.8 50 20 60 27 31.5 5.8 10 7.00
BT50 X FMA31 ,75—45 168.8 45 22 60 31.75 41 6.70 12.70 4.50 BT50 X FMB27—30 211.8 90 20 60 27 31.5 5.8 10 8.00
BT50 X FMA31 . 75—75 198.8 | 75 22 60 31.75 | 41 6.70 | 12.70 | 5.30 BT50 X FMB27-150 | 271.8 150 20 60 27 31.5 5.8 12 7.50
BTSOXFMA31.75-105 | 228.8 | 105 22 98 31.75 | 41 6.70 | 12.70 | 5.70 SIEOPNENIE S Ul R R 20 22 e g2 gl Tl 2 il
BT50 X FMA38.10—45 171.8 45 25 80 38.10 44 5 8.87 15.87 4 .80 Sl Sty 213.8 0 22 8 32 41 BulE 12 Lo
BT50 X FMB40—50 176.8 50 25 89 40 48 8.3 12 5.70
BT50 X FMA38.10—75 201.8 75 25 80 38.10 44 5 8.87 15.87 6.00 S Y Y e ST 7 - 0s 0 e T ” 0
X - g i i
BT50 X FMA50.80—45 172.8 45 36 98 50.80 68 9.75 19.05 5.70 BT50 X FMB40—105 231 8 105 25 98 40 48 8 3 12 5 20
BT50 X FMA50. 80—75 202.8 | 75 36 98 50.80 | 68 9.75 | 19.05 | 6.80 T R T = o T o = % s e
BTS0XFMA47.62-75 | 208.8 | 75 32 | 128.75| 47.62 | - 12.50 | 25.40 | 7.90 BT50 < FMBE0—75 | 2018 75 25 140 60 — 125 16 2 20
1 ATHEHE A IR AR, MEROHKSE=2MEHKLEBITIHE, EEHAD/B, 1. TGRSR B AT R . NE ik 53 2 S ME S EIR T4, 57E5AD /B,
2 WRIEEEHRMEN T TN, tREFREEAG6.3/12000rpm, FEEHERE HG2.5,/20000rpm, (TR IEEIARMAEE. 2 RIEEENIE MBI T I, AR 5G6.3,/12000rpm, FEZHREEE#HG2.5,/20000rpm, TRIRTE EA B A,
1.When order please indicate the hilt the concrete form. I|f needs in the center cold and the flange water leakage hilt, 1.When order please indicate the hilt the concrete form. If needs in the center cold and the flange water leakage hilt,
please mark AD/B. ) : ) g please mark AD/B.
2. Accgrdlng to .need.s to be possible to provide the balanced hilt, the standard precision is G6.3,/12000rpm, the 2. According to needs to be possible to provide the balanced hilt, the standard precision is G6.3,/12000rpm, the precise
precise precision is G2.5,/20000rpm. precision is G2.5,/20000rpm.

14 15


user
Штамп

user
Штамп


KAMA////IMCM KAMA////IMCM

ZY—10032 DIN69871/FMB EE&ETJ#F DIN69871 /FMB SHELL MILL ARBORS ZY—10034 BT 4&HESENR ST ZY—20036 DIN $EH#BE AR T4
COMBI SHELL END MILL ARBORS COMBI SHELL END MILL ARBORS

MAS. BY

e L =
—

[

T
[

L1

mm mm
TYPE FS IS Model No. D D1 R #UZS Model No. D D1 =
DN 6357-8 BT xXd—L1 Wi (kg) DIN69871 . A xd—L1 Wit (kg)
BT30 X 16—55 32 31.75 1.00 DIN69871.A30 X 16—55 32 31.75 1.00
BT30 x 22—55 40 31.75 1.20 DIN69871 . A30 x 22—55 40 31.75 2.00
BT30x 27-55 48 31.75 1.20 DIN69871 ., A30 X 27—55 48 31.75 2.10
BT30 x 32—60 58 31.75 1.50 DIN69871.A30 X 32—60 58 31.75 1.80
L BT30x 40—60 70 31.75 2.30 DIN69871.A30 X 40—60 70 31.75 7.30
BT40 x 16—55 32 44 45 1.20 DING9871.A40 X 16—55 32 44 45 1.20
LU= L L L D g q K K FEEW BT40 x 16—100 32 44 45 1.50 DIN69871.A40x 16—100 32 44 45 1.50
Model No. 1 i 1 i 1 ’ (kg) BT40 X 22—55 40 44 .45 1.25 DIN63871. A40 X 2255 40 | 44.45 | 1.23
DIN6S871 . A30 X FMB22—35 100.8 | 18 14 26 47 47 4.8 | 10 1.00 BT40 X 22—100 40 44.45 1.85 DIN69871.A40Xx22—100 | 40 | 44.45 | 1.83
DIN69871. A30 X FMB27—35 102.8 20 16 31.5 58 58 5.8 12 1.05 BT40 x 27—55 48 44 .45 1.50 DIN69871.A40 X 27—55 48 44 45 1.30
DIN69871 . A40 X FMB22—35 121.4 18 14 26 47 47 4.8 10 1.20 BT40x 27—100 48 44 45 2.00 DIN69871.A40x 27—100 48 44 45 2.20
DIN69871  A40 X FMB32—60 1504 22 16 41 66 66 6.8 14 2 30 BT40 x 32—100 58 44 45 2.30 DIN69871 . A40x 32—100 58 44 45 2.30
BT40 x 40—60 70 44 45 2.00 DIN69871 ., A40 x 40—60 70 44 .45 1.80
DIN69871 . A40 X FMB40—60 153.4 25 20.5 48 82 82 8.3 16 2.58
BT40 x 40—100 70 44 45 3.00 DIN69871 . A40x 40—100 70 44 45 3.00
DIN69871.ASOXFMB22—35 | 154.75 | 15 14 26 47 47 4.8 | 10 | 3.40 BT50 X 16—63 32 69.85 3.60 DIN69871. A50 X 16—63 32 | 69.85 | 3.50
DING9871. ASO X FMB27—-35 196.75 | 20 16 31.5 58 58 5.8 12 3.50 BT50 X 16—100 32 69.85 4.00 DIN69871.A50 X 16—100 32 69.85 | 3.80
DIN69871 . A50 X FMB32—35 158.75 22 16 41 66 66 6.8 14 3.70 BT50 X 22—70 40 69.85 3.70 DIN69871.A50 x 22—70 40 69.85 3.60
DIN69871 . A50 X FMB40—50 189.75 25 20.5 48 82 82 8.3 16 4.70 BT50 % 22—100 40 69.85 4.00 DIN69871 . A50 x 22—100 40 69.85 4.00
DING9871 . A50 X FMB50—60 211.75 30 25 68 95 95 9.7 19 580 BT50x 27—70 48 69.85 4.00 DIN69871,A50x 27—70 48 69.85 3.70
DIN69871 . A50 X FMB40F—60 158.4 30 66.7 M12 89 89 8.3 15.9 2.90 SRS 48 69.85 4.40 DING3871 4502272100 i) BIAE9 4.40
BT50 x 32—70 58 69.85 4.20 DIN69871.A50 X 32—70 58 69.85 3.80
DIN69871 . A50 X FMB40F—70 201.75 30 665.7 M12 89 89 8.3 15.9 5.50 BT50 X 32—100 58 69 85 470 DINGS871_ ABO X 32—100 58 69 85 470
DIN69871 . A50 X FMB60F—70 211,75 40 101.6 M16 129 129 12,5 | 25.4 5.70 BT50 x 40—75 70 69 85 4 50 DIN69871 . A50 X 40—75 70 69.85 3.90
DIN69871 . A50 X FS40—60 154.4 26 66.7 50 110 110 8.3 16 3.20 BT50 X 40—100 70 69.85 5.50 DIN69871 . A50 X 40—100 70 69.85 5.30
DIN69871 . A50 X FS40—70 211.75 26 66.7 50 110 110 8.3 16 5.70 BT50 x 50—75 90 69.85 4.60 DIN69871 ., A50 X 50—75 90 69.85 4.50
DINB9871. A50 X FS60—70 196.75 | 25 101.6 | M16 140 140 125 | 25.4 5.50 BT50 X 50—125 90 69.85 7.20 DINE9871. A50 X 50—125 90 69.85 7.20
1 iTHRHEE R IR AR . IFE Ltk SE =8 MmEHKQEH 714, 1§EHAD/B, 1 ITHRHE R IRRARER R, WE OBk SE=ENE# KL TIHH, ISHRAFAD,/BEL, §1BT40AD,/BX32-60,
2 RIFBEZEFIRUTE IR, #RAEREEAG6.3/12000pm, 1FEHEE AG2.5,/20000rpm, (TR EFEARAEE . 2 R EETRMEN T & TN, #RAEFEEAG6.3/12000rpm, FEEHERE 4G2.5,/20000rpm, (TR EEAEMAEE,
1.When order please indicate the hilt the concrete form. If needs in the center cold and the flange water leakage hilt, 1.When order please indicate the hilt the concrete form. If needs in the center cold and the flange water leakage hilt,
please mark AD/B. please mark AD/B.
2 .According to needs to be possible to provide the balanced hilt, the standard precision is G6.3,/12000rpm, the precise 2.According to needs to be possible to provide the balanced hilt, the standard precision is G6.3,/12000rpm, the precise
precision is G2.5,/20000rpm. precision is G2.5,/20000rpm.

16 17


user
Штамп

user
Штамп


KAMA////MCM KAMA////MCM
ZY—10038 {fif4BU 4R %% T4 ANGULAR MOUNTING SQUARE BITE BORING ARBORS ZY—10040 EifgRUs#4AS JI4%  STRAIGHT MOUNTING SQUARE BITE BORING ARBORS

MAS . BT

— =
— N

L

MAS.BT

i

mm
m D BLAA RS
D BERATIES BS Model No. min max b L W Type of square -zjtter
#IZ Model No. . D L w
min max Type of square cutter BT45—TZC25—120 25 40 20 120 8 F8—82—24
BT40-TQC25-150 25 38 20 150 8 F8—45-32 BT45-TZC38—150 38 60 30 150 10 F10-82-36
BT40-TQC30-150 30 42 24 150 8 F8—45-36 BT45—TZC50—165 50 70 40 165 13 F13—82-48
BT40-TQC38—150 38 52 30 150 10 F10-45-48 BT45—TZC72—195 72 100 60 195 19 F19-82—70
BT40—TQC42—150 42 56 34 150 10 F10—45—52
BT40—TQC50—150 50 65 40 150 13 F13—45—62 s
BT40-TQC62—150 62 90 50 150 16 F16—45—80 ZY—10042 BT #EHEZIIHTIHF END MILL ADAPTERS
BT40—TQC72—150 72 110 60 150 19 F19-45-92
BT45—-TQC25—180 25 38 20 180 8 F8—45—-32 AS. 51 T
BT45—TQC30—180 30 42 24 180 8 F8—45—36 TS
BT45—TQC38—200 38 52 30 200 10 F10—45—48 “ T
BT45—TQC42—200 42 56 34 200 10 F10—45-52 ﬂm I/
BT45—TQC50—200 50 65 40 200 13 F13—45—62
BT45—TQC50—230 50 65 40 230 13 F13—45—62 i =
BT45—TQC62—200 62 90 50 200 16 F16—45—80
BT45—TQC62—270 62 90 50 270 16 F16—45—80 mm
BT45—-TQC72—200 72 110 60 200 19 F19—45-92 A2 Model No. L b b1 L2 L3 B2 Wi(ke)
BT45—TQC72—270 72 110 60 270 19 F19—45-92 BT X d—L1
BT45—TQC72—250 72 110 60 250 19 F19—45-92 BT30 X 6—50 98.4 25 31.75 18 0.66
BT45—TQC90—200 90 125 75 200 19 F19—45—118 BT30 X 6—60 108.4 25 31.75 18 0.72
BT45—TQCY0—250 90 125 75 250 19 F19-45-118 BT30 X 8—60 108.4 28 31.75 18 0.80
BT50—TQC25—150 25 38 20 150 8 F8—45—32 BT30 X 10—60 108.4 35 31.75 20 0.83
BT50—TQC30—170 30 42 24 170 8 F8—45—-36 BT30 X 10—80 128.4 35 31.75 20 0.83
BT50—TQC38—170 38 52 30 170 10 F10—45—48 BT30 X 12—60 108.4 42 31.75 22,5 0.88
BT50—TQC42—180 42 56 34 180 10 F10—45—48 BT30 X 14—60 108.4 44 31.75 22.5 1.02
BT50—TQC50—200 50 65 40 200 13 F13—45—62 BT30x 16—75 123.4 48 ilelE 24 1.04
BT50—TQC62—250 62 90 50 250 16 F16—45—80 BT30x 18-75 123.4 50 31.75 24 1.26
BT50—TQC72—250 72 110 60 250 19 F19—45-92 BT30 X 20—75 123.4 52 31.75 25 1.36
BT50—TQCY0—250 90 125 75 250 19 F19-45-118 BT30 X 25—90 138.4 65 31.75 24 25 1.50

18 19


user
Штамп

user
Штамп


KAMA////MCM KAMA////MCM

ZY—-10044  #$=3rEEJJFF END MILL ADAPTERS ZY—10046 DIN $E#$=I55TJ#F END MILL ADAPTERS
mm DIN69871.A L L2
gg-“.g_rg%d_ellJNo. L D D1 L2 L3 B Wi(kg) m 1 f o
BT40 X 6—50 115.4 25 44 45 18 0.96
BT40 X 6—60 125.4 25 44 45 18 0.98 \ L‘
BT40 X 8—50 115.4 28 44 45 18 1.00 T
BT40 X 10—63 128.4 35 44 45 20 1.08 RIS Model No. —
BT40 X 12—63 128.4 42 44,45 22.5 1.20 DIN63871 . A X d—L1 L D D1 L2 L3 EE Wi(kg)
BT40% 1463 128.4 44 44.45 22.5 1.22 DIN69871.A30 X 6—50 97.8 25 31.75 18 0.58
BT40 % 16—63 128.4 48 44.45 24 1.24 DIN69871.A30 X 8—50 97.8 28 31.75 18 0.64
BT40 % 16—70 135.4 48 44.45 24 1.30 DIN69871.A30 X 10—50 97.8 35 31.75 20 0.72
BT40 % 18—63 128.4 50 44.45 24 1.36 DIN69871.A30 X 12—50 97.8 42 31.75 22.5 0.80
BT40 % 20—-63 128.4 52 44.45 25 1.36 DIN69871.A30 X 16—50 97.8 48 31.75 24 0.96
BT40 % 20-70 135.4 52 44.45 25 2.10 DIN69871. A40 X 6—50 118.4 25 44 45 18 0.92
BT40 X 25—-90 155.4 65 44.45 24 25 2.07 DING9871. A40 X 8—50 118.4 28 44 45 18 0.96
BT40X 25-100 165.4 65 44.45 24 25 2.08 DIN69871.A40 X 10—50 118.4 35 44 45 20 2.00
BT40X 32—-100 165.4 72 44.45 24 28 2.25 DING9871. A40 X 12—50 118.4 42 44 45 22.5 1.12
BT40X 32-110 175.4 72 44.45 24 28 2.30 DING9871. A40 X 14—50 118.4 44 44 45 22.5 1.12
BT40Xx40-120 185.4 90 44.45 30 32 2.50 DIN69871.A40 X 16—63 131.4 48 44 45 24 1.20
BT40Xx 40-140 205.4 90 44.45 30 32 2.80 DIN69871.A40 x 18—63 131.4 50 44 45 24 1.20
BT50 X 6—63 164.8 25 69.85 18 3.20 DIN69871 . A40 X 20—63 131.4 52 44 45 25 1.32
BT50 X SLA8—63 164.8 28 69.85 18 3.23 DIN69871.A40 X 25—100 168.4 65 44 45 24 25 2.04
BT50 X SLA10-63 164.8 35 69.85 20 3.24 DIN69871.A40 X 32—100 168.4 72 44 45 24 28 2.24
BT50 X SLA12-80 181.8 42 69.85 22.5 3.36 DIN69871.A40 X 40—120 188.4 90 44 45 30 32 2.40
BT50 X SLA16—80 181.8 48 69.85 24 3.48 DIN69871 . A50 X 6—63 164.75 25 69.85 18 3.30
BT50 X SLA20—80 181.8 52 69.85 25 3.52 DIN69871.A50 X 8—63 164.75 28 69.85 18 3.40
BT50 X SLA25—-100 201.8 65 69.85 24 25 4.28 DIN69871.A50 X 10—63 164.75 35 69.85 20 3.42
BT50 X SLA25—-105 206.8 65 69.85 24 25 4.30 DIN69871.A50 X 12—63 164,75 42 69.85 22.5 3.42
BT50 X SLA25—-150 251.8 65 69.85 24 25 4.35 DIN69871.A50 X 14—63 164,75 44 69.85 22.5 3.44
BT50 X SLA25—-200 301.8 65 69.85 24 25 4.40 DIN69871.A50 X 16—63 164,75 48 69.85 24 3.46
BT50 X SLA32—-100 201.8 72 69.85 24 28 4.44 DIN69871.A50 X 18—63 164.75 50 69.85 24 3.48
BT50 X SLA32—-105 206.8 72 69.85 24 28 4.56 DIN69871.A50 x 20—63 164,75 52 69.85 25 4.24
BT50 X SLA40—-100 216.8 90 69.85 30 32 4.58 DIN69871 . A50 X 25—80 181.75 65 69.85 24 25 4.40
BT50 X SLA40-120 221.8 90 69.85 30 32 4.58 DIN69871 . A50 X 32—100 201.75 72 69.85 24 28 4.52
BT50 x SLA50—-150 251.8 100 69.85 35 35 4.90 DIN69871 . A50 X 40—120 221.75 90 69.85 30 32 4.72
1. {THEHEFRAIWRIFRERR . MFEROHKSE=ENEmBKLEHTIME, 1EFRAAD,/BEY, INBT40AD,/BX12—63, 1 I THRHE R IR, E LK SE=EMmmEkSER T4, i5FRIBAD,/BEY, fNDIN6S871.40AD,/BX12-50,
2. RIFFZEFRMBITEE TN, tRHERBEAGE.3/12000rpm, 1EFHEE AG2.5,/20000rpm, JTHIRETIEEAAEAEIEE . 2 IRIEFEFHRMENFE I, FRAEREAHG6.3/12000rpm, 15 FEE AG2.5,/20000rpm, TR ERAREE.
1. When order please indicate the hilt the concrete form. If needs in the center cold and the flange water leakage hilt, 1.When order please indicate the hilt the concrete form. If needs in the center cold and the flange water leakage hilt,
please mark AD/B. please mark AD/B.
2. According to needs to be possible to provide the balanced hilt, the standard precision is G6.3,/12000rpm, the precise 2. According to needs to be possible to provide the balanced hilt, the standard precision is G6.3,/12000rpm, the precise
precision is G2.5,/20000rpm. precision is G2.5,/20000rpm.

20 21


user
Штамп

user
Штамп


KAMA////IMCM KAMA////IMCM

ZY—10048 CAT $E#=r8tJJ#F END MILL ADAPTERS ZY—10050 BT #{3=58 7] MILLING CHUCK ARBORS
mm
12 Model No.
) = v d D b
BT40 X MC16—86 16 50
BT40 X MC20—90 20 56
o BT40 X MC20—100 20 56
FIZ Model No. ] 5 N , B BT40 X MC20—135 20 56
CTXD—L1 BT40 X MC25—100 25 63 44 45
CAT40X3,/16"—2~1/2" 131.8 19.05 14.3 BT40 X MC25—105 25 63 '
CAT40X1/4"—2~1/2" 131.8 20.64 19.8 BT40 X MC32—100 32 70
CAT40X5,/16"—2~1 /2" 131.8 22.22 19.8 BT40 X MC32—105 2 0
CAT40X3,/8"—2~1/2" 131.8 32 19.8 BT40 X MC32—135 = 20
CAT40X7,/16"—2~1/2" 131.8 31.75 22.2 AS. BT I
CAT40X1/2"—-2~5/8" 134.9 44 45 44 45 22 2 ﬁl/( mm o BT40 X MC42—-115 42 90
CAT40X5,/8"—3~3,/4" 163.5 44 45 23 8 8 A o A BT50 X MC20—100 20 56
CAT40X3/4"—3~3 /4" 163.5 44.45 25.4 % BT50XMC32-110 32 70
CAT40X7,/8"—4" 169.9 52 27 22.2 BT50 X MC32-150 32 70 69.85
CAT40X1"—4" 169.9 63 28.6 25.4 . BT50 X MC42—120 42 90
CAT40X1~1/4"—4~1/8" 173 69.85 28.6 25.4 BT50 X MC42—150 42 90
CAT50X3,/8"—4~1/2" 215.9 31.75 19.8 BT50 X MC42—165 42 90
CAT50X3,/8"—6~1,/2" 266.7 31.75 19.8
CAT50X1,/2"—2~5/8" 168.3 44 45 22.2 ZY—10052 DIN69871 #i3=5: 1 7J#% MILLING CHUCK ARBORS
CAT50X1,/2"—4~5 /8" 219.2 44.45 22.2 mm
CAT50X5,8"~3~3/4" 196.85 44.45 23.8 Bl Model No. q D D1
CAT50X5,/8"—5~3 /4" 247 7 44 45 23 8 DIN69871 X MC—L1
CAT50X3,/4"—3~3 /4" 196.85 44.45 25.4 DINB3871. 40 X MC16-90 16 50
CAT50X3,/4"—5~3 /4" 247 .7 44 45 25 4 DIN69871 .40 X MC20—100 20 56
CAT50X7,/8"—3~3/4" 196.85 52 69 85 27 22 .2 DIN69871 .40 X MC20—120 20 56
CAT50X7,/8"—5~3/4" 247.7 52 27 22.2 DING9871 .40 x MC25—105 25 63 44 45
CAT50X1"—4" 203.2 63 28.6 25.4 DIN69871 .40 X MC32—100 32 70
CAT50X1"—6" 254 63 28.6 25.4 DIN69871 .40 X MC32—105 32 70
CAT50X1~1,/4"—4" 203.2 69.85 28.6 25.4 DING9871_40 X MC32—135 ” 20
CAT50X1~1,/4"—6" 254 69.85 28.6 25.4 DINGI871 40 X MC42—135 = =
CAT50X1~1/2"—4" 203.2 69.85 28.6 25.4 ) S ” =
CAT50X1~1/2"—6" 254 69.85 28.6 25.4
DINB9871 .50 X MC20—150 20 56
CAT50X2"-5~5/8" 244 5 69.85 30.2 36.5 A
CAT50X2"—7~5/8" 295.3 69.85 30.2 36.5 RS e oY 32 2
DIN69871.50 X MC32—165 32 70 69.85
IRBEERMR T E I, FERSE AG6.3,/12000rpm, FEEHERE #AG2.5,/20000rpm, (TR IEFRAAMEE . i DIN69871 50 X MC42—120 ) 50
According to needs to be possible to provide the balanced hilt, the standard precision is G6.3,/12000rpm, the precise
= DING9871 .50 X MC42—150 42 90
precision is G2.5,/20000rpm,
DINB9871 .50 X MC42—165 42 90

22 23


user
Штамп

user
Штамп


KAMA////IMCM KAMA////IMCM

ZY—100521 #24r$iE 3] THREAD LOCKING TYPE CHUCK ZY—100521 #24y$iE 574 THREAD LOCKING TYPE CHUCK

= e [ p— | Y
wD "
it = M di d2 D L1 it = M di d2 D L1
BT30—MCA06—50 6 6.5 10 20 50 DIN69871 .30—MCA06—50 6 6.5 10 20 50
BT30—MCA06—75 6 6.5 10 23 75 DIN69871 .30—MCA06—75 6 6.5 10 23 75
BT30—MCA08-50 8 8.5 13 23 50 DIN69871 .30—MCA08—-50 8 8.5 13 23 50
BT30—MCA08—-75 8 8.5 13 23 75 DIN69871 .30—MCA08—-75 8 8.5 13 23 75
BT30—MCA08—100 8 8.5 13 25 100 DIN69871 .30—MCA08—100 8 8.5 13 25 100
BT30—MCA10-50 10 10.5 18 23 50 DIN69871 .30—MCA10-50 10 10.5 18 23 50
BT30—MCA10-75 10 10.5 18 28 75 DIN69871.30—MCA10-75 10 10.5 18 28 75
BT30—MCA10—-100 10 10.5 18 32 100 DIN69871.30—MCA10—100 10 10.5 18 32 100
BT30—MCA12-50 12 12.5 21 30 50 DIN69871 .30—MCA12-50 12 12.5 21 30 50
BT30—MCA12—-75 12 12.5 21 31 75 DIN69871.30—MCA12—-75 12 12.5 21 31 75
BT30—MCA12—-100 12 12.5 21 36 100 DIN69871.30—MCA12—100 12 12.5 21 36 100
BT30—MCA16—50 16 17 29 34 50 DIN69871 .30—MCA16-50 16 17 29 34 50
BT30—MCA16—75 16 17 29 34 75 DIN69871.30—MCA16—75 16 17 29 34 75
BT30—MCA16—100 16 17 29 40 100 DIN69871.30—MCA16—100 16 17 29 40 100
BT40—MCA06—50 6 6.5 10 20 50 DIN69871 .40—MCA06—50 6 6.5 10 20 50
BT40—MCA06—75 6 6.5 10 23 75 DIN69871 .40—MCA06—75 6 6.5 10 23 75
BT40—MCAQ08—-50 8 8.5 13 23 50 DIN69871 .40—MCA08—-50 8 8.5 13 23 50
BT40—MCA08-75 8 8.5 13 23 75 DIN69871 .40—MCA08—-75 8 8.5 13 23 75
BT40—MCA08—100 8 8.5 13 25 100 DIN69871 .40—MCA08—100 8 8.5 13 25 100
BT40—MCA10-50 10 10.5 18 23 50 DIN69871 .40—MCA10-50 10 10.5 18 23 50
BT40—MCA10-75 10 10.5 18 28 75 DIN69871.40—MCA10-75 10 10.5 18 28 75
BT40—MCA10—100 10 10.5 18 32 100 DIN69871.40—MCA10—100 10 10.5 18 32 100
BT40—MCA12-50 12 12.5 21 30 50 DIN69871.40—MCA12-50 12 12.5 21 30 50
BT40—MCA12-75 12 12.5 21 31 75 DIN69871.40—MCA12—-75 12 12.5 21 31 75
BT40—MCA12—100 12 12.5 21 36 100 DIN69871.40—MCA12—100 12 12.5 21 36 100
BT40—MCA16-50 16 17 29 34 50 DIN69871 .40—MCA16—-50 16 17 29 34 50
BT40—MCA16—75 16 17 29 34 75 DIN69871.40—MCA16—75 16 17 29 34 75
BT40—MCA16—100 16 17 29 40 100 DIN69871.40—MCA16—100 16 17 29 40 100
BT50—MCA06—50 6 6.5 10 20 50 DIN69871 .50—MCA06—50 6 6.5 10 20 50
BT50—MCA06—75 6 6.5 10 23 75 DIN69871 .50—MCA06—75 6 6.5 10 23 75
BT50—MCA08—-50 8 8.5 13 23 50 DIN69871 .50—MCA08—-50 8 8.5 13 23 50
BT50—MCA08—-75 8 8.5 13 23 75 DIN69871 .50—MCA08—75 8 8.5 13 23 75
BT50—MCA08—-100 8 8.5 13 25 100 DIN69871 .50—MCA08—100 8 8.5 13 25 100
BT50—MCA10-50 10 10.5 18 23 50 DIN69871 .50—MCA10-50 10 10.5 18 23 50
BT50—MCA10-75 10 10.5 18 28 75 DIN69871 .50—MCA10—-75 10 10.5 18 28 75
BT50—MCA10—100 10 10.5 18 32 100 DIN69871 .50—MCA10—100 10 10.5 18 32 100
BT50—MCA12-50 12 12.5 21 30 50 DIN69871 .50—MCA12-50 12 12.5 21 30 50
BT50—MCA12-75 12 12.5 21 31 75 DIN69871 .50—MCA12—-75 12 12.5 21 31 75
BT50—MCA12—100 12 12.5 21 36 100 DIN69871 .50—MCA12—100 12 12,8 21 36 100
BT50—MCA16—50 16 17 29 34 50 DIN69871 .50—MCA16—50 16 17 29 34 50
BT50—MCA16—75 16 17 29 34 715 DIN69871 .50—MCA16—75 16 17 29 34 75
BT50—MCA16—100 16 17 29 40 100 DIN69871 .50—MCA16—100 16 17 29 40 100

24 25


user
Штамп

user
Штамп


KAMA////MCM KAMA////MCM

ZY—10052101 BT/SK(DIN69871A) GSKE#EiEFZE LR ZY—-100522 GSHM{HA5ICZFJI# ELASTIC EXPANSION TAPPING THE HANDLE
BT/SK(DIN69871A) GSK HIGH SPEED COLLET CHUCK -
iTHS D L L1 L2 D1 p2 | MAX | coter | kas %f :HI[ ——- =
Order No. (min™") &L

BT /SK30—GSK6—60 60 33 33 19.2 0.7

BT /SK30—GSK6—90 | 2 ~6 | 90 56 65 | 19.5 [ , csk6 | 0.7 i

BT /SK30—GSK6—120 120 | 62 95 0.8 L

BT /SK30—GSK10—45 45 22 22 40000 0.8 =

BT /SK30—GSK10—60 60 35 35 0.9 B =S D L1 D1

BT /SK30—GSK10-75 |2~ 10| 75 50 50 | 27.5 | 27.5 CSK10 1.0 BT40-TER20-100 100 36

BT /SK30—GSK10—90 90 65 65 1.0
BT /SK30—GSK10—120 120 | 9% | % 1.1 BT40-TER25-110 4445 110 42

BT /SK30—GSK16—60 60 37 37 1.1 BT40-TER32-110 110 46

BT /SK30—GSK16—75 75 52 52 1.2 BT40-TER40-120 120 56

BT /SK30—Gsk16-90 | ° ~ '® 80 67 67 40 40 CSK16 —75 BT50-TER20-120 120 36
BT /SK30—GSK16—120 120 | 97 97 1.3

BT /SK30—GSK20—60 60 | 37 | 37 0.7 BT50-TER25-120 9. 85 120 42

BT /SK30—GSK20—75 |4 ~ 20| 75 52 52 48 48 csk20 | 0.9 BT50-TER32-120 ' 120 46

BT /SK30—GSK20—90 90 67 67 1.2 BT50-TER40-130 130 56

BT /SK30—GSK25—90 |6 ~ 25| 90 67 67 55 55 CSK25 | 1.5

BT /SK40—GSK6—60 60 30 30 19.5 | 30000 1.0

BT /SK40-GSK6-90 | , _, [ 90 51 60 | 195 | 3 CSK6 1.1

BT /SK40—GSK6—120 120 | 60 90 : 1.4

BT /SK40—GSK6—150 150 | 60 | 120 25 1.5 =

BT /SK40—GSK10—60 60 32 32 27 5 1.1

BT /SK40—GSK10—75 75 45 45 : 1.2

BT /SK40—GSK10—90 90 48 60 1.2
BT /SK40—GoK10—120 | 2~ 'O 920 | 73 g0 | 275 | 40 CSK10 —77 Ll
BT /SK40—GSK10—150 150 | 73 | 118 345 1.6
BT /SK40—GSK10—180 180 | 73 | 148 39 1.6 B =S D L1 D1

BT /SK40—GSK16—60 60 32 32 1.3 — —

BT /SKA0—GSK16—75 7 3 3 T4 DIN69871. 40-TER20-100 100 36

3~ 16 40 40 CSK16 44. 45

BT /SK40—GSK16—120 120 | 88 88 1.7 DIN69871. 40-TER32-110 110 46
BT /SK40—GSK16—150 150 | 118 | 118 1.9 N _ _
BT /SK40—GSK16—180 180 | 148 | 148 25000 70 OWEME: <AT3 DING9871. 40-TER40~120 120 56

BT /SK40—GSK20—60 60 32 32 1.3 OEAKRHE: 20CrMnTi

BT/SK40-GSK20-75 | 4~ [ 756 [ 45 [ 45 | ,o | ,o csk20 |1-4 O HRC56—60 ZY—100523 1SO30 #i¥=f%I41 7148 The handle CNC engraving machine

BT /SK40—GSK20—90 | 20.0 | 90 60 60 1.6 I
BT /SK40—GSK20—120 120 | 90 | 90 2.0 OigRARE :>0.8mm

BT /SK40—GSK25—75 75 47 47 1.7 O JIHFEZ TN 1% G2.5 FIZ2 |SO30XER32—L1| L1 | D
BT /SK40—GSK25—90 |6 ~ 25 [ 90 61 61 55 55 | 20000 | CSK25 | 1.8 O Precision taper; <AT3
BT /SK40—GSK25—120 120 | 91 91 2.0 ) Y ISO30XER32—45 | 45
BT /SK50—GSK6—105 105 | 55 64 3.8 © Material ; 20CrMnTi 4 |SO30XER32—60 | 60 145
BT /SK50-GSK6—135 | , . [ 135 | 60 92 | 9| 32 csks |_3-9 © Hardness ; HRC56—60

BT /SK50—GSK6—165 165 | 60 | 114 7 4.0 © Carbon Depth ISO30XER32—100 |100| 45

pth:>0.8mm

BT /SK50—GSK6—200 200 | 60 | 151 30 42 . 1S030X0225—70 170 |45
BT /SK50—GSK10—105 105 57 57 27.5 42 © Shank dynamic balance

BT /SK50—GSK10—135 135 | 70 92 . 4.4 standard: G2.5

BT /SK50—GSK10—165 |2 ~ 10| 165 | 75 | 114 | 27.5 CSK10 | 4.6
BT /SK50—GSK10—-200 200 | 75 | 151 36 4.8 ZY—100524 |SO30 RETENTION KNOB ZY—100526 Ef{¢4  COLUMBUS
BT /SK50—GSK10—225 225 | 75 | 178 20000 5.0

BT /SK50—GSK16—105 105 | 62 62 40 4.7
BT /SK50—GSK16—135 135 | 92 92 4.9 W5
BT /SK50—GoK16—165 | ° ~ ' 765 | s0 | 122 | *° 50 CSS g 3 ?{FDE ) o = Je
BT /SK50—GSK16—200 200 | 90 | 157 52 55 % 3 2 3
BT /SK50—GSK20—105 105 | 62 62 43
BT /SK50—GSK20—135 135 | 92 92 4.6 2
BT /SK50—Gok20—165 | * ~ 20765 [ 12z | 122 | 8 | 48 N = 1£0.1
BT /SK50—GSK20—200 200 | 157 | 157 5.4 Hohl Hall
BT /SK50—GSK25—105 105 | 62 62 5.2
BT /SK50—GSK25—135 135 | 92 92 5.4
B e O AT e | B | S e
BT /SK50—GSK25—200 200N ERIE7| BNET 6.0

26 27


user
Штамп

user
Штамп


KAMA////MCM

ZY—10054 MAS403—-1982 #i5T

RETENTION KNOB

30"

—]

mm
A5 Model No. D D1 D2 M L L1 L2 H Hi1 S
LDB—P30T( 0 ) 12.5 7 11 M12 43 23 18 5 2.5 | 45° 60° 90°
LDB—P40T( 0 ) 17 10 15 M16 60 35 28 6 3 45° 60° 90°
LDB—P45T( 0 ) 21 14 19 M20 70 40 31 8 4 45° 60° 90°
LDB—P50T( 0 ) 25 17 23 M24 85 45 35 10 5 45° 60° 90°
ZY—10056 JIS B6339—1986 }i%] RETENTION KNOB
%]
__j 15
30°
1]
L LA
L
mm
A= Model No. D D1 D2 M L L1 L2 H H1
LDJ—30P 12.5 8 12 M12 43 23 .4 18.4 5 3
LDJ—35P 12.5 11 15 M12 44 24 19 5 3
LDJ—40P 17 14 19 M16 54 29 23 7 3
LDJ—45P 21 17 23 M20 60 30 23 7 4
LDJ—50P 25 21 28 M24 74 34 25 7 5
LDJ—55P 31 27 36 M30 98 48 36 11 7
Retention knobs DIN 69872
A " 15° B " ol
= Q = & = \]y} &
mm
Model No. D D1 D2 M L L1 L2
LDD—30A (B) 13 9 13 M12 44 24 19
LDD—40A (B) 17 14 19 M16 54 26 20
LDD—45A (B) 21 17 23 M20 65 30 23
LDD—50A (B) 25 21 28 M24 74 34 25



user
Штамп

user
Пишущая машинка
Retention knobs DIN 69872

user
Пишущая машинка
Model No.


KAMA////IMCM

ZY—10060 ANSI/ASME B5.50—1985 #ij%] RETENTION KNOB

;__ 30
- Y/ P
A
L__
L ‘
mm
#UE Model No. D1 D2 M L L1 L2 H H1
LDA—30 9.78 13.21 1/2"-13 27.94 11.68 8.13 2.54 1.01
LDA—40 12.45 18.80 | 5/8"—11 38.10 16.26 11.18 3.05 1.52
LDA—45 15.37 23.88 | 3/4"-10 | 45.72 20.83 14.73 4,06 2.03
LDA—50 20.83 28.96 1"-8 58.42 25.4 17.78 5.08 2.54
ZY—10062 1SO/DIS7388,/2—1984A #i%] RETENTION KNOB
H ‘1;7\
—H‘i 300
L
mm
EJZ2 Model No. D D1 D2 M L L1 L2 H H1
LDI—-30A 13 8 12 M12 44 24 19 4 3
LDI—40A 17 14 19 M16 54 26 20 4 4
LDI—45A 21 17 23 M20 65 30 23 5 5
LDI-50A 25 21 28 M24 74 34 25 6 7
ZY—10064 1SO/DIS7388,/2—1984B #i%] RETENTION KNOB
mm
B 2 Model No. D D1 D2 M L L1 L2 H Hi
LDI—-30B 13 9.3 11323 M12 27 11.8 8.1 2.7 1.2
LDI—40B 17 12.95 18.95 M16 44 5 16.4 11.15 3.25 1.75
LDI—45B 21 16.3 24.05 M20 56 20.95 14.85 4.25 2.25
LDI-50B 25 19.6 29.1 M24 65.5 25.55 17.95 5.25 2.75

29


user
Штамп


KAMA////MCM KAMA////IMCM

4

f8F Germany DIN 2080—A NT [E| PR International 1SO 7388 /1—A JT

th[E China GB10944

HZ Japan MAS 403 BT %E[E America ANSI B5.50 CAT

4
{EE Germany DIN69871 SK
BT30 CAT30
e 126 47.625 19.05
1.1
7.24 M 724 Y
NT30 4738 gjr o \| = I e 23
\— 2 - Le JE— - S < g
724 7:24 > 2 s8] /8 ][ 8
o AN 4 % 1\ & o8 —
= I 7 T 5 5 =|3 2 18.67 | 16.26 15.88
) b e Ly R = ' 3505
68.4 N o
gk
16 8 V|
[z
BT40 654 16.6 CAT40 68.25 11‘91-05
724 M 724 I3t
NT40 68.4 191 I o ) In| N ol
. & 3 © g RN -2 E — 3|8
. | ‘.El T 3 _;}‘ 2 ] /3 ML
~lg _/E I
e +H i3 A=
b ®IR 226 2 2502 | 22.61 15.88
- ' 3505
159
35
JT45 BT45 822 212 CAT45 82.55 "191.05
NT45 313204 827 19.1 724 724 -
11.1 L
724
7:24
1€ g C e 3 e 1 T - YE R
© <|q - | (3 | s ] /& T ] =|®
:' sl T\ 2 g I
E -3 ) g 2 B o
,_/ ]
106.8 29.1 30 31,37 | 28.96 15.88
159 i 3505
32 |2 <
JTS50 BT50 CATS0
- - 1.4
iy
NT50 377 385 101.75 111?.1 720 N 720
24 — 7:24
- @ N 7 2 83
! | 3 @ | Q - 2 : — & &
< . / = 2 =g m g 1 8 d1 /& &
| &1 AN 2 Z, I & L@ I -]
I 8 ¢ SE
3 | I
1268 g 35 3772 | 3531 1588
159 = ' |05 |
32 [12

30



user
Штамп

user
Штамп


KAMA////IMCM KAMA////MCM

ZY—20002 DIN6499B ﬁ}ﬁERgﬁU;&% ZY—-2000210 CSK%%@%’;& CSK HIGH SPEED DOLLET
ER SERIES COLLETS WITH STANDARD DIN6499B L1 Z
1. R RN 1. Made of special elastic steel material i —r DT
2. %Ak, £EHEEI, BHES 2. Power clamping ability, precise accuracy 5{ { | =
. TizHTEE. 8. sh. M. E. 3. Used for boring,milling, drilling, tappping, grinding and engraving e ﬂ;‘ |
HEZIZm T operation etc. It el
<|__1 L
3 o ng;\z d a1 | d2 | a3 | @ | L | wu L2 L3~ ORMAEREEM 65Mn
- . . HRC44-48
o -%;{:— = i ) CSK06 8.9(8.6) 10.5 7.5 6 7.8 25 17.5 3.5 2.5 O
Sl a T’i = =1 |16 CSK10 13.7(13.1) | 15.6 | 12 10 12 | 30.5 22 5 2.3
] @ CSK13 18.5 20.1 | 17 13 15 39 28 5 2.5 ©OMade of special esastic steel.
) ] CSK16 21.3(20.6) | 24.6 | 18.8 | 16 19 45 32 8 2.8 65Mn
2 3 CSK20 26.5 30 24 20 23 50 42 8 2.8
L CSK25 | 31.1(29.9) | 35.6 | 28.8 | 25.4 | 28.2 | 57 43 §5 | 2.9 O Hardness;HRC44—48
ER11—ER50 ER8
CSK06 CSK10 CSK13 CSK16 CSK20 CSK25
] =2 : = A3 = = A3 = - Y = - 3 = - A3 = o A3 = e
M%I-ﬁ d H7 D D: D2 L Ls L2 Ls c Hgﬁ'r%&éﬁi . iTES | EE iTRES SEE iTES | BE iTES SEE iTRES SEE iTEs | EE
odel No. ollapsible capacity Order No. | RANGE | Order No. | RANGE | Order No. | RANGE | Order No. | RANGE | Order No. | RANGE | Order No. | RANGE
ER8 =>1.0~5.0 8 8.45 6.5 13.5 2.98 1.5 1.2 0.5 CSK06-2 2-1.75 |CSK10-2 2-1.75 [CSK13-3 3-2.75 |CSK16-3 3-2.75 |CSK20—4 4-3.5 [CSK25-6 6—6.65
CSK06—2.5 |2.5-2.25|CSK10-2.5 2.5-2.25 |CSK13—3.5 | 3.5-3 |CSK16-3.175 | 3.175—-2.7 |CSK20—4.5 45-4 |CSK25-8 8-6.75
ERT1 =>1.0~7.0 1 1.5 9.5 18.0 3.8 2.5 2.0 0.5 CSK06—3 3-2.75 |CSK10-3 3-2.75 |CSK13—4 4-35 |CSK16-3.5 3.5-3 |CSK20-5 5-5.5 |CSK25-10  |10-9.5
>1.0~2.5 16 17 13.8 27.5 6.26 4.0 2.7 0.5 CSK06-3.5 | 3.5-3 |CSK10-3.175 | 3.175-2.7 |CSK13—4.5 | 4.5-4 |CSK16—4 4-35 |CSK20-5.5 55-5 |CSK25—12  |12—11.5
ER16 CSK06—4 4-35 |CSK10-3.5 3.5-3 |CSK13—5 5-4.5 |CSK16—4.5 45-4 |CSK20-6 6-5.5 |CSK25—14  |14—13.5
>2.5~10.0 16 17 13.8 27.5 6.26 4.0 2.7 1.0 CSK06—4.5 | 4.5-4 |CSK10-4 4-35 |CSK13-5.5 | 5.5-5 |CSK16-5 5-4.5 |CSK20-6.5 | 6.5-6 |CSK25—16  |16-15.5
>10~25 20 21 17 4 315 6 36 48 28 05 CSK06-5 5-4.5 |CSK10-4.5 4.5-4 CSK13-6 6-5.5 |CSK16-5.5 5.5-5 CSK20-7 7-6.5 |[CSK25-16.5 |[16.5—16
ER20 = - . . . . . . . CSK06-5.5 55-6 |CSK10-5 5-45 [CSK13-6.5 | 6.5—6 |CSK16—6 6-5.5 |CSK20-7.5 7.5-7 [CSK25-17 17-16.5
>2.5~13.0 20 21 17.4 31.5 6.36 4.8 2.8 1.0 CSK06—6 6-5.5 |CSK10-5.5 55-5 [CSK13-7 7-6.5 |CSK16—6.5 6.5—6 |CSK20-8 8-7.5 |[CSK25-17.5 [17.5-17
CSK10—-6 6-5.5 |CSK13—7.5 | 7.5-7 |CSK16—7 7-6.5 |CSK20—-8.5 8.5-8 |CSK25—18  |18-17.5
ER25 =>1.0~2.5 25 26 22.0 34.0 6.66 5.0 3.1 0.5 CSK10—-6.5 6.5-6 |CSK13—8 8—7.5 |CSK16-7.5 7.5—7 |CSK20—9 9-8.5 |CSK25-18.5 |18.5-18
>2.5~16.0 25 26 22.0 34.0 6.66 5.0 3.1 1.0 CSK10—-7 7-6.5 |CSK13-8.5 | 8.5-8 |CSK16-8 8—7.5 |CSK20-9.5 9.5-9 |CSK25-19  [19-18.5
CSK10-7.5 7.5—7 |CSK13—9 9-8.5 |CSK16-8.5 8.5-8 |CSK20—10 10-9.5 |CSK25-19.5 [19.5-19
ER32 =>2.0~2.5 32 33 29.2 | 40.0 | 7.16 | 5.5 3.6 0.5 CSK10-8 8-7.5 |CSK13-9.5 | 9.56-9 |CSK16-8 98,5 |CSK20-10.5 | 10,6-10 |CSK25-20 | 20-19.5
>2.5~20.0 32 33 29 2 40 0 7 16 55 36 1.0 CSK10—-8.5 8.5-8 |CSKI3—10 | 10-9.5 |CSK16-9.5 9.5-9 |CSK20—11 11-10.5 |CSK25—20.5 |20.5-20
. . . . . . . . CSK10-9 9-8.5 |CSK13—10.5 | 10.5—10 | CSK16—10 10-9.5 |CSK20-11.5 | 11.5—11 |CSK25—21 21-20.5
ER40 >3.0~26.0 40 41 36.2 46.0 7.66 7.0 41 1.0 CSK10-9.5 9.5-9 [CSK13-11 11-10.5 [CSK16—10.5 10.5-10 [CSK20-12 12-11.5 [CSK25-21.5 [21.5-21
CSK10-10 10-9.5 |CSK13—11.5 | 11.5—11 |CSK16—11 11-10.5 |CSK20—12.5 | 12.5-12 |CSK25-22  |22-21.5
ER50 =6.0~10.0 50 52 46.0 60.0 12.6 8.5 5.5 1.0 CSK13—12 | 12—11.5 |CSK16—11.5 11.5-11 |CSK20—13 13-12.5 |CSK25—22.5 |22.5-22
>10.0~34.0 50 52 46.0 60.0 12.6 8.5 5.5 2.0 CSK13-12.5 | 12.5-12 |CSK16—12 12-11.5 [CSK20-13.5 | 13.5-13 |CSK25-23 23-22.5
CSK13—13 | 13—12.5 | CSK16—12.5 12.5-12 |CSK20—14 14-13.5 |CSK25—23.5 |23.5-23
- s . — CSK16—13 13-12.5 |CSK20—14.5 | 14.5-14 |CSK25-24 | 24-23.5
FEEER  Inspection of Accuracy b L f2mBkzh Run out tolerance CSK16-13.5 | 13.5-13 |CSK20—15 | 15—14.5 |CSK25-24.5 |24.5-24
I I CSK16—14 14-13.5 |CSK20—15.5 | 15.5-15 |CSK25—25 | 25—24.5
CSK16—14.5 14.5-14 |CSK20—16 16-15.5
1.0~1.6 6 CSK16-15 15-14.5 |CSK20—16.5 | 16.5-16
© >1.6~3.0 10 CSK16—15.5 15.5-15 | CSK20—17 17-16.5
0.008 0.015 CSK16—16 16—15.5 [CSK20-17.5 | 17.5-17
; >3.0~6.0 16 CSK20—18 18-17.5
o — CSK20-18.5 | 18.5-18
R 28 CSK20—19 19-18.5
>10.0~18.0 40 CSK20-19.5 | 19.5-19
L CSK20—20 20-19.5
>18.0~26.0 50 0.008 0.015
~26.0~30.0 60 FSEHM . Inspection of Accuracy -
(A
>30.0~34.0 80 0.008 0.015 ; ZHEBE (Run out) | b
. \ - A %% (A class) A% (A class) .
R TASTRESR, — AR || o 0 | 4, WEHHIT R, a2 — ﬁ o { - S— | —
If no special requirement,we would supply to you according to ][] grade;if you require | grade,the price would be advanced - e S It MY

32 33


user
Штамп

user
Штамп


KAMA////MCM KAMA////IMCM

ZY—-2000212 GSKEERIEEfEMENE GSK HIGH SPEED NUT WITHOUT KEYWAY ZY—20004 ERC #Y3z3  ERC COLLET
1.%f#l. 65Mn 1.Material; 65Mn
M fg |% N - - : D M 2.FEfF. HRC44~48 2.Hardness: HRC44~ 48
odel o. | Figl Fig2 . flgz " 3.$5RF. DINGAOOKR 3. Accuracy of DING499 standard
GSK6 15 21 19.5 | M15.5X1 —[‘“—TlT ‘
GSK10 17 24 | 27.5| M21.5X1 H '[J
GSK16 24 31 40 | M32.5X1.5 : —! - 30%

GSK25 30 37 50 M45X1.5

GSK20 27 35 48 | M40X1.5 Suit t020000rpm  Suit to30000rpm Wﬁ‘(;}

NN
ZY—2000214 GSKiE%k4RF GSK BALL SPANNER FIZ Model No. L & d D L
ER16C—d 2—-10 16.6 27.5
Bs
Model No. D M ER20C—d 2—-13 21.6 31.5
GSK06 19.5 120 L ER25C—d 2—-16 25.6 34
GSK10 27.5 130 ER32C—d 3-20 32.6 40
GSK16 40 193 ER40C—d 3—-26 40.6 46
GSK20 48 200 S
GSK25 50 210 ZY—20006 ERG #UTyr£23ks. TAPPING COLLET
1.4#4#%}. 65Mn 1.Material; 65Mn
2. W@ . HRC44~48 2 Hardness; HRC44 ~ 48
ZY—-2000216 GSKEiEfE3EIE GSK HIGH SPEED COLLET SET
30°
it m iz N
Model No. A Tpye PR e
=l = [ N
GSK10—8PCS 3,4,5.6,7,8,9,10 = Q
\ {1
GSK10—-17PCS 2,2.5,3,3.5,4,45,55.5,6,6.5,7,7.5,8,8.5,9,9.5,10 L L2
GSK16—7PCS 3,4,6,8,10,12,16 L
oocaes [FPEATIESE SIS TES SRS T OB
- - - #US Model No. ER16G—d ER20G—d ER25G—d ER32G—d ER40G—d
GSK16—14PCS 3,4,5,6,7,8,9,10,11,12,13,14 15,16 D 16 20 25 32 40
GSK25—7PCS 6,8,10,12,16,20,25 L 27.5 31.5 34 40 46
GSK25—11PCS 6,8,10,12,14,16,18,20,22,24,25 d 3.5~8 3.5~10 3.5~16 3.5~20 3.5~25
OIFEFITMREM AA ZREk A 28 B0 :CSK16—6AA
O EZ/IF 3mm, FKHSEE 0.25mm, HEEAKF 3mm M2 0.5mm 3.5X2.7 4.0X3.0 4.5X3.4 5.56X4.3 6.0X4.9 7.0X5.5
© When ordering, please specify the GRADE for sk collets is A or AA TYPE. For example;CSK16—6AA dxa 8 OX6. 2 9 0X7.0 10X8 .0 11X9 .0 12X9 0 14X11
© The gripping range of dia below 3mm is 0.25mm. The gripping range of dia over 3mm is 0.5mm - - : - - - -
16X12 18X14.5 20X16 22X18 25X20

34 35


user
Штамп

user
Штамп


KAMA////MCM KAMA////MCM

ZY—20008 ER JEif§ ER NUT ZY—20010 ER #gF ER SPANNER

)
AIE Model No. B L iEHEME Clamping Nut
SPANNER—ER11 17 110 ER11—A ER11-T1
' _ SPANNER—ER16 25 120 ER16—A ER16-T1
L4 N SPANNER—ER20 30 130 ER20—A ER20-T1

M-6H
M-6H
M-6H

M-6H
£
D
D
F="=l"
N
D

N

M-6H

S = J, ®
& /

. -z

L L ) | L
AR BEY \VEid] T1HY T28Y #UZS Model No. B L E A ENE Clamping Nut
S Nodel N e y— o) v S SPANNER—ER25—S 37 210 ER25—B ER25-T2
ode 0. e mm mm = VVt
= =P =T SPANNER—ER32—S 45 250 ER32-B ER32-T2
ER1T-A A 19 n.s M14x0.75 0.005 SPANNER—ER40—S 58 290 ER40-B ER40—T2
ER16—A A 28 17.5 M22x1.5 0.01 SPANNER—ER50—S 72 350 ER50-B ER50-T2
ER20—A A 34 19 M25 % 1.5 0.05
ER25—B B 42 20 M32x 1.5 0.14
ER32—B B 50 22.5 M40X 1.5 0.20 § 1
L
ER40—B B 63 25.5 M50 x 1.5 0.30 . !
ER50—B B 78 35.5 M64 X 2 0.50 BIE Model No. L Hitg Size iIEA JENE Clamping Nut
ERS—M M 12 12 M10X0_75 0.005 SPANNER—ER25 168 38-42 ER25—B ER25—T2
ERT1_M " " 0 M13%0.75 0 01 SPANNER—ER32 190 45-52 ER32—B ER32-T2
SPANNER—ER40 210 55—63 ER40—B ER40-T2
ER16—M M 22 18 M19x 1 0.05
SPANNER—ER50 240 78—85 ER50—B ER50—T2
ER20—M M 28 19 M24 x 1 0.05
ER25—M M 35 20 M30 X 1 0.08 D —
ER11—T1 T1 19 9 M14x0.75 0.005
L
ER16—T1 T1 28 17.5 M22x 1.5 0.01 '
= N = -
ER20—T1 T1 34 19 M25% 1.5 0.05 £ 5 Modal Nox B L B IR Clamping Nut
SPANNER—ERSM 7.5 70 ER8—M
ER25—T2 T2 42 20 M32x 1.5 0.14
SPANNER—ER11M 1 90 ER11—M
ER32—T2 T2 50 22.5 M40X 1.5 0.20
SPANNER—ER16M 15 110 ER16—M
ER40—T2 T2 63 25.5 M50 % 1.5 0.30 e 19.5 0 =]
ER50—T2 T2 78 35.5 M64 X 2 0.50 SPANNER—ER25M 25 130 ER25—M

36

37


user
Штамп

user
Штамп


KAMA////IMCM KAMA////MCM

ZY—-20012 ER E3#E$IzsL ER MILLING CHUCK SET ZY-20014 C/ER EiRIEFKAT (MBU/\fZE2ME) C/ER Straight shank collet chuck and extension type

1 BEGSRLEEIZRLMNE, 1XEE, BEXRLRIZRF

2. REHEHMTER

1.A set included: 1 collet chuck,1 clamping nut, full set of
collets snd 1 spanner

2 Packed in a wooden case or plastic case

Is
W = 74 Hole size EH/E E' |
Model No. in mm Pcs/set Shank 0]:_[_4/ I Nr| A
_ 3/32 1/8 3/16 7/32 RS il
ER16—8in(mm) 234567810 8 ' -
1/4 5/16 11/32 3/8 MT2 ~MT6 L
ER25—6in (mm) 1/8 3/16 5/16 3/8 1/2 5/8 4681012 16 6 NT30 NT40
NT50
3/32 1/8 3/16 1/4 5/16 AI-S Model No. L I2 I3 D t1
ER25—10in (mm) 218 18 34568101214 1516 | 10 c8 Cio
3/8 7/16 1/2 9/16 5/8 C 8 X ER8M—55 79 24
C12 Ci16
ER32—6in (mm) 1/4 5/16 3/8 1/2 5/8 3/4 68 10 12 16 20 6 C20 C25 C10 < ER8M—100 17
32 1/8 3/16 1/4 5/16 3/8 C32 C40 C10 X ER8BM—150 167
ER32—12in(mm 34568101214 1516 18 20 " —
(mm) 716 1/2 9/16 5/8 11/16 3/4 12 | 1/2" strsh C10 X ER8M—180 197 17 6 12 M4 x0.7
RA0—8in () 5/8" str.sh C12 X ER8M—55 72
—8in(mm 1/8 1/4 3/8 1/2 5/8 3/4 7/8 1 358 1215 18 22 26 ,
8 | 3/4 strsh C12 X ER8M—120 137
1// t h
ER40—15in (mm) 1/8 3/16 1/4 5/16 3/8 7/16 1/2 3 :‘651: :012212412615 s | 1/4j'ts h C12 X ER8M—180 197 26.5
- str.s
9/16 5/8 11/16 3/4 13/16 7/8 15/16 1 12X ER1 V80 P
FeI (KR FFIELr  Thread of draw bar C16XER11M—50 66.6 166
N N s C16 XER11M—100 116.6 ' 6.6 16 M5x0.8
#E# Taper of collet chuck FFFHE4r Thread of draw bar
C16 X ER11M—140 156.6
R8 7/16"—20UNF X %6.
7.24 30 M12X1.75 1,/2"—13UNC C16 X ER16M—80 117
7.24 40 M16x2.0 5,8"—11UNC C20 X ER16M—100 125 .
7:24 50 M24x 3.0 1"—8UNC C20 X ER16M—140 165 10.6 22 M10x 1.5
MT2 M10x 1.5 3,/8"—16UNC C20 X ER16M—160 185
MT3 M12x1.75 1/2"—13UNC €20 X ER20M—60 100
MT4 M16x2.0 5/8"—11UNC
/ C20 X ER20M—100 140
MT5 M20x 2.5 3/4"—10UNC 40
C20 X ER20M—120 160 11.5
1 1T4EHs A= I3z 3 AF = - S e E | AY--| ==
THR, RIS HAHRSULXHAME (AHEIEN) S — " W
2 THEMGEE LR, EEREMNERERKE
3 BATETMRBERER, RS RS AR, Sk C20 X ER20M—180 220
1.Please notify the thread of collet chuck draw bar and the specification of collets (metric or inch) C25 X ER20M—140 168 28
2 .Please notify the length of straight shank anc.i dia. i . . C20% ER25M—100 150 50 12 35
3.We are glad to supply collets and chucks with different shank and quantities according to your requirement

3 39


user
Штамп

user
Штамп


KAMA////IMCM KAMA////MCM

ZY—-20016 C/ER HE#ZEIHFF C/ER Straight shank collet chuck and extension type ZY—20018 DIN6388A }R/AEEOCZ % $ktJzsL DIN6388A EOC COLLETS

by
L2 1:10

3 g{* ~ 4‘?

D1

mm
#UE Model No. D D1 d L L1 L2 L3

EOC,/0Z6 10 1.5 1~6 21 3.5 0.5 4
EOC,/0Z8 12.65 14.5 1~8 26 4 0.8 4.5
EOC,/0Z10 15.15 17.2 1~10 30 4.5 0.8 4.5
EOC,/0Z12 17.75 19.8 1~12 34 5 1.1 4.5
EOC,/0Z16 2265 25.5 2~16 40 5.5 1.2 5.5
EOC,/0Z20 27.4 29.8 2~20 45 6 1.35 6
EOC,/0Z25 32.9 35.05 2~25 52 6 1.4 6
EOC,/0Z32 41.3 43.7 4~32 60 6 1.45 7
EOC,/0Z40 49.7 52.2 6~ 40 68 6 1.45 8
EOC,/0Z50 61.1 63.8 8~50 80 7 1.55 9

RIS Model No. L I2 t1 E 2 (kg) Weight TR THETIBE# a2 h11 Clamp workpiece or tooling shank tolerance hi11

o e = 6.6 Mex1.0 o ZY—20020 DING388B #fAEOCEKH4Eszs. DIN6388B EOC COLLETS

C16 X ER16A—100 140 M10x 1.5 0.20 w/ e S 1:10

C16 X ER16A—150 190 40 0.28 5(/5 _____

C20 X ER16A—50 90 0.25 5 = ;

C20 x ER16A—100 140 0.35 N

C20 X ER16A—150 190 0.40 E mm

C20 X ER20A—60 100.5 M12Xx1.75 0.35 BJZ Model No. D1 D d L L1 L2 L3

€20 X ER20A—120 160.5 40.5 9.40 EOC16B 25.5 22.65 2~16 40 5.5 1.2 9.5

€20 X ERZ0A-TEO 229.5 0.9 EOC20B 29.8 27.4 2~20 45 6 1.35 10

C20 X ER20A—140 175.1 0.50 : : :

520 XERZ550 e 51 0.40 EOC25B 35.05 32.9 2~25 52 6 1.4 10

C20 X ER25—100 151 0.45 EOC32B 43.7 41.3 4~32 60 6 1.45 11

C20 Rl iise 515 e EOC40B 52.2 49.7 6~ 40 68 6 1.45 12

zigiigj’z;ﬂo ::;f — Rl Zi: EOC508 63.8 61.1 8~50 80 7 1.55 13

C25 X ER20A—140 175.1 40.5 M12x1.75 0.55 =AEFEE: 0.5mm  Max clamping range:0.5mm

zzziigzzjgo 12} 51 g;‘; ZY—200202 868116Z 5|33L 868116 EOC COLLETS

C25 X ER32—50 101.5 51.5 0.60

C25 X ER40—-50 115 65 M16x2.0 2.10 4 &

C32 X ER32—60 111.5 ~ - 1.15 8;:381-]1%6 10 H:i /:;Zé 12 E

C32 X ER32—100 151.5 : 0.80

C32 X ER40—-50 115 65 2.23

40


user
Штамп

user
Штамп


KAMA////IMCM KAMA////IMCM

TREWA Inspection of Accuracy Z[BkZ Run out tolerance ZY—20026 EOC/0Z ZFl|E34EHS. EOC/OZ MILLING CHUCK SET
P : I II
© 1.0~1.6 6 1. BERFLEEIZ IR, 1. A set included: 1 collet chuck,1 clamping nut,
ﬂl:l i >1.6~3.0 10 1S ENE, BEXRLIRIZIRF full set of collets snd 1 spanner
= = >3.0~7.0 16 0.010 0.015 2. KESEREEE 2. Packed in a wooden case or plastic case
H L >7.0~10.0 25
>10.0~18.0 40
>18.0~24.0 50 0.015 0.020
s - >24.0~30.0 | 60 Ja—l =1
YA TAFBRER, — M I REE, mE IR, N
FUEFEITE . HIRBINL >30.0~50.0 80 0.020 0.030
If no special requirement,we would supply to you
according to |l grade,if you require | grade,the price would be advanced
] = d 2 =
ZY—20021 EOC/0Z8 [EM§ EOC,/0Z8 CLAMPING NUT Mo%i."ﬁo_ Piéﬁt p— — ki Wi (kg)
R8—EOC /0Z /8mm (in) R8 3.58
. ) - 30—EOC /0Z /8mm (in) NT30 2.52
. H 1l | : ﬂ 40—EOC /0Z /8mm (in) NT40 2.61
- e 45—EOC/OZ/8mm(?n) . 1/81/4 NT45 3.09
50—EOC,/0Z /8mm (in) 3/8 1,2 NT50 3.92
MT3—EOC /0Z /8mm(in) 8 1215 18 5/8 3,4 MT3 2.32
ZY-20022 EOC/0Z [EH1E ZY—20024 EOC/0Z ifF MT4—EOC /0Z /8mm(in) 2225 7/8 1 MT4 2.57
EOC/0Z CLAMPING NUT EOC /0OZ SPANNER MT5—EOC /0Z /8mm (in) MTS 3.48
1"—EOC /0Z /8mm(in) 1" 2.18
T 1—1/4"—EOC /0Z /8mm(in) 1—-1/4" 2.78
15 Fﬁ R8—EOC,/0Z /15mm (in) R8 4.42
H 30—EOC,/0Z /15mm(in) 1/8 3/16 NT30 3.37
. 40—EOC/0Z /15mm(in) 1/4 5/16 NT40 3.7
— — | L ? — 45—EOC/0Z /15mm(in) 63 84 152) 3/8 7/16 NT45 4.29
MO%ZI-?\-IO. mDm mLm T Mo%zel-qNo. mLm Dt?;%ftasﬂzm;) 50-E0C//0Z /15mm(in) 5 12 14 15 1/2.9/16 NT50 N
YMEOC /076 18 14 M14x 1 B/EOC /0Z6 90 18~21 MT3—EOC,/0Z/15mm (in) 16 18 20 5/8 11/16 MT3 3.52
YMEOC /0Z8 26 19 M20x 1.5 B,/EOC /0Z8 125 2226 MT4-EOC,/0Z/15mm (in) 222425 | 3/413/16 MT4 3.75
YMEOC /0Z10 30 19 M22x 1.5 B/EOC /0Z10 140 28~ 32 MT5—EOC,/0Z/15mm (in) 7/8 15/16 MT5 4.65
YMEOC /0712 35 20 M27x 1.5 B,/EOC /0Z12 154 34~36 1"—EOC/0Z/15mm(in) 1 1 e
YMEOC /0Z16 43 2 M33x 1.5 B,/EOC/0Z16 168 38~ 42 1-1/4"—EOC/OZ/15mm(in) 1-1/4" 3.80
YMEOC /0720 50 28 M42 x 2 B,/EOC,/0Z20 190 45~52 1.iTEREY, 1EiE AR e SRR RIAT AR S R S LRI RAE (23 3 i)
YMEOC /0225 60 30 M48 x 2 B/EOC,/0Z25 210 55~ 62 2 i THEMBFRLE, EERERNEERKE
YMEOC /0232 72 335 | M60x2.5 B,/EOC,/0Z32 230 68~ 72 3. HAVEAMRERER, RUAFIERAREIRERSL, KLk
YMEOC /0740 85 37 MB8 X 2.5 B /EOC /0740 240 2885 1.Please notify the thread of collet chuck draw bar and the specification of collets (metric or inch)
2 Please notify the length of straight shank and dia
OG0 1o¢ = MEDGers DA 2y =iy 3.We are glad to supply collets and chucks with different shank and quantities according to your requirement

42 43


user
Штамп

user
Штамп


KAMA////MCM KAMA////MCM

ZY—-20028 JM71 BUE#{FISL JIM71 STRAIGHT SHANK COLLETS ZY—-20032 ZHR#sEIL QUICK ACTION MILLING CHUCK

ZERBEEFHRIINE, TERINEEMNS, EHTHRIMEMVA, BEFREEEB/NTH, REHKITEBNIR

BEE, BRORXNEEREEOHZET, BIERE.
7 This quick—action chuck set was developed to optiaction the time—con suning exchange of the various milling tools in
a _6#2 - their mounts.The quick—action mounts is inserted into the spindle,Just as with convertional tapered tool shanks.Then the
| tool mounts are inserted into the quick—action mount and secured by one quarter of the bayunet lock.All components of
T - the set are precision—made hardened,and precision—ground.
IS Model No. D(mm) d(mm) L(mm)
C16 16 4—12 45
C20 20 4—16 50
Cc22 22 4-16 55 S '
C25 25 4-20 60 =
C32 32 4-25 65 _LI\I': H 5
C40 40 6—32 80 =SE
C42 42 6—32 80
ZY—20030 Z5tstetdesLELE  MILLING CHUCK SET fUZS Model No. JXT16—40 #l = Model No. JXT25-50
1Mt E 1quick—action mount 1NMRRIEE 1quick—action mount
VEEXREAK, BOEESHES, B3 1. The milling chuck clamp with exceptional force and with 14 Je Sk ik B8 ek lcollet chuck & 8 collets |1/ 3e 34k T3 9% Sk 1collet chuck & 9 collets
BFEAEIMmT a very tight tolerance on run out (4568101214 16) | (4568101214 16) | (6810 12 14 16 18 20 25) | (6 8 10 12 14 16 18 20 25)
2. AE B TR T i AMT2 ~ MT5, 2. Used for the spindle taper of milling machine;R8, MT2~ M MERIS2dEE 1mount MT1 INER22thigE 1mount MT2
7.24 30~ 50 R84ERY Pk R MT5,7.24 30~50 IMER2EHEE Tmount MT2 INER3EFEE Tmount MT3
3.EENEIAE IS Ik, BELLBILIRE 3. A set included: 1 collet chuck, full set of collets and 1 spanner IMNERISHEE Tmount MT3 MRR4ASHEE Tmount MT4
1/ B12§55E#F 1drill arbor B12 1/B16§5#E4F 1drill arbor B16
11MEE Ik 1drill chuck 1N5h 33k 1drill chuck
TN RE S T 1face mill arbor 1MNEEEE T 1face mill arbor
IROAE S ES 1hook spanner 2NESRTFE 2hook spanner

1 RIS B3

Run out of quick action collets

2. B ERZ @ B S

Run out of mount

= 7
] = 3z k- -

Mo%zjel-?lo. Pi?ﬁt clampiig*?a,r% (mm) HRED Shank Do) :
C16 6 45681012 S 50 d(mm) <5 >5-12 >12 LICHERS Morse Taper No. | 1 2 3 4
C20 8 45681012 14 16 MT3 MT4 56 L (mm) 30 50 100 L (mm) 30 50 75 100
c25 10 45681012 14 16 18 20 S 63 4% Error(mm) 0.02 0.025 0.03 4% Error (mm) 0.025
C32 1 45681012 14 16 18 20 25 T ets 70
c42 12 6810 12 14 16 18 20 25 28 30 32 90 3. BRI EAT AR @ BEE) <O. 015mm 4 ¥R TIFFROAZ B B 3 <0.02mm

1. ITERRY, IEERARSARE S RITFTIRLL

Pease notify the thread of collet chuck draw bar

Redial run out of drill arbor <0.015mm

Radial run out of face mill arbor<<0.02mm

Tl
-— =

4 45

2. BATEATRBENER, REFEAAEREHHIRERL, KKk

We are glad supply collets and chucks with different shank and quantities according to your requirement


user
Штамп

user
Штамп


KAMA////IMCM

ZY—20034 PETJ]#132sL SHARPENER COLLETS

1.Material; 65Mn
2.Hardness: clamping part HRC55~ 60
elastic part HRC40~ 45

1.%14}: 65Mn
2.7E . FiFERHHRCE5 ~60
28 14 [XHRC40 ~ 45

S20%2
220

122

35°12°

#U-S Model No. d
in mm
M—d
1/8~5/8 3~16
ZY-20036 DING341 2#%& L DIN6341 COLLETS

1.%1#}. 65Mn 1.Material; 65Mn

218 . FEEBR4rHRCE55~60 2.Hardness; clamping part HRC55~ 60
5[4 XHRC40 ~ 45 elastic part HRC40~ 45

JIEAFEMBER 3.This unit is applicable to all sorts of automatic lathes

A7
N
o = EEEEEEEEEEE%E%EEEE%EEE*—133 o
/
L
#IE Model No. di(mm) D (mm) L(mm) dmax (mm) g FEEWit(kg)

k8—d 8 12 45 5 M8x0.75 0.06
k10—d 10 15 52 6 Tr10Xx 1 0.09
k12—d 12 18 60 8 Tr12x1 0.1
k16—d 16 24 70 11 Tr16X%x1.5 0.12
k20—d 20 28 80 15 Tr20%x 1.5 0.15
k23—d 23 32 90 18 Tr23%x 1.5 0.21
k28—d 28 38 100 22 Tr28x 1.5 0.23
k32—d 32 45 110 27 Tr32%1.5 0.27
k45—d 45 60 140 36 Tr45 % 2 0.32

46

ZY—20038 DIN6343 X3k

1,444}, 65Mn

278 . FiFERHHRCES ~60
3814 [XHRC40 ~ 45

BERTFRMER. NAEKE

1.Material, 65Mn
2.Hardness: clamping part HRC55 ~ 60

KAMA////IMCM

elastic part HRC40~ 45

DIN6343 CLAMPING COLLETS

3.This unit is applicable to all sorts of automatic lathes,turret lathes

@@( 5 8 |30
S P L

o= FL1& Hole size(mm) =

Model No. D1(mm) D2(mm) L (mm) y S v E=Wit(kg)
DIN6343—F17.5 17.5 22 51 13 8 10 0.05
DIN6343—F22 22 30 55 16 11 13 0.08
DIN6343—F27 27 38 72.7 22 15 19 0.10
DIN6343—F28 28 38 70 22 15 19 0.12
DIN6343—F32 32 45 75 26 18 22 0.27
DIN6343—F35 35 48 80 30 21 26 0.35
DIN6343—F42 42 55 94 36 25 30 0.49
DIN6343—F48 48 60 94 42 29 36 0.57
DIN6343—F56 56 68 94 50 35 42 0.65
DIN6343—F66 66 84 110 60 42 52 1.16
ZY—20040 4ffE3sL TAPER COLLETS

Taper
e |
| _____
L

A= Model No. JMT1—d JMT2—d JMT3—d JMT4—d J7B&S—d JOBRS—d
SERF Taper MT1 MT2 MT3 MT4 B&S7 B&S9
fLiE d in | 1/16~5/16 | 1/8~1/2 1/8~3/4 1/8~1 1/8~1/2 1/8~3/4
Hole size | mm 2~8 2~12 3~20 3~25 2~12 3~20

D (mm) 12.2 18 24 1 31.5 18.4 27.08

L (mm) 5. 68 86 108 79.4 105
52 Wt(kg) 0.05 0.08 0.10 0.38 0.096 0.32

47


user
Штамп

user
Штамп


KAMA////MCM KAMA////MCM

ZY—20042 4FLESR4E5%L KEYLESS DRILL CHUCK WITH TAPER MOUNTED ZY—20044 $B4r7l B %st453L  KEYLESS DRILL CHUCK WITH THREAD MOUNTED

1.P. DERBRFERK. SR, HK. SAAREVARLER.
2. MERFMIAL, BIEKRESHEVAER.

1.Grade P&D is used in lathe  milling machine  boring machine_ drilling bench etc.

BRAFER. $tK. sk, BB TERKRIVMEIK LER.

Used in lathe, milling machine_ drilling bench_ electric hand and woodworking machine etc.

2.Grade M is used in high precision machine—tool, such as machining center and digital control machine,

RIS
%
RAORAARS

o

L L
B = L e R~ D L #[E Runout mm
Model No. Capacity Mount mm mm . "
P D M B 2 kH5TEHE R D L FEE Runout
Jo106 0.5~6mm B10 Model No, Capacity Mount mm mm mm
34 72
J0206 1/64" ~1/4" Jm J0306 0.5~6mm M10X1 4 64
Jo108 0.5~8mm B12 " 0 JO306A 1/64" ~1/4" 3/8 " —24UNF
J0208 1/64" ~5/16" JT2 J0308 0.5~ 8mm M10X1
Jo110 1~10mm B12 42 82 JO308A 1/64" ~5/16 " 3/8 " —24UNF 40 80
J0210 J12 0.12 0.16 J0308B 0.5~8mm N12X1.25
1/32" ~3/8" 44 88
JO210A JT33 0 06 J0308C 1/64" ~5/16" 1,/2 " —20UNF
Jo113 B16 44 97 ' Jo310 1~10mm M10X1
JO113A 1~ 13mm B16 J0310A 1/32" ~3/8" 3/8 " —24UNF " o6 0.20
J0213 JT33 49 100 JO310B 1~10mm M12X1.25
J0213A 1/32" ~1/2 JT6 J0310C 1/32" ~3/8" 1,/2 " —20UNF
JO116A B16 110 J0313 1~13mm M10X1
3~ 16mm
Jo116 B18 110 JO313A 1/32" ~1/2" 3/8 " —24UNF
54 0.14 | 0.20 | 0.07 / / / 44 o
J0216 JT6 110 J0313B 1~13mm M12X1.25
1/8 " ~5/8 " n n n
JO216A J13 110 Jo313C 1/32" ~1/2 1/2 " —20UNF
J0120 5~ 20mm B22 Jo316 3~16mm M12X1.25
60 125 0.18 0.25
J0220 3/16" ~3/4" JT3 JO316A 1/8" ~5/8" 1,/2 " —20UNF n s 7
J03168B 3~16mm M16X1.5 '
S 4 R Al
VTSR0, 5 RS B AR5 J0316C 1/8" ~5/8" 5,/8 " —16UNF

Please notify the grade in the order,

48 49


user
Штамп

user
Штамп


KAMA////IMCM

ZY—20048 J45 RUTT£23zsL  J45 TAPPING CHUCK

ZRELHERMBLRERB AR, EEREFNEREMERE. RLXEFTIRFRIPNAFRFFM. SHEF
PRI LR, REFTES, AAESARMITEHE, Fﬁtéﬁ%&?ﬁﬁ‘ﬁ FIERE.

This unit is consisted of chuck and tap collet.The chuck has installed compensating device for thread pitch.There
are two different tap collets,one with overload protection and one without., When using the tap collet with overload
protection,the protection device can automatically release to avoid tap—break,Just adjust nuts and you can get the

different release torque quickly and conveniently,

"

@e§6§ ® - :

W r
y = = oy

Mo%{el-?lo. gﬁaﬁ( TaIp%%g,E;af\ge D (mm) D1 (mm) d(mm) L1 (mm)
D30-12 DIN69871 .30 31.75 59
D40—-12 DIN69871 .40 44 45

D50—12 DING9871.50 M3 ~ M12 36 69.85 19 62
B30-12 BT30 31.75 59
B40—12 BT40 44 .45 64
B50—12 BT50 69.85 75
D30—-20 DIN69871 .30 31.75

D40-20 DIN69871 .40 44 45

D50-20 DIN69871.50 M7 ~ M20 53 69.85 31 o
B30—-20 BT30 31.75

B40—-20 BT40 44 .45

B50—20 BT50 69.85

D30-36 DIN69871 .30 31.75

D40—-36 DIN69871 .40 44 45

D50—36 DIN69871 .50 M14 ~M36 78 69.85 48 e
B30—36 BT30 31.75

B40—36 BT40 44.45

B50—36 BT50 69.85

50

ZY—20050 TCSEIA HINLEk

KAMA////IMCM

TCS TAPPING TORSION TAPPING COLLET

&) ™
__v—,_| ]
© =hH S &
g7 —
pil R ISO DXa DIN371 DXa DIN376 Dxa |JIS (HZ ) DXxa d(mm)
M2 2.8%x2.25 2.8%x2.1 2,5%x2.1 3x2.5
M3 (1/8) 3.15%2.5 3.5%x2.7 4%3.2
M4 (5/32) 4x3.15 4.5%3.4 5x4
M5(3,/16) 5x4 6x4.9 5.5X4.5 19
M6(1,/4) 6.3%x5 6x4.9 6x4.5
M8(5,/16) 6.3X%X5 8X6.2 6x4.9 6.2%X5
M10(3/8) 8X%6.3 10x8 7%X5.5 7%X5.5
M12 9% 7.1 9x7 8.5X6.5
1/2" 9% 7.1 9x7 Ix7
M14(9,/16) 11.2%9 11X9 10.5%8
M16 12.5%x10 12X 9 12.5%10
5/8" 12.5%x10 12X9 12X%9 31
M18(3/4) 14%11.2 14 %11 14 %11
M20 14%11.2 16x12 15%12
M22(7/8) 16x12.5 18x14.5 17%13
M24 18X 14 18x14.5 19% 15
M27(1") 20X 16 20Xx 16 20x15
M30 20% 16 22x18 23x17 48
M33 22.4%18 25x20 25x%19
M36 25x20 28X 22 28 x 21
PT1,/16-28 8X6 19
PT1,/8-28 8X6
PT1,/4—19 11X%X9
PT3,/8-19 14 %11 31
PT1/2—14 18%14
PT3/4—14 23%x17 48
1k N BN AR HFRPEE, HEFE 2. TRFESHANARE, MEdRERW: 19-3.5%2.7-1I
1.With overload protection device inside the chucks torque adjustable
2.Show the specification in the order,with diameter of shank in the form as 19—3.5X2.7— |
ZY—200501 NI Lt Sedkikas TAPPING COLLET ADAPTER
Fii = L D d
2 j TCS1B—2B| 41.5 31 19
TCS2B—3B 62.8 48 31

51


user
Штамп

user
Штамп


KAMA////MCM KAMA////IMCM

ZY—200502 #F73z3Li&E#ESE TORSION CLAMP CONNECTOR ZY—20056 R8 2#%dzsL RS COLLETS
1. ##}. 65Mn 1. Material; 65Mn
) B s d H NO.S 2. TEEE. JiHER4yHRCE5~ 60 2. Hardness; clamping part HRC55~ 60
T JTS1B 19 10 B12 B16 3814 X HRC40 ~ 45 elastic part HRC40 ~ 45
NO%____J = JTS28 31 16 B18 B20 3. EHFEHEFL AHRSAIZFhEL 3. This unit is applicable to all sorts of milling machines,
JTS38 48 24 Bk, HNX6325. X5325% which spindle taper hole is R8,such as X6325_ X5325 etc.

8 &

ZY—-20052 EFCihFLS#4ER] MORSE TAPER DRILLING SLEEVES

Fn.12
7/16'20

MT.NO. v _—___jL: ______________ z E 17
________ 101. 6
[=] - -
2343 Clamping range
L T8-S Order No. BRI Type ’ . =8 Wi(kg)
mm In
R8—01—d [E7L Round 1~20 1/16~7/8 0.24
fUZ Model No. MT.NO. d(mm) D (mm) L (mm) R8—02—S A FL Square 3~13 1/8~1/2 0.24
TZ1—d MT1 2.24~8.0 12.31 67 R8—03-H 757 FL Hex 3~16 1/8~5/8 0.24
TZ2—d MT2 4.75~12 18.06 80 " .
FSEWM Inspection of Accuracy d L @B Run out
TZ3—d MT3 11.2~18 24.15 80
mm in mm in mm
TZ4—d MT4 16~25 31.66 90
1~1.6 1/32~1/16 6.35 0.0005 0.013
TZ5—d MT5 19~30 447 160.5 s @
’r z >1.6~3 | >1/16~1/8 12.7 0.0005 0.013
[ ‘ ‘/}7 — >3~10 | >1/8~3/8 25.4 0.0005 0.013
ZY-20054 BERRI4314ER MORSE TAPER TAPPING SLEEVES L >10~16 | >3/8~5/8 38.1 0.0005 0.013
>16~20 | >5/8~7/8 50.8 0.0005 0.013
MTNO. s
ZY—20058 R8 3z3L}y#F R8 COLLETS DRAW BAR
D'uTH ------ /\ I
B N -/ (_L Il
: 1 B H B Free—a—
A2 Model No. MT.NO. d(mm) D(mm) L (mm) . =
TGO—d MTO 2.47~4.53 9.2 59.5 iT#2 Order No. X Type L (mm) L1 (mm) T =82 Wi(kg)
TG1—d MT1 2.5~8 12.31 67 LG,/R8—1 518 50.8 M12 0.57
TG2—d MT2 5.95~12 18.06 80 LG /R8—1A | 518 50.8 7,/16” —20UNF 0.51
TG4—d MT4 16~24 31.66 90 LG,/R8—2A | 600 128 7,/16” —20UNF 0.75
TG5—d MTS 22~34 44.73 156 LG,/R8—01C I 633 128 7,/16” —20UNF 0.85
1G6—d MT6 34~ 38 63.76 217.5 LG,/R8—01D I 551 50.8 M12 0.62



user
Штамп

user
Штамп


KAMA////MCM Bt ) FKAMA////MCM

ZY—20060 #$gFgh3ksL KEY TYPE DRILL CHUCK ZY—-30002 7.24/MT TEZRE(FEZ) 7:24 TO MT ADAPTER(END OPENING TYPE)

1. EaH. BRSEEI. 2. MATHK. K. $hK. KRINM. 3. sEBRZIFEIA.

1. Suitable for medium_  heavy duty drilling use.
2. For milling machine_  lathe_  drilling machine, °
wood working machine.
3. High speed drilling can be performed for .
possessing high griping power,
#US5 Model No. 7:24 NO.S MT.NO. D (mm) D1(mm) d(mm) L (mm)
_ NT30—MTB1 30 MT1 24 31.75 12.065 75
iTEae F#58E  Capacity EERST 4pZ D KE L - NT30—MTB2 30 MT2 30 31.75 17.780 100
Order No. mm in Mount mm mm Wt. (kg) NT30—MTB3 30 MT3 36 31.75 23.825 130
12110 1-10 1/32-3/8 B12 425 20 0 34 NT30—MTB4 30 MT4 48 31.75 31.267 162.6
2113 13 1 /3221 /2 S16 53 ” 063 NT40—MTB1 40 MT1 24 44 .45 12.065 80
: NT40—MTB2 40 MT2 30 44 .45 17.780 85
J2513 1.5-13 1/16-1/2 B16 44 8 0.45 NT40—MTB3 40 MT3 3 44.45 23.825 100
J2516 3-16 1/8-5/8 B16 53 86 0.63 NT40—MTB4 40 MT4 48 4445 31.267 145
J2516A 3-16 1/8-5/8 B18 53 86 0.63 NT40—MTB5 40 MT5 61 44 45 44,399 225
J2116 3—-16 1/32-5/8 B18 57 98 1.00 NT50—MTB1 50 MT1 25 69.85 12.065 127
J2116A 1—-16 1/32—5/8 B16 57 93 0.82 NT50—MTB2 50 MT2 32 69.85 17.780 127
12120 5_20 3/16-3/4 B22 65 110 1.40 NT50—MTB3 50 MT3 40 69.85 23.825 127
12210 1-10 1/32-3,8 12 425 o 0 34 NT50—MTB4 50 MT4 48 69.85 31.267 127
NT50—MTB5 50 MT5 61 69.85 44399 180
J2213 1-13 1/32—1/2 JT6 53 86 0.63
J2213A 1-13 1/32—-1/2 JT33 53 86 0.63
12613 1.5-13 | 1/16-1/2 JT33 ha 78 0.45 ZY—30004 7.24/MT 42%E (F4F8Y) 7.24 TO MT ADAPTER(DRAW BAR TYPE)
J2616 3-16 1/8-5/8 JT3 53 86 0.63
J2616A 3—-16 1/8-5/8 JT6 53 86 0.63 7:24 NO.S —
J26168B 3-16 1/8-5/8 JT33 53 93 0.65 L—-__ 1 T
J2216 1-16 1/32-5/8 JT3 57 98 1.00 T s AN I
T ] o2
J2220 5-20 3/16—-3/4 JT3 65 110 1.40 —o= ‘L_T.___ _
N |
ZY—200601 7.243z3 Z%|| 7.24 COLLET SERIES L
#IE Model No. 7:24 NO.S MT.NO, D(mm) D1(mm) d(mm) L (mm)
DIN2080. 30—1W 30 MT1 25 12.065 105
DIN2080. 30—2W 30 MT2 2 A7) 17.780 118
DIN2080. 30—3W 30 MT3 40 23.825 155
DIN2080 ., 40—1W 40 MT1 25 12.065 120
DIN2080. 40—2W 40 MT2 32 17.780 120
DIN2080., 40—3W 40 MT3 40 e 23.825 140
DIN2080. 40—4W 40 MT4 48 31.267 178
9 — DIN2080. 40—5W 40 MT5 61 44399 238
s i DIN2080. 50— 1W 50 MT1 25 12.065 160
L DIN2080.50—2W 50 MT2 32 17.780 160
69.85
= : 160
ue ] 2 ; S ne 0 . E = ue e DIN2080 . 50—3W 50 MT3 40 23.825
DIN2080.50—4W 50 MT4 48 31.267 180
SK40 S20X2 | 96.5 |44.65| 3725 |S20X2 MK4 S20x2 | 105 [31.592| 3725 [S20X2  DIN2080.40 M16 [105.5| 44.9 | 3725 | M16 DIN2080.50—5W = — - 4,399 210



user
Штамп

user
Штамп


KAMA////MCM KAMA////MCM
ZY—-30006 7.24/MT TERE(REIX) 7:24 TO MT ADAPTER(WITH TANG) ZY—-30010 7.24 §h#=#F 7:.24 DRILL CHUCK ARBORS

7:24 NO.S

- [6]90.01[A ]
P \MT.NO. L+ ©| o NO.S .
|
+

IS Model No. 7.24 NO.S MT.NO, D (mm) D1(mm) d(mm) L(mm)
DIN2080 . 30—MTAT1 MT1 25 12.065 118
DIN2080 ., 30—MTA2 MT2 32 17.780 118
DIN2080.30—MTA3 30 MT3 40 31.75 23.825 138
DIN2080.30—MTA4 MT4 48 31.267 212 EIE Model No. D d L M 2 | B2 Model No. | D d L M 2
DIN2080_40—MTA1 MT1 25 12,065 143 7:24—N0 .S mm mm mm Wt (kg) 7:24—N0O .S mm mm mm Wt (kg)
DIN2080 . 40—MTA2 MT2 32 17.780 143 DIN2080.30—-J0 6.350 99 0.313 | DIN2080.50—J6 17.170 | 184 2.739
DIN2080 . 40—MTA3 MT3 40 23.825 158 DIN2080. 30—J1 9.754 | 106 0.326 | DIN2080.50—J3 |gg g5|20.599 | 191 |pM24| 2.777
DIN2080. 40—MTA4 0 MT4 48 .45 31.267 188 DIN2080.30—J2S 13.940| 109 0.341 | DIN2080.50—J4 28.550 | 202 2.953
DIN2080 . 40—MTA5 MT5 61 44399 273 DIN2080 . 30—J2 14.199| 113 0.349 | DIN2080.50—J5 35.890 | 208 3.178
DIN2080. 50—MTA MTT1 25 12,065 172 DIN2080.30—J33 | 31-7° [15.850| 122 | M'2| 0 377 | DIN2080.30-B10 10.094 | 104 0.325
DIN2080.50—MTA2 MT2 32 17.780 187 DIN2080.30—J6 17.170| 122 0.388 | DIN2080.30—B12 12.065 | 108 0.330
DIN2080.50—MTA3 50 MT3 40 69.85 23.825 192 DIN2080.30—J3 20.599| 123 0.426 | DIN2080.30-B16 | . |15.733| 116 | . | 0.372
DIN2080.50—MTA4 MT4 48 31.267 197 DIN2080 . 30—J4 28.550| 136 0.602 | DIN2080.30—B18 17.780 | 124 0.393
DIN2080.50—MTA5 MT5 61 44399 232 DIN2080 . 30—J5 35.890| 145 0.827 | DIN2080.30—B22 21.793 | 133 0.460
DIN2080. 40—J0 6.350 | 126 0.789 | DIN2080.30—B24 23.825 | 143 0.518
DIN2080 . 40—J1 9.754 | 133 0.797 | DIN2080.40—B10 10.094 | 132 0.801
ZY—-30008 7.24/R8 IwILXE 7.24 TO R8 ADAPTER
DIN2080.40—J2S 13.940| 136 0.817 | DIN2080.40—B12 12.065 | 136 0.809
DIN2080 . 40—J2 14.199| 141 0.829 | DIN2080.40-B16 |, ,5|15.733 | 143 |\ o 0.848
DIN2080.40—J33 | 44.45 15 850| 145 | M16 | 0.853 | DIN2080.40—B18 17.780 | 151 0.869
ﬁo DIN2080 . 40—J6 17.170| 145 0.864 | DIN2080.40—B22 21.793 | 160 0.936
4 DIN2080. 40—J3 20.599| 150 0.902 | DIN2080.40—B24 23.825 | 169 0.994
DIN2080 . 40—J4 28.550| 165 1.028 | DIN2080.50—B10 10.094 | 170 2.684
: DIN2080 . 40—J5 35.890| 170 1.303 | DIN2080.50—B12 12.065 | 174 2.676
DIN2080 . 50—J1 9.754 | 175 2.672 | DIN2080.50-B16 |gg g5| 15.733 | 182 |ppg| 2.723
AIZ Model No. 7.24 NO.S D1 (mm) L (mm) D (mm) DIN2080.50-J2S | oo oo [13.940| 177 o 2.692 | DIN2080.50—B18 17.780 | 195 2.744
OThET % v 192 = DIN2080.50—J2 14.199| 180 2.704 | DIN2080.50—B22 21.793 | 200 2.811
SIC030 70FE ' e - DIN2080.50—J33 15.850| 184 2.728 | DIN2080.50—B24 23.825 | 215 2.869
DIN2080.50—R8 50 69.85 175 o

56

o1
~J


user
Штамп

user
Штамп


KAMA////MCM

ZY—-30012 37$%7]J#F END MILL ADAPTERS

KAMA

ZY-30014 FEX$tJIJ#F SHELL END MILL ARBORS

////MCM

MT2 ~MT6 R8
. MT.NG.
- I~ 7
=z //IH AL T | | ZIlZ 1
| |
[ © | )
MT2A ~MT6A DIN2080. 30 ~DIN2080. 50
NI NO.
T i
i
= o [l
©
\\ ) [
EEE d EE d
SHANK mm SHANK in
6 1/4
MT2. MT3_ MT4, 180 MT2. MT3_ MT4, 53/ 186
MT5_ MT6 - MT5_ MT6 1; 5
MT2A_ MT3A_ MT4A_ = MT2A_ MT3A_ MT4A_ o
MT5A . MT6A ™ MT5A . MT6A 3,4
DIN2080.30_ DIN2080.40 - DIN2080.30_ DIN2080.40 "
DIN2080.50 20 DIN2080.50 1—1/4
R8 25 R8 =10
32 2
40 2-1/2

MT2 ~MT6 R8
| ; —= ] I el
| T
L

MT2A ~ MT6A DIN2080. 30 ~ DIN2080 .50
ERE d EER d
SHANK mm SHANK in

MT2. MT3, MT4, 13 MT2, MT3, MT4_ 1/2
MT5_ MT6 16 MT5_ MT6 5/8
MT2A_ MT3A_ MT4A . 22 MT2A_ MT3A_ MT4A . 3/4
MT5A . MT6A 27 MT5A . MT6A 7/8
DIN2080.30_ DIN2080.40_ e DIN2080.30_ DIN2080.40_ U

DIN2080.50 40 DIN2080.50 1-1/4

50 =1

R8 R8

60 2

iE: ITMRHEEREERRFLEZ

58

iE: ITMRHEERERRR I ER

59


user
Штамп

user
Штамп


KAMA////MCM KAMA////IMCM

ZY—30016 EEHAX$EJI#F COMBI SHELL END MILL ARBORS ZY—30020 R8 T-{2ZE R8 TO MS SLEEVES
MT2 ~MT6 L
T || | IMS.NO.W——Q
1 1 l
L

L

L L | | | MS.NO——O‘

vy I A\
j | B ﬁL ] — <L
| I ‘_ -0
1 ] I_I!—/_
I . M N0 O J L iTH# 2 Order No. [MS.NO.W | D(mm) | L(mm) |iJB2 Order No. | MS.NO | D(mm) | L(mm)
BR8—1W 1 12.065 102 BR8—1 1 12.065 114
DIN2080 . 30 ~ DIN2080. 50
BR8—2W 2 17.780 105 BR8—2 2 17.780 127
AR d BR8—3W 3 23.825 135 BR8—3 3 23.825 153
SHANK mm BR8—4W 4 31.267 218 BR8—4 4 31.267 240
13
16
MT2. MT3_ MT4_ MT5 2

L DIN2080.30, DIN2080.40, - ZY-30022 E[rEZE MORSE TAPER SLEEVES

M - | DIN2080.50 =
N - R8 40
/
-

—n_'c
J—] MS. NO. S
Qﬁ% B 50
724 /
E. T AR IS Ty = v\o
ZY—30018 E&HEASEE TIAEMMHE ATTACHMENT OF COMBI SHELL END MILL ARBORS L
iTRES = BE
Order No. MS NO.S MS.NO.T D(mm) | d(mm) | L(mm) Wt(kg) | Accuracy (mm)
BZ2—1 2 : 18 B— 74 0.10 o
BZ3—1 3 24 1 = 0.24 .
- . BZ3—2 2 17.780 0.12
DRIVE RING SPANNER e SCREW 42 Dia of arbors :
¥R RF 257 TIFHEE . 3 N ——
DRIVE RING—13 SPANNER—13 SCREW—13 13 S 4 2 G5 o % o
DRIVE RING—16 SPANNER—16 SCREW—16 16 BZ4—3 3 23.825 0.38 i
DRIVE RING—22 SPANNER—22 SCREW—22 22 BZ5—2 2 17.780 1.49 '
DRIVE RING—27 SPANNER—27 SCREW—27 27 BZ5-3 g E 44.7 | 23.825 | 110 1.36
= 4 7
DRIVE RING—32 SPANNER—32 SCREW—32 32 B25a4 3128 Q.
BZ6—3 3 23.825 3.58
DRIVE RING—40 SPANNER—40 SCREW—40 40 a— 6 7 63.8 | 31267 | 130 T o
DRIVE RING—50 SPANNER—50 SCREW—50 50 s 195 -
5 44399 ;
DRIVE RING—25 .4 SPANNER—25 .4 SCREW—25 . 4 25.4 BZ7-5 7 83.56 195 1.69

60 61


user
Штамп

user
Штамп


KAMA////IMCM KAMA////IMCM

ZY—30024 273 EIT{EE 273 MORSE TAPER SLEEVES ZY-30026 3&S1{EzhT12E STRENGTH-DRIVEN SLEEVES

NS o MS.N0S
(ME. NO.S)
A{ -_\—__ =l
o 3]» — — S MSNO T2
MS.NO. T = = o
\ l— _— _\ N By S
L1 -
L
1TES =
Order No. MS.NO.S MS.NO.T D(mm) d(mm) L (mm) Wt (kg)
THE Order N MS.NO.S MS NO T L (rmen) Lt (mrm) D(rmom) () BSD2—1 2 1 17.780 12.065 92 0.10
rdaer o, . . mm 1(mm mm mm
WEs ME.NO.S BSD3—2 3 2 23.825 17.780 112 0.12
273-20/10 MS2 1 60 56 17.780 12 065 BSD4—3 4 3 31.267 23.825 140 0.38
. .
273-30/10 MS3 66 23.825
273-30,/20 ) 70
2734020 17.780 ZY—30028 EIKIF/ZE (F4FHE!) MORSE TAPER SLEEVES(DRAWBAR TYPE)
MS4 63.5 31.267
273-40,/30 3 23.825
273-50,/20 2 17.780 s
273-50,/30 MS5 3 77 70.5 44399 23 825 I -
273-50,/40 4 31.267 — — — — T
T :‘[r MS.NOT o -
273-60,/30 3 23.825 I S N
273-60,/40 MISE 4 110 103.5 63.348 31.267 B -
- L
273-60,/50 5 44 399
273-04,/30 3 23.825
ME40 70 40
273-04,/40 4 31.267
273-05,/30 3 23.825 N N
| 928 TES FEEL Accuracg
273-05/40 ME50 4 86 50 31 267 Order No. MS.NO.S MS.NO.T D (mm) d(mm) L (mm) (mm)
273-05 /50 5 44,399 BM2—1 2 1 17.780 12,065 108.5
273-06,/40 VSO 4 100 5 31.267 BM3—1 3 1 23.825 12,065 106
273—06 /50 5 44,399 BM3—2 3 2 23.825 17.780 116
0.01
273-07/40 VETO 4 - 31.267 BM4—1 4 1 31.267 12.065 110
273-07 /50 5 44,399 BM4—2 4 2 31.267 17.780 120
273-08 /40 4 A 31,267 BM4—3 4 3 31.267 23.825 140
273-08,/50 MESO 5 80 44 399 BM5—1 5 1 44,399 12.065 136
273-08,/60 6 63.348 BM5—2 5 2 44,399 17.780 136
0.02
273-09,/50 e 5 - = 44 399 BM5—3 5 3 44 399 23.825 148
273-09,/60 6 63348 BM5—4 5 4 44 399 31.267 176

62 63


user
Штамп

user
Штамп


KAMA////MCM

ZY—30030 DIN2187 jn{c312E EXTENSION SOCKET WITH MS. HOLE

MS.NO. S

(ﬂ\, = MS.NO.T__-oi D[

MS. NO. S
M ‘Z)LF MS.NO. T __T,JQ
[ ' 1__
L

oﬂfi, MS.NO.S | MS.NO.T | D(mm) | d(mm) | L(mm) | = (%) *%’E( n’f;‘:)”’acy
BL1—1 1 20 12,065 145 0.19

BL1—2 1 2 30 17.780 160 0.40

BL1-3 3 36 23.825 181 0.40

BL2—1 1 20 12.065 160 0.29

BL2—2 2 30 17.780 175 0.50

BL2—-3 2 3 36 23.825 196 0.60

BL2—4 4 48 31.267 221 1.43

BL3—1 1 20 12,065 175 0.41

BL3—2 2 30 17.780 194 0.62 003
BL3-3 3 36 23.825 215 0.89

BL3—3A 3 3 40 23.825 215 1.10

BL3—4 4 48 31.267 240 1.55

BL3—5 5 63 44399 275 2.80

BL4—1 1 20 12.065 200 0.81

BL4—2 2 30 17.780 215 1.00

BL4—3 3 36 23.825 240 1.27

BL4—4 4 4 48 31.267 265 1.93

BL4—5 5 63 44,399 300 3.18

BL4—6 6 85 63.348 368 6.50 0.05
BL5—1 1 20 12.065 232 1.79

BL5—2 2 30 17.780 247 2.00

BL5—3 3 36 23.825 268 2.27 0.04
BL5—4 2 4 48 31.267 300 2.93

BL5—5 5 63 44399 335 4.18

BL5—6 6 85 63.348 403 6.70 0.05
BL6—1 1 20 12.065 294 4.40

BL6—2 2 30 17.780 309 4.25

BL6—3 6 3 36 23.825 330 4.52 0.04
BL6—4 4 48 31.267 355 5.18

BL6—5 5 63 44,399 390 6.43

64

ZY—-30032 R8 fhiE#F R8 DRILL CHUCK ARBORS

7/16" —20UNF

KAMA////IMCM

$ 2412

A3 = = kY =
T aos | B | L) | iy |TERR RGN D | Lem) | i)
R8—JO 6.350 117 0.393 R8—J5 35.890 154 0.742
R8—J1 9.754 122 0.409 R8—B6 6.350 118.5 0.250
R8—J2S 13.940 125 0.400 R8—B10 10.094 124 0.386
R8—J2 14.199 128 0.414 R8—B12 12.065 128 0.408
R8—J33 15.850 132 0.418 R8—B16 15.733 135 0.440
R8—J6 17.170 132 0.426 R8—B18 17.780 143 0.454
R8—J3 20,599 137 0.465 R8—B22 21.793 152 0.514
R8—-J4 28.550 148 0.600 R8—B24 23.825 162 0.567
ZY—-30034 E1E5#EFF STRAIGHT SHANK DRILL CHUCK ARBORS
,>N0. S
- s |
b
L
JTEE Order No. o - NO.S D1(mm)

D—-JO 6 JO 6.350

D—J1 8 J1 9.754

D—-J2 10 J2 14.199

D—-J3 3/8" 12 J3 20.599

D-J4 1/2" 13 J4 28.550

D—J5 5/8" 14 J5 35.890

D—-J6 7/8" 16 J6 17.170

D—J33 3/4" 20 J33 15.850

D—B6 1" 25 B6 6.350

D—-B10 1—-1/4" 26 B10 10.094

D—B12 1-1/2" 32 B12 12.065

D—B16 1-3/4" 35 B16 15.733

D—B18 36 B18 17.780

D—B22 40 B22 21.793

D—B24 50 B24 23.825

E. MFBEHRITH,

Z=3FAADXL1XNO .S—L. If specially order, please note;DXLi1XNO.S—L

65


user
Штамп

user
Штамп


KAMA////MCM KAMA////IMCM

ZY—30036 jEiuBIEREIRAT ZY—-30038 HEREREHHET
MORSE TAPER DRILL CHUCK ARBORS WITH DRAW BAR MORSE TAPER DRILL CHUCK ARBORS WITH TANG

MS. NO.S

MS. NO.W
_<|—\ NO. S -
_ /
v[ -
- JTEAS Order No. d L JTEAS Order No. d L JTEAS Order No, d L

MS.NO ., W—-NO.S mm mm MS.NO.W—-NO .S mm mm MS.NO.W—-NO.S mm mm

{TE#2 Order No. 4 L 472 order No. 4 L | i7ES order No. 4 ] MS0—B6 6.350 | 75 MS2-B22 21.793 | 128 MS4—B18 17.780 | 164
MS.NO.W—NO.S| mm | mm |MS.NO.W—NO.S| mm mm | MS.NO.W-NO.S| mm | mm MS0—B10 10.094 | 80 MS2—B24 23.825 | 138 MS4—B22 21.793 | 172
MSOW—JO 6.350 | 67 MS2W—J6 17.170 | 97 MS4W—J33 15.850 | 137 MS0—B12 12,065 | 84 MS2—-B18S 17.431 | 113 MS4—B24 23.825 | 182
MSOW—J1 9.754 | 72 MS2W—J33 15.850 | 97 MS4W—B10 10.094 | 130 MS0—B16 15,733 | 91 MS2—-J0 6.350 | 94 MS4-J0 6.350 | 138
MSOW—J2 14,199 | 78 MS2W—B10 10.094 | 90 MS4W—B12 12.065 | 134 MS0—B18 17.780 | 99 MS2—J1 9.754 | 100 MS4—J1 9.754 | 143
MSOW—J3 20,599 | 87 MS2W—B12 12.065 | 94 MS4W—B16 15.733 | 141 MS0-B22 21.793 | 108 MS2—J2 14.199 | 105 MS4-J2 14.199 | 149
MSOW—J6 17.170 | 81 MS2W—B16 15,733 | 101 MS4W—B18 17.780 | 149 MS0—B24 23.825 | 118 MS2—J3 20.599 | 114 MS4—J3 20.599 | 158
MSOW—J33 15.850 | 81 MS2W—B18 17.780 | 109 MS4W—B22 21.793 | 158 MS0—-JO 6.350 | 73 MS2—J4 28.550 | 125 MS4-—J4 28.550 | 169
MSOW—B10 10.094 | 74 MS2W—B22 21.793 | 117 MS4W—B24 23.825 | 168 MS0—J3 20.599 | 93 MS2—-J5 35.890 | 130 MS4-J5 35.890 | 174
MSOW-B12 | 12.065 | 78 MS2W—B24 23.825 | 127 MS5W—J2 14.199 | 161 MS0-J33 15.850 | 88 MS2-J6 17.170 | 108 MS4—J6 17.170 | 152
MSOW-B16 | 15.733 | 85 MS3W—J1 9.754 | 105 MS5W—J3 20.599 | 170 MS1-B10 10.094 | 86 MS2-J33 15.850 | 108 MS4—J33 15.850 | 152
MSOW-B18 | 17.780 | 93 MS3W—J2 14,199 | 111 MSEW—J4 28.550 | 181 MS1-B12 12.065 | 90 MS3-B10 10.094 | 120 MS5—B10 10.094 | 177
MSTW—J0 6350 | 71 MS3W—J3 20 599 | 120 MS5W—J5 35 890 | 186 MS1-B16 15.733 | 97 MS3-B12 12,065 | 124 MS5—B12 12,085 | 181
MS1W—J1 o 754 | 76 MSIW—1a 28 550 | 131 MSEW—J6 17.170 | 164 MS1—B18 17.780 | 105 MS3-B16 15.733 | 131 MS5-B16 15.733 | 188
MST1W—J2 14,199 | 82 MS3W—J5 35.890 | 136 MS5W—J33 15.850 | 164 MS1-B22 21.793 | 114 MS3-B18 17.780 | 139 MS5-B18 17.780 | 196
MS1W—J3 20.599 | 91 MS3W—J6 17.170 | 114 MS5W—B16 15.733 | 168 MS1-B24 23.825 | 124 MS3-B22 21.793 | 147 MS5—B22 21.793 | 204
MS1W—J6 17.170 | 85 MS3W—J33 15.850 | 114 MS5W—B18 17.780 | 176 MS1-J0 6.350 | 79 MS3—B24 23.825 | 157 MS5—B24 23.825 | 214
MSTW—J33 | 15.850 | 85 MS3W—B10 10.094 | 107 MS5W—B22 21.793 | 185 MS1-J1 9.754 | 85 MS3-Jo 6.350 | 113 MS5-J0 6.35 | 170
MSTW—B10 | 10.094 | 78 MS3W—B12 12,065 | 111 MSEW—B24 23.825 | 195 MS1-J2 14.199 | 90 MS3-J1 9.754 | 118 MS5—J1 9.754 | 175
MS1W—B12 12.065 | 82 MS3W—B16 15.733 | 118 MS6W—J3 20.599 | 224 MS1-J3 20.599 | 99 MS3—J2 14.199 | 124 MS5—J2 14.199 | 181
MS1W—B16 15.733 | 89 MS3W—B18 17.780 | 126 MSBW—J4 28.550 | 235 MS1—J4 28.550 | 110 MS3-J3 20.599 | 133 MS5-J3 20.599 | 190
MS1W—B18 17.780 | 97 MS3W—B22 21.793 | 135 MS6W—J5 35.890 | 240 MS1-J5 35.890 | 116 MS3—J4 28.550 | 144 MS5—J4 28.550 | 201
MS2W—JO 6.350 | 83 MS3W—B24 23.825 | 145 MS6W—J6 17.170 | 218 MS1-J6 17.170 | 94 MS3—J5 35.890 | 149 MS5—J5 35.890 | 206
MS2W—J1 9.754 | 88 MS4W—J2 14,199 | 134 MS6W—J33 15.850 | 218 MS1-J33 15.850 | 94 MS3-J6 17.170 | 127 MS5-J6 17.170 | 184
MS2ZW—J2 T MSAW—J3 20 599 | 143 MSBW—B16 15.733 | 222 MS2-B10 10.094 | 101 MS3—J33 15.850 | 127 MS5—J33 15.850 | 184
MS2W—J3 20.599 | 103 MS4W—J4 28.550 | 154 MS6W—B18 17.780 | 230 MS2—B12 12,065 | 105 MS4—B10 10.094 | 145 MS6—B16 15.733 | 250
MS2W—J4 28.550 | 114 MS4W—J5 35.890 | 159 MS6W—B22 21.793 | 238 MS2—B16 15.733 | 112 MS4-—B12 12.065 | 149 MS6—J3 20.599 | 252
MS2W—J5 35.890 | 119 MS4W—J6 17.170 | 137 MS6W—B24 23.825 | 248 MS2—-B18 17.780 | 120 MS4-B16 15.733 | 156 MS6-J6 17.170 | 246



user
Штамп

user
Штамп


KAMA////MCM

ZY—30040 #B4r5hiERF  MORSE DRILL CHUCK ARBORS

ZY—30044 =X FETIHHIEET
SCREW FOR SHELL END MILL ARBORS

KAMA////IMCM

o =
L

s |, | EROFEE | D | L | 78S |, | ERAAFEE | D | L

Order No. Dia of arbors(mm)| mm | mm | Order No. Dia of arbors(in) | mm | mm
SD—M6 M6 13 17 18 SD—1,/4-28 1/4"-28 1/2 16.7 21
SD—M8 M8 16 20 22 SD—3,/8-24 3/8"-24 5/8 3/4 22.2 27
SD—M10 M10 22 28 25 SD-1,/2-20 1/2"-20 7/8 1 30.2 33
SD—M12 M12 27 35 30 SD-5,/8-18 5/8"—18 1-1/4 38.1 39
SD—M16 M16 32 42 35 SD-3/4—-16 3/4"-16 1-1/2 47.6 | 45
SD—M20 M20 40 52 40 SD—1-12 1"-12 2 63.1 52
SD—M24 M24 50 63 48 SD—-1-1,/4-12 |1-1/4"-12 2—-1/2 69.85| 55
SD—M30 M30 60 75 53

ZY—30046 EREMEITIFF
STRAIGHT SHANK MILLING MACHINE ARBORS

di

25. 4

ITES
Order No. MS.NO.S L(mm) Li(mm) | L2(mm) | D(mm) d(mm) M
MS1-3 /8" —24UNF 83 13.5 24 3,/8" —24UNF
MS1-1/2"-200% MS1 85 15.5 62 27 12.065 1/2"~20UNF
MS1-M12X1.25 ' . M12x1.25
MS1-5 /8" —16UNF 88 17.5 29 5 /8" —16UNF
MS2—M10 X 1 o - 2 M10X 1
MS2—3 /8" —24UNF : 3 /8" —24UNF
MS2—M12 % 1.25 100 . . M12x1.25
MS2—1 /2" —20UNF MS2 : 75 17.780 1,/2"—20UNF
MS2—M16% 1.5 M16X 1.5
MS2—5 /8" —16UNF 103 17.5 29 5 /8" —16UNF
MS2—5 /8" —20UNF 5 /8" —20UNF
- M10X 1
MS3-M10x1 116 13.5 24
MS3—3,/8"—24 3,/8"—24UNF
MS3—M12x 1.25 M12x1.25
MS3 119 15.5 94 27 23.825 -
MS3—1 /2" —20UNF 1,/2"—20UNF
MS3—M16% 1.5 M16X 1.5
122 17.5 29
MS3—5 /8" —16UNF 5 /8" —16UNF
MS4—M12 % 1.25 MS4 145 15.5 117.5 31.6 31.267 M12x1.25
ZY-30042 [FRHE4rEhEERF MORSE DRILL CHUCK ARBORS
EIMS. NO.W
| = I%'d 3 z|o
L1 L2
L
3 D L L1 L2 D1
=
JTE2S Order No. o MS.NO.W e =i mm i M M2
MS2W—3/8"—24UNF | 24 88 13.5 3,/8"—24UNF
MS2W 64 17.780 M10% 1.5
MS2W—1/2"—20UNF | 27 91 15.5 1,/2"—20UNF
MS3W—3/8"—24UNF | 24 105 e 3,/8"—24UNF
MS3W 81 23.825 M12x1.75
MS3W—1/2"—20UNF | 27 108 15.5 1,/2"—20UNF

ITES - - jTEme : :
Order No. d1(in) d(in) L (mm) Order No. d1(in) d(in) L (mm)
DG1,/2—1/2 1/2 DG3,/4—1,2 1/2
102.4 108.7
DG1,/2-5 /8 5/8 DG3,/4-5,8 5,/8
DG1/2-3/4 3/4 DG3/4-3/4 3/4
/= 1/2 / 105.6 /4% 3/4 / 111.9
DG1,/2—7,/8 7/8 DG3,/4—7,/8 7/8
DG1 /2-1 1 DG3/4—1 1
/ 111.9 / (MISKS
DG1,/2—1—1/4 1-1/4 DG3,/4—1—1/4 ——



user
Штамп

user
Штамп


KAMA////MCM KAMA////MCM

ZY—30048 BT4EEHEZEEETJ4F SHELL MILL ARBORS ZY—30050 DINgER#EREETJ4F SHELL MILL ARBORS

DING9871. A

T/ il
—

mm
0 JTEAE Order No. D E— JTEES Order No. D =
DIN69871 . AXd—L1 Wt (kg) DIN69871 . AXd—L1 Wt (kg)
DIN69871.A30 X 16—60 32 1.0 DIN69871.A40x 27—-75 48 1.6
mm DIN69871 . A30 X 22—60 40 1.3 DIN69871 . A40 x 32—60 58 4.5
JTEAE Order No. D = JTEES Order No. D = DIN69871.A30 X 27—60 48 1.5 DIN69871 . A40 x 40—60 70 4.8
BTXd-L1 Wit(kg) BTXd—L1 Wi(kg) DIN69871 . A30 X 32—60 58 1.8 DIN69871 . A50 X 16—60 32 3.8
BT30 X 16—60 32 1.0 BT40 x 40—75 70 2.2 DIN69871. A30 X 40—60 70 2.2 DIN69871 . A50 X 22—60 40 4.0
BT30 X 22—60 40 1.3 BT40x 50—-70 90 2.5 DIN69871 . A40 X 16—60 32 1.2 DIN69871 . A50 X 27—60 48 4.2
BT30Xx 27—-60 48 1.5 BT50 X 16—60 32 3.6 DIN69871 . A40 X 22—60 40 1.3 DIN69871 . A50 X 32—60 58 4.5
BT30 X 32—60 58 1.8 BT50 X 16—75 32 3.9 DIN69871 . A40 X 27—60 48 1.4 DIN69871. A50 X 40—60 70 4.8
BT30 % 40—60 70 2.2 BT50 X 16—120 32 4.3 ] ]
= B (4 =4 T S — s i ) DAY > 3 33+ AH Y
BT40 X 16—60 32 1.3 BT50 X 22—75 40 4.0 2 *ﬁfﬁ%mﬂ"mﬂ%mﬁ; Tf*f’gﬁ%j/ 1 ZOOO'IP"" ’f‘ﬁ *%Fj"Gz's/ 2|3000;pr:, ‘IT’“"“]HT"E’EH}?*%'(’E -
BT40 % 16—120 - 17 BT50 X 22—100 40 45 1. en order please indicate the hilt the concrete form. If needs in the center cold and the flange water leakage hilt,
please mark AD/B.
BT40 x 22—45 40 1.5 BT50 % 22—120 40 5.0 i . i . o .
2. According to needs to be possible to provide the balanced hilt, the standard precision is G6.3,/12000rpm, the precise
BT40 X 22—60 40 1.7 BT50 x 27—60 48 5.5 L
precision is G2.5,/20000rpm .
BT40 x 22—100 40 3.0 BT50 X 27—105 48 4.0
BT40x 22—120 40 3.6 BT50 x 32—60 58 4.5 b 1R e /K
BT40 x 27—45 48 1.5 BT50 X 32—75 58 1.6 ZY—30052 ﬁ*ﬁRB_’z‘ IE R8 TAPER SLEEVES
BT40 x 27—60 48 1.6 BT50 x 32—105 58 1.8
MAS. BT
BT40x 27—75 48 1.8 BT50 x 40—60 70 2.2 \ 7
BT40 % 27—105 48 2.1 BT50 X 40—75 70 3.6 of | ]‘m__ ol o
BT40 X 27—120 48 2.3 BT50 X 40—90 70 3.7 “l 5
——
BT40 x 32—45 58 1.2 BT50 X 40—100 70 3.75
BT40 x 32—60 58 1.5 BT50 X 40—105 70 3.8 : .
BT40 x 32—75 58 1.8 BT50 X 50—60 90 4.0
BT40x 32—120 58 2.8 BT50 X 50—70 90 4.2 mm
BT40 x 40—60 70 2.0 BT50 X 50—120 90 4.4
= — o = — —— — iTES Order No. L D iTES Order No. L D
1. ITWEHEERA IRAARAER K, INFEF Ok S =2NmEFHKLEIR T4k, JFHREAAD,/BEL, HNBT40AD,/BX32-60, BT X R8—L1 BT X R8—L1
2, EE AR T , FRAE] #1G6.3,/12000rpm, FEZFEE HG2.5,/20000rpm, JTNARTIEEHR HE.
EBETRUHTAIIR, FRRMAHC.3/12000r0m, M HC2.5/20000r0m, TR AEHE — -~ e ———— == T
1. When order please indicate the hilt the concrete form. If needs in the center cold and the flange water leakage hilt,
BT30 X R8—135 183.4 SIS BT40 x R8—100 165.4 44 .45
please mark AD/B.
2. According to needs to be possible to provide the balanced hilt, the standard precision is G6.3,/12000rpm, the BT30 X R8—150 198.4 31.75 BT40 X R8—130 LS g
precise precision is G2.5,/20000rpm . BT40 X R8—75 140.4 44 45



user
Штамп

user
Штамп


KAMA////MCM KAMA////MCM

ZY—30054 #{3=7.24%12E 7.24 TAPER SLEEVES ZY—30056 HSK (AZ#Y) ER§%J]J4H ER COLLET CHUCK

/&
‘ s

L1

mm

iTES Order No. i E ] P 5 p .

HSK . AXER—L1 clamping range
HSK40AXER20—-80 1-13 100 60 40 34 M10X1.5
HSK40AXER25—-80 1-16 100 60 40 42 M10X1.5
HSK50AXER16—80 1-10 105 54 50 28 M10X1.5
HSK50AXER16—100 1-10 125 74 50 28 M10X1.5
HSK50AXER25—-80 1-16 105 54 50 42 M16X2.0
3 HSK50AXER25—100 1-16 125 74 50 42 M16X2.0
HSK50AXER32—-100 2-20 125 74 50 50 M16X2.0
mm HSK50AXER32—120 2-20 145 94 50 50 M16X2.0
iTEE Order No. REE | iTHE Order No. TEE HSK63AXER16—80 1-10 112 54 63 28 M10X1.5
DIN69871.AX7,24—L1 | L D | D1 | Figure BTX7.24—Li L D D1 Figure HSK63AXER16—100 1-10 132 74 63 28 M10X1 .5
DING9871.A40X ISO30-50 | 127.4 | 50 |44.45 3 BT40 X 1SO30—-50 124 .4 50 44 .45 3 HSK63AXER25—-80 1-16 112 54 63 42 M16X2.0
DING9871.A40X ISO40—100 | 179.4 | 63 |44.45 2 BT40 X 1ISO40—100 | 176.4 63 44 .45 2 HSK63AXER25—100 1-16 132 74 63 42 M16X2.0
DING9871.AB0 X ISO30-50 [160.75| 50 |69.85 1 BT50 X 1SO30—50 160.8 50 69.85 1 HSK63AXER25—120 1—16 152 94 63 42 M16X2.0
DING9871.AB0 X ISO40—70 |182.75| 70 |69.85 2 BT50 X 1SO40—70 182.8 70 69.85 2 HSK63AXER32—80 2-20 112 54 63 50 M16X2.0
DINB9871. A0 X ISO50—120 [235.75| 97 |69.85 2 BT50 X 1ISO50—120 | 235.8 97 69.85 2 HSK63AXER32—100 2-20 132 74 63 50 M16X2.0
E: 1. REBRFURBTIEER R ERREA N RIEET HSK63AXER32—120 2-20 152 94 63 50 M16X2.0
2. REEFTRH IERM BRI RS, TR B TS HSKB3AXER40-80 3-26 12 54 63 63 M20x2.0
3. TEERH TR TIARER R R REMKAET, (TR NER$TEER HSK63AXER40—100 3-26 132 74 63 63 M20X2.0
Note: 1. See figure 1,when the arbor being used,it is necessary to fix inner hex screw. HSK63AXER40—120 3-26 152 94 63 63 M20X2.0
2. See figure 2,when the arbor bein used,it is necessary to fix standard knob, please note when order it.

3. See figure 3,when the arbor being used,it is necessary to fix extension knob, please onte when order it e el b 7 s e il
HSK100AXER25—120 1-16 170 91 100 42 M16X2.0
HSK100AXER32—100 2-20 150 71 100 50 M16X2.0
HSK100AXER32—120 2-20 170 91 100 50 M16X2.0
HSK100AXER40—100 3—26 150 71 100 63 M20X2.0
HSK100AXER40—120 3—-26 170 91 100 63 M20X2.0



user
Штамп

user
Штамп


KAMA////IMCM KAMA////MCM

END MILL HOLDER HSK (A) SHELL END MILL HOLDER

I _L _____ | v‘ - a ki
__d
110 Coll
L . Pary  —— 1 —
1
I mm
Order No. Lo L1 - L2
HSK . AXdL1 L L2 L3 L4 D d1 T | -

HSK50AX6—65 90 39 18 — 50 25 M6X1.0
HSK50AX8—65 90 39 18 — 50 28 M8X1 .25
HSK50AX10—65 90 39 20 — 50 35 M10X1.5 mm
HSK50AX12—80 105 54 22.5 — 50 42 M12X1.75 Order No.

L L2 D d1 k1 k2
HSK50AX14—80 105 54 22.5 — 50 44 M12X1.75 HSK . AXd—L1
HSK50AX16—80 105 54 24 — 50 48 M14X2.0 HSK40AX16—50 87 17 40 38 3.8 8
HSK50AX18—80 105 54 24 — 50 50 M14X2.0 HSK40AX22—60 99 19 40 47 4.8 10
HSK50AX20—80 105 54 25 — 50 52 M16X2.0 HSK40AX27—60 101 21 40 58 5.8 12
HSK63AX6—65 97 39 18 — 63 25 M6X1.0 HSK40AX32—60 104 24 40 66 6.8 14
HSK63AX8—65 97 39 18 — 63 28 M8X1 .25 HSK50AX16—50 92 17 50 38 3.8 8
HSK63AX10—65 97 39 20 — 63 35 M10X1.5 HSK50AX22—60 104 19 50 47 4.8 10
HSK63AX12—80 112 54 22.5 — 63 42 M12X1.75 HSK50AX27—60 106 21 50 58 5.8 12
HSK63AX14—80 112 54 22.5 — 63 44 M12X1.75 HSK50AX32—60 109 24 50 66 6.8 14
HSK63AX16—80 112 54 24 — 63 48 M14X2.0 HSK63AX16—50 99 17 63 38 3.8 8
HSK63AX18—80 112 54 24 — 63 50 M14X2.0 HSK63AX22—50 101 19 63 47 4.8 10
HSK63AX20—80 112 54 25 — 63 52 M16X2.0 HSK63AX27—60 113 21 63 58 5.8 12
HSK63AX25—110 142 84 24 25 63 65 M18X2.0 HSK63AX32—60 116 24 63 66 6.8 14
HSK63AX32—110 142 84 24 28 63 72 M20X2.0 HSK63AX40—60 119 27 63 82 8.3 16
HSK 100AX6—80 130 51 18 — 100 25 M6X1.0 HSK 100AX22—50 119 19 100 47 4.8 10
HSK 100AX8—80 130 51 18 — 100 28 M8X1 .25 HSK 100AX27-50 121 21 100 58 5.8 12
HSK 100AX10—80 130 51 20 = 100 35 M10X1.5 HSK 100AX32—50 124 24 100 66 6.8 14
HSK100AX12—80 130 51 22.5 — 100 42 M12X1.75 HSK 100AX40—60 137 27 100 82 8.3 16
HSK 100AX 14—80 130 51 22.5 — 100 44 M12X1.75 HSK 100AX50—70 150 30 100 95 9.7 19
HSK100AX16—100 150 71 24 — 100 48 M14X2.0
HSK100AX18—100 150 71 24 — 100 50 M14X2.0
HSK 100AX20—100 150 71 25 — 100 52 M16X2.0
HSK100AX25—100 150 71 24 25 100 65 M18X2.0
HSK100AX32—100 150 71 24 28 100 72 M20X2.0
HSK 100AX40—100 150 71 30 32 100 90 M20X2.0

74 75


user
Штамп

user
Штамп


KAMA////MCM KAMA////MCM

ZY—-30062 HSK (A#Y) ;BRE¥ENXELTI#F COMBI-SHELL END MILL HOLDER ZY—30064 HSK (AZY) T£E MORSE TAPER ADAPTER

<.

gy
d
di

mm
1TEEES Order No.
=5 L L2 D d1 d2
L HSK . AXMS—L1
HSK50AXMS1-100 125 74 50 25 12.065
mm HSK50AXMS2—-120 145 94 50 32 17.780
HSK50AXMS3—-140 165 114 50 40 23.825
JTEAS Order No.
L L2 D d1 HSK63AXMS1—-100 132 74 63 25 12.065
HSK . AXd—L1

HSK63AXMS2—-120 152 94 63 32 17.780

HSK50AX16—50 92 17 50 32
HSK63AXMS3—-140 172 114 63 40 23.825

HSK50AX22—-50 94 19 50 40
HSK63AXMS4—-160 192 134 63 48 31.267

HSK50AX27—65 111 21 50 48
HSK100AXMS1-110 160 81 100 25 12.065

HSK50AX32—-65 114 24 50 58
HSK100AXMS2—-120 170 91 100 32 17.780

HSK63AX16—60 109 17 63 32
HSK100AXMS3—-150 200 121 100 40 23.825

HSK63AX22—60 11 19 63 40
HSK100AXMS4—-170 220 141 100 48 31.267

HSK63AX27—60 113 21 63 48
HSK100AXMS5—-200 250 171 100 63 44 399

HSK63AX32—-60 116 24 63 58

HSK63AX40—-70 129 27 63 70

HSK100AX22—-60 127 17 100 32

HSK100AX27—-60 129 19 100 40

HSK100AX32—-60 131 21 100 48

HSK100AX40—60 134 24 100 58

HSK100AX50—-70 147 27 100 70

HSK100AX50—-80 160 30 100 90



user
Штамп

user
Штамп


KAMA////MCM KAMA////IMCM

ZY—40002 [E7ETns DEAD CENTER ZY—40006 fERAE&F 5T CARBIDE HALF-NOTCHED CENTER

__ MSINO
_ = \ =
L
1TES D L 2 BE N = .
MS.NO, TS h1 h D L = B
Order No. mm mm Wt(kg) Accuracy (mm) Order No. MS.NO. mm mm mm mm Wt (kg) Accuracy (mm)
el MST 12.065 80 0.057 DHE1 MS1 1.5 5.5 12,065 80 0.06
be2 MS2 17.780 100 0.150 DHE2 MS2 2 6 17.780 100 0.15
bG3 MS3 23.825 125 0.334 DHE3 MS3 3 9 23.825 125 0.34
0.010
be4 MS4 31.267 160 0.746 DHE4 MS4 5 12.5 31.267 160 0.71 0.010
bGs MSS 44.399 200 1.862 DHE5 MS5 7 16 44 399 200 1.78
baé MS6 63.348 270 4.925 DHEG6 MS6 10 22 63.348 270 5.00
b&7 MS7 83. 061 360 8.620 DHE7 MS7 12 24 83.061 360 8.30
ZY—40004 FERTnZe HALF—NOTCHED CENTER
ZY—40008 mEFRSETnse CARBIDE CENTER
5. N0
60°
(] > =
L
Order No. et mm mm mm Wit (kg) Accuracy (mm) Order No. Sl mm mm mm mm Wt(kg) Accuracy (mm)
DH1 MS1 12,065 7.6 80 0.057 DE1 MS1 12.065 80 2.2 8 0.057
DH2 MS2 17.780 1 100 0.150 DE2 MS2 17.780 100 18 8 0.151
DH3 MS3 23.825 15.05 125 0.334 DE3 MS3 23.825 125 24 1 12 0.335
DH4 MS4 31.267 20.8 160 0.746 0.010 DE4 MS4 31.267 160 31.6 15 0.746 0.010
DH5 MS5 44,399 29.35 200 1.862 DE5 MS5 44 399 200 44 .7 18 1.826
DH6 MS6 63.348 41.9 270 4,925 DE6 MS6 63.348 270 63.8 24 5.230
DH7 MS7 83.061 53.78 360 8.620 DE7 MS7 83.061 360 83.555 24 9.190



user
Штамп

user
Штамп


KAMA////MCM KAMA////IMCM

ZY—40010 M11 BUfE=r[E4ETnse PRECISION LIVE CENTER ZY—-40014 rhEY[E% TS MEDIUM—DUTY LIVE CENTER

= HS. N
__MS.NO, o 7277
R e e e ]
} |J _____-__ﬂg_ I RGN
L1 —
L L1
L
I
1TRS MS. L D L1 d Dr | KRBT (kg) | RPR¥ZE (rpm) | #EEL (mm) — - - - "
Order No. | NO. mm mm mm mm mm Max Load Max Speed Accuracy TR MS. L L1 D D1 d FEHBEFNN) | HRPRELE (rpm) £ |f5E (mm)
Order No, [NO., | mm | mm | mm mm mm | Max Radial Load | Max Speed |(Wt(kg)| Accuracy
M11 /101 MS1 124 36 27 15 12.065 80 7000 0.01
M11,/102 MS2 139 45 ” 20 17 780 140 2000 0 005 D411 MS1 | 115 20 34 [12.065| 18 900 5000 0.29 0.01
. . D412 MS2 | 145 26 45 17.780 | 25 1500 5000 0.70 0.01
M11/106 | MS3 | 176.5 | 60 | 47 25 | 23.8%5 400 5000 0.005 D413 | MS3| 170 | 30 | 52 [23.825| 28 2000 4200 0.93 0.01
M11,/108 MS4 217 70 53 32 | 31.267 500 3800 0.005 D414 MS4 | 205.7 | 34.7 | 60 |31.267| 32 3200 3200 1.70 0.01
M11/110 MS5 273 90 65 40 44 399 1200 3000 0.005 D415 MS5 | 254 45 77 |44.399| 45 6300 2400 3.39 0.015
D411L MS1 125 30 34 12,065 18 900 5000 0.31 0.01
D412L MS2 | 155 36 45 17.780 | 25 1500 5000 0.74 0.01
D413L MS3 | 183 43 52 | 23.825| 28 2000 4200 0.99 0.01
ZY—40012 #E=R4Z A e PRECISION LIGHT—DUTY LIVE CENTER
*H - $I§:IEI$§D‘* D414L MS4 | 222 51 60 |31.267| 32 3200 3200 1.80 0.01
D415L MS5 | 272 63 77 |44.399| 45 6300 2400 3.62 0.015
D416L MS6 | 382 |88.5| 125 [63.348| 75 10000 1600 12.69 0.015
L
{ J ZY-40016 [EHES4hAEIEHTRZ CARBIDE MEDIUM—DUTY LIVE CENTER
—_— - - ——(60° 0| O
Y % = A
MS.NO. ﬁ* w
<  —— | /Iy N P
L MS.NO :
N L1
AY A A A L
iTES | MS, L D L1 d Dr ZEEAT(N) | HRBREZE (rpm) | #5E (mm) !
Order No. | NO. mm mm mm mm mm | Max Radial Load Max Speed Accuracy
DM311 MS1 | 115 | 34 | 20.3 | 18 |[12.065 320 5000 0.005 e |Ms.| L L d D D1 di | BAZEN) | RS (rpm) | R (mm)
DM312 MS2 | 129.6 | 45 28 6 25 17.780 400 5000 0.006 Order No. [ NO. | mm | mm | mm mm mm mm Max Load Max Speed Accuracy
DM313 MS3 161.7 | 52 32.5 28 23.825 800 4500 0.006 D412A MS2 145 26 25 45 17.780 12 1500 5000 0.010
DM314 MS4 191.7 | 60 36.5 32 31.267 1250 3500 0.006 D413A MS3 | 170 30 28 52 23.825 15 2000 4200 0.010
DM315 MS5 2445 | 80 50.8 45 44 399 1500 3000 0.006 D414A MS4 | 205.7 | 34.7 32 60 31.267 18 3200 3200 0.010
DM316 MS6 350.5 | 130 74.8 75 63.348 1800 2500 0.006 D415A MS5 | 254 45 45 77 44 399 24 6300 2000 0.015
DM317 MS7 | 4235 | 130 | 74.8 75 83.061 2200 2000 0.006 D416A MS6 | 362 | 68.5 75 125 | 63.348 40 10000 1600 0.015



user
Штамп

user
Штамп


KAMA////MCM

ZY—40018

BN EETR

HIGH—SPEED MEDIUM-DUTY MULTI—-PURPOSE LIVE CENTER

ZY-40022 EEEEEHETL

KAMA////MCM

PRECISION HEAVY LIVE CENTER

ZMSNo -
,4L7ﬁ,,ﬁf¢ e ol &
L1
L
ITES |[MS.| L D | L d D1 ZmEE(N) | HREREEE (rpm) | BE | #5E (mm)
Order No. [NO, | mm | mm | mm | mm mm | Max Radial Load Max Speed |Wit(kg)| Accuracy
DM511 MS1|109.6 | 38 18.5 16 | 12.065 1400 3600 0.29 0.008
DM512 MS2 | 128.5 | 48 24 22 17.780 3500 3400 0.39 0.01
DM513 MS3 | 156 58 28.5 25 | 23.825 5500 3200 1.09 0.01
DM514 MS4 | 192.5| 68 31.5 28 | 31.267 8000 3000 1.69 0.01
DM515 MS5 | 245 90 45 41 44,399 10000 2500 4.00 0.012
DM516 MS6 | 342.5 | 130 64 63 | 63.348 15000 1500 11.61 0.015

A
D
|
S EC‘ —
L1 D
L
JTEEE Order No. MS.NO. D mm D1 mm L1 mm L mm
HD432 MS2 48 17.780 69 127
HD433 MS3 54 23.825 86 153
HD434 MS4 63 31.367 109 182
HD435 MS5 83 44 399 136 217
A B C D E F

MS.NO.

L D L D L D d L D d L D L D
2 26 [10.2|28.5[10.2 29 |10.2| 6.5 |27.5]10.2| 5 25 |10.2 30 28
3
2 32 (12.75| 35 (12.75| 10 36 |12.75| 8 34 |12.75| 6 31 |12.75| 10 37 34
5 39 [15.7| 44 |15.7] 12 | 45 [15.7| 10 | 42 [15.7| 8 | 43 [15.7| 12 | 48 | 40
ZY—40020 rhAEIOEETRS (AN4EEY) MEDIUM—DUTY LIVE CENTER(EXTENDED)
o l,>MS,NO
60°,_= a
- 4'& s
L1
[

JTEEES Order No. | MS.NO. L1 mm D mm D1 mm D2 mm L mm == Wi(kg)
D412B MS2 28.5 40 17.780 18 141 0.84
D413B MS3 36.5 45 23.825 22 168 0.91
D414B MS4 36.5 45 31.267 22 190 1.62
D415B MS5 62 78 44 399 40 267.5 3.43
D416B MS6 75 102 63.348 50 346.5 1



user
Штамп

user
Штамп


KAMA////IMCM KAMA////MCM

ZY-50002 5C P§Xx75%E 5C COLLET BLOCK SET ZY—50006 PF70,/5C & 54y sk PF70/5C SPIN INDEX

> B

\. oW [T SR/
~ 1N\
iTEE Order No. PF70/5C
\ _E_ igh f 7 _ 4||
FEH AR S %L Main Technical Parameter 42 R~ Outer size(in) Ul Height of centre Omm_2-3/
TR @ B BkEh Radial run—out of spindle outer taper 0.010mm 0,0004"
Jz3L P /FE Square for 5C collets 1-3/4%x1-3/4%x2-3/4 . ~ _ .
LR E B U725 0.98"4b
$3LAFE Hex for 5C collets 1-3/4%1-3/4X1-3/4%2-3/4 - EHDALE R EBE) (38 5H25mm 0. 9874L) " 0.03mm 0.0012"
s Radil run—out of center hole(measured from spindle nose 25mm/0.98")
PRIEFRZFHFH Quick acting lever collet closer 1-11/16x4 FihrO I EREBIFITE Parallelism of centre line of spindle to base surface 0.02mm 0,0008"
EE Wilkg) 1.41kg BN AR S EASE Individual spacing dividing accuracy 4’
RAXFERBEARGNAE. 1 AE. 1HREXZEFRNGHEE IS ESLATI B E R . W ATELSPF70 /5CTRAR R (S (ZHMiTHE),
Complete set in wooden case consists of one square block,one hex block, one handle and one collet close This unit can be used separately or to complete a set with PF70,/5C type centre(purchased specially)
ZY-50004 5C s£E 5C FIXTURE ZY—50008 PF100B,/5C ITBp&4y43EESL
PF100B /5C HORIZONTAL VERTICAL COLLET INDEX
|
N Y
e ] :
| 8
! g
L 200
JTES Order No. 3911-125-5C—-00
JTEEES Order No. PF100B /5C
- Round [E|FL 1~28mm 3/64"~1-1,/8" ‘T_iﬁ?_ / -
FFEE . - A& Height of centre 100mm 3-15/16
i Square [Q5F¥L 3~19mm 1/8"~3/4 = - -
Clamping rang FERJHZLr Thread of spindle nose 2.25"-8
Hex 75AH¥L 3~22mm 1/8"~7/8"
F 40 FL AR 0 B Bk 3 (5 Hhim25mm /0. 98" 4) "
2) (i) e Radial run—out of center hole of spindle(measured from spindle nose 25mm/0.98") 0.02mm..0.,0008
D 95
LO (men) 07 2 FaldhE X A E IR E PN End surface run out of the spindle’ s support shoulder 0.01mm 0.0004"
= (r\T;Vm)k 4 5 Filh & KERIFESTE Parallelism of centre line of spindle to base surface 0.02mm 0.0008"
= Wt -
Baio) B/\NEfE4 EiR=E Dividing accuracy individual spacing error +3'
ZEESCRIAE, AIXRBARERNTNIEFIY, AIRETERK, BARHEEERREL, BAEES. #EA 1. A[HT2. 3. 4. 6. 8. 12, 24ZENNE, K EMEE S IBESEAHS, BER/N, S8, REHE
£, EARE, XAREFUR. 2. RSEESKATEMER, AT SPFI00AT A (M (BLMITH),
5C collet is fit for this device,which can clamp tool or workpiece with different diameter and figure.It can be fixed 1. With indexing specifications of 2. 3. 4. 6. 8. 12 and 24 indexes. |t has operational and vertical applications

on lathe, grinder and other special equipment,with such features as high precision,easy operation,safe application, strong and has such unique properties as smaller dimension lighter in weight,durable high strength.

clamping, etc 2. This unit can be used singly also can complete with PF100 center(purchased specially) .


user
Штамп

user
Штамп


KAMA////IMCM KAMA////MCM

ZY-500010 F12BYFgEE4EL SEMI-UNIVERSAL DIVIDING HEAD ZY—60002 F1 #UETJ#§  TYPE F1 BORING HEADS

FHRESTELRESN S ER L, AHITEE. BENS H

. ER@E. &, SRNI, AFERGE. BBEENSH

RESTE AR, HiSEREET247L %5 5 R T IHIT

2. 3. 4.6, 8 12f14E55E, BT 3 EES o

EHEF#T 2 ~50% 53 %51 ~ 38O HE L F 7 E .

Semi—Universal dividing head is a simple type of univer—

sal index center and can be used for direct and indirect = D H N A TIFFHERd =R EE EHIER

dividing.No accessories for the differential dividing and Model No, mm mm Max offset Boring bor dia Min graduation Dia of Bring

spiral work are included,but the whole construction of the F1—1/2 50 61 6 5/8" 1/2" 0.001" 3/8"—5"

dividing head is identical with the universal type.The di— F 4 - - —

rect index plate of 24 holes allows the direct dividing in 1-3/ /5 80.2 ! 3/4 0.0005" 1/2"-9

2, 3. 4, 6, 8, 12 and 24 three plates in the standard F1-1 100 93.2 1-5/8" 17 5/8"-12.5"

accessories make the indirect dividing possible in any number F1-12 50 61.6 16mm 12mm 10—125mm

from 2 to 50 and in certain numbers up to 380. F1—18 75 80.2 25mm 18mm 0.01mm 12—225mm
F1-25 100 93.2 41mm 25mm 15—320mm

SETIESFFRITM  The borer is to be purchased specially

ZY—60004 &&$£7]¥F CARBIDE TIPPED BORING BARS

4 3L SEMI-UNIVERSAL DIVIDING HEAD

ITRS A H h . b Tl | ZMkE | EE (k) A=1/2" ffShank A=12mm #fShank
Order No. 9 | spindle hole|  Chuck N.W ‘
AUE Model No. B c b JTEAS Order No. B C D
F12100 193 131 173 100 166 90 16 MS3 100 21
7253 W mm mm mm HH W mm mm mm
F12128 254 | 175 | 200 | 128 | 210 | 114 | 16 MS4 130 36 Case lIron | Steel Case lron | Steel
375—-1212 | 3751216 | 2-1/4 3/4 5/16 375—3212 | 375—-3216 57.15 19 7.9
BRI TAIL—STOCK 375—-1222 | 375-1226| 2-5/8 | 1-1/8 | 5/16 375-3222 | 375-3226| 66.6 28.5 7.9
e s 375—1232 | 375—1236 3 1-1/2 5/16 375—3232 | 375—3236 76.2 38.1 7.9
O:ger —'\?; Al B1 H1 h al b1 gl 375—1242 | 375—1246| 2-5/8 1-1/8 7/16 375—3242 | 375—3246 66.6 28.5 1.1
i 375—1252 | 375—1256 | 3—3/16 | 1—-11/16 7/16 375—3252 | 375—3256 80.9 42.8 1.1
F12100 193 131 173 100 166 90 16 375—1262 |375—1266| 3-3/4 | 2—1/4 7/16 375-3262 |375-3266| 95.2 57.15 1.1
F12128 254 175 220 128 210 114 16 375—1272 | 375—-1276 3 1-1/2 9/16 375—3272 | 375—-3276 76.2 38.1 13
o T 375—1282 | 375—1286| 3-3/4 2—-1/4 9/16 375—3282 | 375—3286 95.2 57.15 13
3 : Number of holes dividing plate A,B,C
PR e = 375—1292 |375—1296| 4—1/2 3 9/16 375—-3292 | 375—3296 114.3 76.2 13
Plate A 19 16 17 18 19 20 N i N i
3751202 | 3751206 | ALSHFEARIE 9 Piece 375-3202 | 3753206 |  ALSHFEARIE 9 Piece
Plate B 21 23 27 29 31 33 set of above \ wooden stand set of above \ wooden stand
- = PLEYHELEIE 9 Piece S o L E9HEESEFE 9 Piece set of
Plate C 37 39 41 43 47 49 S75513024),3/5=1308 set of above \ plastic stand 375=3202 ialo=S 108 above \ plastic stand



user
Штамп

user
Штамп


KAMA////MCM KAMA////MCM

ZY—60006 F1 #UsET]4 F1 BORING SHANK

Y= Model No.
% | WE . ; ] O Ny ,
: mm mm : mm mm mm T =
Case lIron Steel Case lIron Steel 3 < ;/:HI[
375—1612 | 375—1616| 3—1/8 | 1-1/8 7/16 375—3524 | 375-3528| 3—-1,/8 | 1-1/8 7/16 . = =8
- —l
375—1622 | 375—1626 | 3—11,/16 | 1-11/16 | 7/16 375—3534 | 375—3538| 3—11,/16 | 1-11/16 | 7/16 )
375—1632 | 375—1636 | 4—1/4 | 2—1/4 7/16 375—3544 | 375-3548| 4—1/4 | 2—1/4 7/16 :
375—1642 | 375—1646| 3—1,/2 | 1-1/2 9/16 375—3554 | 375—3558| 3—1,/2 | 1-1/2 9/16 - -
/ / / / / / U= Model No. |#&EB Shank | L(mm) | #2247 M U= Model No. |#5&F Shank | L(mm) | #8247 M
375—1652 | 375—1656 | 4—1/4 | 2—1/4 9/16 375—3564 | 375—3568| 4—1/4 | 2—1/4 9/16 F1_MT2—M MT2 93 F1_30-M - 17
375—1662 | 375—1666 5 3 9/16 375—3574 | 375—-3578 5 3 9/16 F1—=MT3=M MT3 110 F1—40—M 40 117
375—1672 | 375—1676 | 3—-7/8 | 1-7/8 | 11/16 375—-3584 |375-3588| 3-7/8 | 1-7/8 | 11/16 F1—-MT4—M MT4 133 F1-5,/8—M 5/8" 97
375—1682 |375—-1686 | 4—13/16 | 2—13/16 | 11/16 375—3594 |375-3598 | 4—13/16 | 2—13/16 | 11/16 F1-MT5-M MT5 160 F1-3/4-M 3/47 112
3751692 |375-1696 | 5-3/4 | 3-3/4 | 11/16 3753614 |375-3618| 5-3/4 | 3-3/4 | 11/16 F1-MT6-M MT6 214 | 7/8"-20 | F1-7/8-M /8 127 | 7/8"-2
F1—R8—M R8 128 |1-1/2"-18| F1—=1—-M 1" 137 |1-1/2"-18
375—1702 |375—-1706 | 4—1/4 | 2-1/4 | 13/16 375—3624 |375-3628| 4—1/4 | 2-1/4 | 13/16
F1—-NT30—M NT30 102 F1—1—1/4—M 1-1/4" 167
375-1712 | 375-1716| 5-3/8 | 3-3/8 | 13/16 375—3634 | 375-3638| 5-3/8 | 3-3/8 | 13/16
/ / / / / / F1—NT40—M NT40 135 F1—1—1/2—M 1-1/2" 197
375-1722 | 375—-1726| 6-1,/2 | 4-1/2 | 13/16 375—3644 | 375-3648| 6-1,/2 | 4-1/2 | 13/16 F1—NT50—M NT50 168 F1—1-3/4—M 1-3 /4" 227
375-1602 | 375—1606 | A-L1ZFEARIE 12 Piece set  o0p oy | 075 a50g| BALTZFEAIE 12 Piece set F1—16—M 16 117 BT40XM—45 BT40 122.4
of above \ wooden stand of above \ wooden stand
. : N - F1—20—M 20 17 DIN69871.40XM—40 |DIN69871.40| 120.4
3751732 | 375—1736 | A-LIZFEERR 12 Piece set 400 opyy | 375 g51g| ALIZFEERFE 12 Piece set
of above \ plastic stand of above \ plastic stand F1—25—M 25 117 CAT40XM—50 CAT40 130
A=1" #%Shank A=25mm #&Shank ZY—60008 F1A—18 AUfE=rfEsL PRECISION BORING HEAD
12 Model No. 45 Model No.
ES Model No B C D ES Model No B C D
Case Iron Steel Case Iron Steel ]
375—-1812 | 375—1816 5 3 9/16 375—3732 |375-3736| 127 76.2 14.8 &) g =
375—1822 | 375—1826| 5-3/4 | 3-3/4 | 11/16 375—3742 |375-3746| 146 95.2 18
375—1832 |375—1836| 6-1,/2 | 4—1/2 7/8 375—3752 | 375—3756| 165 114.3 22.7
_ = = — - 375—3762 |375—3766| 165 114.3 27.5 S — e N B e
375-1842 | 37518461 6-1/2 LotloZ | 1-1/18 Gl RASEHIEE KHHFLE ISR ERELE BB AITIE
375—1852 | 375—1856 | 7—3/4 5—3/4 1-1/4 375—3772 |375-3776| 196.9 1461 31.75 Model | Max.boring diameter | Boring bar hole size | Fine feed per graduation [Max,stroke of slide block
3751862 |375-1866 | 8—1/4 | 6-1/4 | 1-1/12 375-3782 | 3753786 | 209.6 158.8 38.6 F1IA-18 160mm 18mm 0.02mm 25mm
_ - - = _ 375—3792 |375—3796| 241.3 190.5 41.8 R— . P——
e Wl St 20 W 4 _ TS i i8S it TS 1k
375—1802 | 375—1806 WM E7HEARIE 7 Piece set of 375—4002 | 375—4006 U E7HEARIE 7 Piece set of Order No. Specification Order No. Specification Order No. Specification
- - above \ wooden stand above \ wooden stand
: F1A—18—R8 7,/16" X20UNF F1A—18—MW6 M24 F1A—18—MS6 I tanged
3751804 | 375—1808 | A-L7HFEEE 7 Piece set of o5 goiy | 375 5oog | BAL7IHFEERRE 7 Piece set of 4 2
above \ plastic stand above \ plastic stand F1A—18—MWS3 M12 F1A—18—MS3 HEZA! tanged F1A—18-30 M12
F1A—18—MW4 M16 F1A—18—MS4 EER  tanged F1A—18—40 M16
F1A—18—MW5 M20 F1A—18—MS5 HEA! tanged F1A—18—50 M24



user
Штамп

user
Штамп


KAMA////MCM

KAMA////MCM

BRI EYO% THE PRECISION TOOL VISES ZY—-70006 #=ZHESIFEOSH PRECISION MODULAR VISES
1. RAMREEEMNENE , T/EmiEEHRC58 ~ 62 1. Made of high—quality alloy steel.The hardness of
2. 3E4TFE0.005mm /100mm  FEH E0.005mm working surface reaches HRC58 ~ 62
3. kMR, BIERFE 2. Parallelism 0,005mm_/100mm
4 ATFHEENENEE BEEHRBATE squareness 0.005mm
5. AETIER TSI, B3, IS MIRESHERE 3. Quickly to clamp and easy to operate
4. Used for precision measurement and in spection
precision grinding,EDM and wire—cutting machine
5. Guarantee high accuracy in any position
ZY—70002 QGG R TEFEO4 PRECISION TOOL VISES
B = B H Smax L =2
Model No.| mm mm mm mm Wt (kg)
QGG50 50 25 65 155 3.0
QGG60 60 25 55 110 2.4 ﬂ-i% B H Smax L %ﬁ;&%ﬁ (Kg)
QGG63 63 32 85 190 3.8 Order No. mm mm mm mm Clamping force
QGG73 73 35 100 210 5.0 GT100— | 100 30 100 270 3000
QGG8o 80 40 100 220 6.5 GT125— | 125 40 150 345 3000
S ] QGaG8s 88 40 125 250 | 1.0 GT150A— | 150 50 200 420 5000
GG 4 6
- _E___ _ QGG100 100 ° 125 260 13.0 GT150B— | 150 50 300 520 5000
QGG125 125 50 160 300 19.5
———— L GT150C— | 150 50 400 620 5000
N QGG125A 125 50 210 350 23.0
GT175A—- [ 175 60 200 455 6000
QGG150 150 50 175 315 23.8
GT175B— | 175 60 300 555 6000
ZY—-70004 QKG ZRF|EF=ZTHIFEOsE PRECISION TOOL VISES GT175C— | 175 60 400 655 6000
75D— 7 7
m o= B H Smax L = GT175D— | 175 60 500 55 6000
Model No.| mm mm mm mm Wi (kg) GT175E— | 175 60 600 855 6000
QKG25 26 8.15 22 65.4 0.5 GT200A— | 200 65 200 495 10000
QKG36 36 20 40 100 1.2 GT200B— | 200 65 300 595 10000
* ----- e aKG3s %8 20 o 105 '3 GT200C— | 200 65 400 695 10000
' | QKG50 50 25 65 140 2.0
See GT200D- [ 200 65 500 795 10000
See, QKGB63 63 32 85 175 3.0
GT200E- | 200 65 600 895 10000
QKG73 73 35 100 190 4.1
OKG80 80 40 100 200 55 GT300A— [ 300 80 200 535 12000
== QKG88 88 40 125 235 7.3 GT300B— | 300 80 300 635 12000
aKG100 | 100 45 125 245 10.0 GT300C— | 300 80 400 735 12000
* : QKG125 125 50 160 285 18.0 GT300D- | 300 80 500 835 12000
— QKG150 150 50 200 330 21.5 GT300E- [ 300 80 600 935 12000
= g QKG150A | 150 50 250 380 23.0 GT300F— | 300 80 700 1035 12000
QKG1508 | 150 50 300 430 24.0 GT300G— [ 300 80 800 1135 12000



user
Штамп

user
Штамп


KAMA////MCM

ZY—70008 ZXQGG ZF|IEFEZTEF 4 PRECISION SINE TOOL VISE

ZY-70012 HRERZHASTEAH

KAMA////IMCM

PRECISION MODULAR VISES WITH SWIVEL BASE

1. FARREEEHNGIE, EHROEBEHEZEH], F1TE0.005mm,/100mm, ZFEHEO.005mm
2. FIFIEZIRE, ATATREERHS
1. Made of high—quality alloy steel,after heat,precision ground,parallelism 0.005mm /100mm, squareness O.005mm
2. Available inspecting angles and processing workpices with angle
B
= e
A=
Tee B H Hi1 Smax L L1 HEREEE
Order No. mm mm mm mm mm mm in Adjustable angle range
ZXQGG50 50 25 86.6 60 140 4
ZXQGG63 63 32 94.6 85 175
ZXQGG73 73 35 1M1 90 190 100
ZXQGG80 80 40 121 95 200 5 0~ 45°
ZXQGG88 88 40 125 120 235
ZXQGG100 100 45 139.2 125 245
ZXQGG125 125 50 154 .2 160 285 200
ZXQGG150 150 50 160.9 190 330 200 10
ZY—70010 ZXQKG ZF|IEZEZ THAF 4 PRECISION SINE TOOL VISE
ITRE B H Hi Smax L L1 AR ELE
Order No. mm mm mm mm mm mm in Adjustable angle range
ZXQKG50 50 25 79.36 65 140 4
ZXQKG63 63 32 92.36 85 175
ZXQKG73 73 35 104 100 190 .
ZXQKG80 80 40 117 100 200 5 0~ 45°
ZXQKG88 88 40 122 125 235
ZXQKG100 100 45 134.08 125 245
ZXQKG125 125 50 144 .08 160 285 200
ZXQKG150 150 50 150.9 200 330 200 10

1TRS B H Smax L RARXE N (Kg)
Order No. mm mm mm mm Clamping force
GT100—1I 100 30 100 270 3000
GT125—1]] 125 40 150 345 3000
GT150A—1[ 150 50 200 420 5000
GT150B—1] 150 50 300 520 5000
GT150C—]] 150 50 400 620 5000
GT175A—1]] 175 60 200 455 6000
GT175B—1]] 175 60 300 555 6000
GT175C—1I 175 60 400 655 6000
GT175D—1] 175 60 500 755 6000
GT175E—1] 175 60 600 855 6000
GT200A—]] 200 65 200 495 10000
GT200B—]] 200 65 300 595 10000
GT200C—]] 200 65 400 695 10000
GT200D— || 200 65 500 795 10000
GT200E—TI 200 65 600 895 10000
GT300A—1[ 300 80 200 535 12000
GT300B—]I 300 80 300 635 12000
GT300C—]I 300 80 400 735 12000
GT300D—]I 300 80 500 835 12000
GT300E— [ 300 80 600 935 12000
GT300F—TI 300 80 700 1035 12000
GT300G— I 300 80 800 1135 12000



user
Штамп

user
Штамп


KAMA////IMCM KAMA////IMCM

ZY-70014 $EZASFE 4 PRECISION MODULAR VISES ZY-70016 THKERIFHNEZEETE OH
QUICK ACTION PRECISION MODULAR VISES WITH SWIVEL BASE

1. RAMLREEEHNEE 1.Made of high—quality alloy steel
2. 3E4TFE0.005mm /100mm, FEHE0.005mm 2 .Parallelism 0.005mm /100mm, squareness 0.005mm
3. T/ERmAEEHRCE8—-62, RHEILTELF 3.The hardness of working surface is HRC58—62 and precision Sies
4 BEWIRREE. EEHEO. &30, & ground to a mirror finish 1 =

L, BR{EFE 4.1t have interchangeable base,fixed/movable jawsit is quickly —_—
5.1 iz AFMIFLEFZIEK to clamp and easy to operate L

5.1t is widely used on machining center and other precision

machine tools

ITRS B H Smax L mAFKE N (Kg)
Order No., mm mm mm mm Clamping force
GT125—]V 125 40 150 345 3000
Mo%"—g | ‘T?\lo _ mBm mHm S;‘;X m"m %éfn?rii jchrlf:i) GT150A—[V 150 50 200 420 5000
GT853118 100 30 100 270 3000 GTT508-1V 150 20 300 °20 5000
GT853119 125 40 150 345 3000 GTi7sc-Iv 17 60 400 695 6000
GT853120 150 50 200 420 5000
GT853165 150 50 300 520 5000
GT853170 175 60 200 455 6000
GT853171 175 60 300 555 6000
GT853172 175 60 400 655 6000
GT853173 175 60 500 755 6000
GT853174 175 60 600 855 6000
GT853176 200 65 200 495 10000
GT853177 200 65 300 595 10000
GT853178 200 65 400 695 10000
GT853179 200 65 500 795 10000
GT853180 200 65 600 895 10000
GT853190 300 80 200 535 12000
GT853191 300 80 300 635 12000
GT853192 300 80 400 735 12000
GT853193 300 80 500 835 12000
GT853194 300 80 600 935 12000
GT853195 300 80 700 1035 12000
GT853196 300 80 800 1135 12000



user
Штамп

user
Штамп


KAMA////IMCM

ZY—80002 PB161 #USE{THR PRECISION PARALLEL BLOCK

KAMA////MCM

ZY—80008 PB153 BUE{THt PRECISION PARALLEL BLOCK

158, HRC56~62
2. FE. 0.01mm
3.3E4TE . 0.005mm

1 .Hardeness. HRC56 ~ 62
2. Accuracy; 0.01mm
3.Parallelism. 0,005mm

il = & a2
Model No., LXWXH Pcs

125%x8x11(16,21,26,31,36)
125%x10x 13(18,23,28,33,38)
PB153—1 242
125% 12 % 15(20, 25,30, 35,40)

125X 14X 17(22,27,32,37,42)

150X 8 11(16,21,26,31,36)
150%x 10X 13(18,23,28,33,38)
PB153—2 242
150% 12X 15(20, 25,30, 35,40)

150%x14x17(22,27,32,37,42)

ZY—80010 PB154 BYSE{THt PRECISION PARALLEL BLOCK

1.58 . HRC55~62
2. FE. 0.0lmm
3.3F47E . 0.005mm

1.Hardeness. HRC55~ 62
2. Accuracy; 0.01mm
3.Parallelism. 0,005mm

i = g 425

Model No. LXWXH Pcs
150X 8 16(18,20,22,24 26,28, 30,

PB154—1 18%x2

32,34,36,38,40,42 44 46,48 50)

150x8x17(19,21,23,25,27,29,31,
PB154—2 18X%2
33,35,37,39,41,43,45,47,49,51)

1.f8E. HRC55~62 1.Hardeness HRC55 ~ 62
2.%FE. =Z0.0lmm 2. Accuracy 0.01mm
3.3E4TE. 0.005mm 3.Parallelism 0.005mm
8= % i
Model No. LXWXxH Pcs
100X5X16,100X6X 18,100 X 8 X 24,
100X 10x 30, 150%x12Xx36,
PB161 Ix2
150X 1448, 150X 18X 60,
150X 22 % 62,200 31 X 15X%2,5(30° )
ZY—80004 PB150 EUSE4FH: PRECISION PARALLEL BLOCK
1.%8E. HRC55~62 1.Hardeness HRC55 ~ 62
2.FE. 0.01lmm 2. Accuracy 0.01mm
3.3E{TE. 0.005mm 3.Parallelism 0.005mm
8= P 43
Model No. LXWXH Pcs
150X 10X 14(16,18,20,22, 24,
PB150—1 14%2
26,28,30,32,35,40,45,50)
150X 8% 14(16,18,20,22,24,
PB150—2 14%2
26,28,30,32,35,40,45,50)
80X 4x 14(16,18,20,22, 24,
PB150—3 14%2
26,28,30,32,35,40,45_50)
200X 10X 14(16,18,20,22 24,
PB150—4 14%2
26,28,30,32,35,40,45,50)
ZY—80006 PB151 ZUIE{THr PRECISION PARALLEL BLOCK
1.fE. HRC55~62 1.Hardeness HRC55 ~ 62
2.#E: 0.01lmm 2., Accuracy 0.01mm
3.3E4TE. 0.005mm 3.Parallelism 0.005mm
i Ak G
Model No. LXWXH Pcs
PB151—1 | 100x4x10(14,18,22,26,30,34,38,42,) | 9% 2
PB151—2 | 160x4Xx10(14,18,22,26,30,34,38,42,) | 9% 2
PB151—3 | 150X 8.5x 14(16,20,24,30,32,36,40,44) | 9% 2
PB151—4 | 150X 10X 14(16,20,24,30,32,36,40,44) | 9% 2

ZY—80012 PB155 #USE{THR PRECISION PARALLEL BLOCK

1.7 . HRC55~62 1.Hardeness HRC55 ~ 62
2.%5FE: 0.0lmm 2. Accuracy 0.01mm
3.F4TE. 0.005mm 3.Parallelism  0.005mm
iU = A& 4%y
Model No. LXW XH Pcs
120X 10X 14(16,18,20,22,24,
PB155—1 12x2

26,28,30,32,35,40)

150X 10X 14(16,18,20,22,24,
PB155—2 12X 2

26,28,30,32,35,40)



user
Штамп

user
Штамп


KAMA////MCM

ZY—90002 JLERFtIKISE

T EMREZXETR

2. AR E & WS
3. B NI HEE EHI

4 [E%HE0.01mm

ZY—90004 & gtz

1. AFENE, FEMKIEEML
2. &AM BEREIE

3. ERTE

4 RIEAER, TE

5. [E]%HEO0.005mm

CBQ—00A

CBQ—-00B

ELECTRONIC EDGE FINDER

1.Touch point LED indication
2 Manufactured from high quality alloy steel
3.Hardened and precision ground

4 Concentricity 0.01mm

1A%

96.5

MECHANICAL EDGE FINDER

1.Mechanical edge finder for quick and easy location of round or flat work
2 Manufactured from high quality steel

3.Easy to use

4 Quick and accurate

5.Concentricity 0,005mm

CBQ—-00C

CBQ—-00D

CBQ—00E

KAMA////MCM

ZY—100002 DIN317 #F&EI425% MORSE SHANK PULLER

e

ZY—100004 DIN318 #Hzh#%k

#il=2 Model No. MT .NO L (mm) H(mm)
DIN317/0 MTO 90 12
DIN317/1-2 MT1 MT2 140 20
DIN317/3 MT3 190 25
DIN317 /4 MT4 225 30
DIN317/5—6 MT5 MT6 265 35

HALF AUTOMATIC MORSE SHANK PULLER

IS Model No. MT.NO 24< Overall Length
DIN318 /1-3 MT1 MT2 MT3 317
DIN318 /4—6 MT4 MT5 MT6 380

B A EMIFHREERER, BERE, AREN
The morse shank can easy to be pulled off by the half—automatic morse shank puller. Operation quickly,saving time and
pressure

ZY—100006 J]4A4$iiJJEE VERTICAL HORIZONTAL TOOL HOLDER DEVICE

me | 7w SME R~ EE
Model No. | Taper of Tool Holder | Outsize (mm) Weight (kg)
LD—BT30 BT30 205x98.5x 128 3.70
LD—BT40 BT40 205x98.5%x 128 3.80
LD—BT50 BT50 275% 150 % 198 11.40
LD—DT30 DIN69871 .30 205X%98.5x 128 3.70
LD—-DT40 DIN69871 .40 205x98.5x 128 3.80
LD—-DT50 DIN69871 .50 275 % 150 % 198 11.40
LD—CAT30 CAT30 205 98.5%x 128 3.70
LD—CAT40 CAT40 205x98.5%x 128 3.80
LD—CAT50 CAT50 275% 150 % 198 11.40



user
Штамп

user
Штамп


KAMA////MCM

ZY—100008 ;HEZRJN HYDRAULIC SOFT CLAWS

i,
AE

1.5P -
—f H-6 =— H 1—H—8—— ——H—2——|
ey [
y H-3
60° l
H-9 H-5 el heg
M/ Rt K| % | & | e @R || |RoREE| | | B2 | EERE
MODELS /DIMENSION h—1 h—2 h—3 h—4 h—5 h—7 h—9 h—10
CS05 62 25 30 10 4 10 14 38 M8 1.5%x60°
CS06 73 31 36 12 5 15 20 38 M10 1.5%60°
CS08 95 35 38 14 5 24 25 46 M12 1.5X60°
CS10 110 40 42 16 5 30 30 50 M12 | 1.5x60°
CS12(dh =) 129 50 50 21 6 39 30 60 M16 1.5%x60°
CS12S(HhsE) 129 50 50 18 6 39 30 60 M14 1.5X60°
CS15(dh%s) 165 62 62 22 8 37 43 85 M20 1.5X60°
CS12S(FhsL) 165 62 62 25.5 5.3 37 43 85 M20 | 1.5%x60°



user
Штамп




